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HOGE | A GE | oBER | B OF | B OB | hrxa i U it B

Ve U Rttt 3.75 2. 80 0. 00 0.45 40. 0 0.0 0.0 40. 0|7 A7 7 )L b EldE
0.0 0 ~ 0.0 40 0. 00 1.95 0. 50

Ve B Sttt 3.65 2.30 0. 00 0.45 60. 0 0.0 0.0 60.0[ 7 %2 7 7 /L Nk
0.0 40 ~ 0.1 0 3.45 0. 00 1. 45

Ve B st 3.65 2. 30 0. 00 0. 45 35.0 0.0 0.0 35.0[ 7 2 7 7 /L kA
0.1 0 ~ 0.1 35 3.45 0. 00 1. 45

P R S A 3.50 2. 00 0. 00 0. 80 65.0 0.0 0.0 65. 0|7 A7 7 /L b &Lk
0.1 35 ~ 0.2 0 3.25 0. 00 1. 20

V8 IR S A 3.50 2. 00 0. 00 0. 80 55.6 0.0 0.0 55. 67 A7 7 /L b A%k
0.2 0 ~ 0.2 56 3.25 0. 00 1. 20

Ve I S A 3.25 1.50 0. 00 0. 40 0.0 0.0 33. 4 33.4|7 A7 7L bAHEE \miks
0.2 56 ~ 0.2 89 3.25 0. 00 0. 40

Ve R S A 3.50 2.05 0. 00 1. 05 111.0 0.0 0.0 111, O HEAPE&LE
0.2 89 ~ 0. 4 0 3.35 0. 00 1. 10

Ve I Rt 3. 40 3. 00 0. 00 0. 90 100. 0 0.0 0.0 100. O HE/k P2k
0.4 0 ~ 0.5 0 3. 60 0. 00 1. 10

Ve B st 3.75 1.20 0. 00 2. 90 100. 0 0.0 0.0 100. O Pk Pk
0.5 0 ~ 0.6 0 3.35 0. 00 3.70

Ve U Sttt 6. 85 0. 00 1.90 0. 80 100. 0 0.0 0.0 100. O Pk Pk
0.6 0 ~ 0.7 0 6. 95 1.85 0. 80

Ve B Sttt 7.00 2. 00 1.90 0.70 100. 0 0.0 0.0 100. OHEKPE&H%E
0.7 0 ~ 0.8 0 6. 85 1. 55 0. 90

VB R St 3. 60 0. 00 1. 05 5.10 100. 0 0.0 0.0 100. O HEAPEELE
0.8 0 ~ 0.9 0 11. 40 1. 85 0. 80

Ve R S At 3. 50 0.00 0. 00 1. 50 100. 0 0.0 0.0 100. O HE7k M2
0.9 0 ~ 1.0 0 3.25 2.65 0.55
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Ve U Sttt 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0. 100. O Pk Pk
1.0 0 0 3.25 2.45 2.90
Ve U Sttt 3.25 2. 00 0. 00 0.45 74.0 0.0 0. 74, O|HEAK SR 2
1.1 0 74 3.25 2.20 0.55
Ve B BT 3.25 2. 00 0. 00 0. 45 26.0 0.0 0. 26. 0|7 27 7 )L s
1.1 74 0 3.25 2.20 0.55
Ve R S At 3.30 1.75 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
1.2 0 0 3. 30 2. 00 0. 45
Ve W S A 3.25 1.30 0. 00 0. 65 27.0 0.0 0. 27.0|7 A7 7 )L Ml
1.3 0 27 3.25 2.95 0. 80
Ve I S A 3.25 1. 30 0. 00 0. 65 73.0 0.0 0. 73. O[BEAKME&#ES
1.3 27 0 3.25 2.95 0. 80
Ve R S A 3.25 0.00 0. 00 0. 60 100. 0 0.0 0. 100. O HEAPE&iLE
1.4 0 0 3.25 2. 65 0. 65
Ve I ST 3.25 2. 90 0. 00 0. 50 100. 0 0.0 0. 100. 0| 7 2 7 7 /L b &lidk
1.5 0 0 3.25 2.25 1. 05
Ve B st 3.25 1.60 0. 00 0. 60 100. 0 0.0 0. 100. 0| 7 2 7 7 /b bk
1.6 0 0 3.25 2.15 1. 05
Ve B Sttt 3.25 2.95 0. 00 0.45 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
1.7 0 0 3.25 1.85 1.05
Ve B Sttt 3.25 2.35 0. 00 1.35 100. 0 0.0 0. 100. 0| 7 =2 7 7 /v &k
1.8 0 0 3.25 3. 00 0. 90
Ve B sttt 3.25 2.35 0. 00 1.35 100. 0 0.0 0. 100. 0|7 2 7 7 )L |t
1.9 0 0 3.25 3. 00 0.90
Ve R S A 3.25 1.70 0. 00 1. 40 101. 0 0.0 0. 101. 0|7 A7 7 )L bl
2.0 0 1 3.25 3.10 1. 45
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Ve U Sttt 3.25 2. 00 0. 00 0. 50 0.0 0.0 25. 4 25. 47 2 7 7 v NElAE s
2.1 1 ~ 2.1 26 3.25 1. 50 0. 60
Ve U Sttt 3. 80 2. 50 0. 00 1.20 73.6 0.0 0.0 73.6|7 A 7 7L sk
2.1 26 ~ 2.2 0 3.75 2. 00 1. 20
Ve B BT 3.30 4. 00 0. 00 0. 80 100. 0 0.0 0.0 100. 0|7 2 7 7 )L |t
2.2 0 ~ 2.3 0 3.50 2.75 1.70
Ve R S A 3.30 4. 00 0. 00 0. 80 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
2.3 0~ 2.4 0 3.50 2.75 1.70
Ve W S A 3.30 4. 00 0. 00 0. 80 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b &k
2.4 0 ~ 2.5 0 3.50 2.75 1.70
Ve I S A 3.25 2. 60 0. 00 0.70 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L &k
2.5 0 ~ 2.6 0 3.25 3. 00 0. 80
Ve I BT 3.20 2.70 0. 00 0.85 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L b &k
2.6 0 ~ 2.7 0 3. 30 3.00 0. 60
Ve I ST 3.25 2. 80 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b b &lidk
2.7 0 ~ 2.8 0 3.25 3. 00 0. 80
Ve B Sttt 3.25 3. 90 0. 00 0.85 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bk
2.8 0 ~ 2.9 0 3. 20 2. 80 0. 80
Ve B Sttt 3.50 4. 00 0. 00 1. 40 110. 0 0.0 0.0 110. 0|7 2 7 7 )L | Efide
2.9 0 ~ 3.0 10 3. 20 4. 65 0.95
Ve B Sttt 3.50 3. 00 0. 00 1.45 90. 0 0.0 0.0 90.0[7 =2 7 7 /L Nk
3.0 10 ~ 3.1 0 3. 20 3.50 0. 90
P8 R S A 3.25 3.30 0. 00 1. 00 116.0 0.0 0.0 116. O[HEAPESLE
3.1 0~ 3.2 16 3.25 3. 50 0. 70
Ve R S At 5. 00 2.90 0. 00 1. 00 0.0 0.0 9.0 9. 0| Pk A% T O
3.2 16 ~ 3.2 25 5. 00 2. 90 1. 00
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Ve U Sttt 3.25 3. 50 0. 00 0. 80 5.0 0.0 0.0 5. 0| BE/K Ak
3.2 25 ~ 3.2 30 3.65 3. 00 1.95

Ve U Sttt 3.25 3. 50 0. 00 0. 80 70.0 0.0 0.0 70. 0|7 & 7 7 L ik
3.2 30 ~ 3.3 0 3.65 3. 00 1.95

P8 R S A 3.20 3.00 0. 00 0.55 100. 0 0.0 0.0 100. 0|7 2 7 7 )L |t
3.3 0 ~ 3.4 0 3.25 3.50 0.75

Ve R S A 3.20 3. 00 0. 00 0.55 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
3.4 0 ~ 3.5 0 3.25 3.50 0.75

Ve W S A 3.25 3.20 0. 00 1.00 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b &k
3.5 0 ~ 3.6 0 3. 20 3. 00 0. 60

Ve I S A 3.20 3.35 0. 00 0.85 88.0 0.0 0.0 88.0|7 A7 7 )L M
3.6 0 ~ 3.6 88 3.25 3. 00 1. 40

Ve R S A 3.20 3.35 0. 00 0.85 12.0 0.0 0.0 12. 0| Ak A
3.6 88 ~ 3.7 0 3.25 3.00 1. 40

Ve I ST 3.00 3. 00 0. 00 0. 60 45.0 0.0 0.0 45, O|HEAK P il
3.7 0 ~ 3.7 45 3.15 3. 00 0. 65

Ve B Sttt 3. 00 3. 00 0. 00 0. 60 37.0 0.0 0.0 37. 0| HE kMt
3.7 45 ~ 3.7 82 3.15 3. 00 0. 65

Ve U Sttt 3. 00 3. 00 0. 00 0. 60 18.0 0.0 0.0 18. 0|7 2 7 7 /b e
3.7 82 ~ 3.8 0 3.15 3. 00 0. 65

Ve B Sttt 3.25 3. 00 0. 00 1.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v &k
3.8 0 ~ 3.9 0 3.25 3. 00 1.75

P8 R S A 3.25 2.05 0. 00 1. 80 100. 0 0.0 0.0 100. 0|7 2 7 7 )L i
3.9 0 ~ 4.0 0 3.25 1.95 1. 80

Ve R S A 3.25 2.95 0. 00 1.75 71. 0 0.0 0.0 71.0[7 A7 7 /b b &%k
4.0 0 ~ 4.0 71 3.25 3.30 1.75
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HOGE | A GE | oBER | B OF | B OB | hrxa & U it
Ve U Sttt 3.25 2.95 0. 00 1.75 29. 0 0.0 0. 29. 0| HE/k M Bk
4.0 71 4. 0 3.25 3.30 1.75
Ve U Sttt 3.25 3. 00 0. 00 1.75 23.0 0.0 0. 23. O[HEAKMESG2E
4.1 0 4. 23 3.25 3. 40 1.75
Ve B BT 3.25 3.00 0. 00 1.75 77.0 0.0 0. T7.0(7 27 7 /L bk
4.1 23 4. 0 3.25 3. 40 1.75
Ve R S At 3.30 3.45 0. 00 1. 90 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
4.2 0 4. 0 3. 30 2.85 1. 80
Ve W S A 3.25 3. 45 0. 00 0. 60 40.0 0.0 0. 40. 0|7 A 7 7 )L b &tk
4.3 0 4. 40 3.25 3. 00 0. 60
Ve I S A 3.25 2. 80 0. 00 1.00 0.0 0.0 9. 9.0{7 27 7 M (A
4.3 40 4. 49 3.25 2.90 1. 00
Ve I BT 3.25 3.45 0. 00 0. 60 31.0 0.0 0. 31.0| 7 A7 7L b &%k
4.3 49 4. 80 3.25 3.00 0. 60
Ve I ST 3.25 2. 80 0. 00 1.00 0.0 0.0 8. 8. 1|7 27 7 ML [
4.3 80 4. 88 3.25 2. 90 1. 00
Ve B Sttt 3.25 3.05 0. 00 0. 65 41.9 0.0 0. 41.9|7 A7 7 )L
4.3 88 4. 30 3.25 3.05 0. 65
Ve U Sttt 3.25 3.05 0. 00 0. 65 70.0 0.0 0. 70.0| 7 2 7 7 /b s
4.4 30 4. 0 3.25 3.05 0. 65
Ve B Sttt 3. 40 1.95 0. 00 0.45 76.0 0.0 0. 76.0|7 & 7 7L sk
4.5 0 4. 76 3.25 3.25 0.25
P8 R S A 3. 40 1.95 0. 00 0. 45 124.0 0.0 0. 124. O[HEAPESLE
4.5 76 47. 0 3.25 3.25 0.25
Ve R S At 3. 30 3.20 0. 00 1. 30 100. 0 0.0 0. 100. 0| HE7k M2
4.7 0 4. 0 3.25 3.35 0. 45
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Ve U Sttt 3.25 3. 20 0. 00 0.70 100. 0 0.0 0.0 100. O Pk Pk
4.8 0 ~ 4.9 0 3.25 3.15 0.70

Ve U Sttt 3.25 2. 10 0. 00 0. 60 100. 0 0.0 0.0 100. OHEKPE&H%E
4.9 0 ~ 5.0 0 3.25 2.55 0.70

P8 R S A 3.25 2.20 0. 00 1.35 100. 0 0.0 0.0 100. O HEAPEELE
5.0 0 ~ 5.1 0 3.25 3. 40 0. 50

Ve R S A 3.25 2.20 0. 00 1.25 100. 0 0.0 0.0 100. 0| HE7k M2
5.1 0 ~ 5.2 0 3.25 3.20 0. 60

Ve W S A 3.25 3.20 0. 00 1. 40 37.5 0.0 37.5 75. 0| HEAK MR 2 S
5.2 0 ~ 5.2 75 3.25 2.50 0. 50

Ve I S A 3.50 2. 00 0. 00 1.15 38.0 0.0 0.0 38. O HEZK Ml 2
5.2 75 ~ 5.3 13 3. 50 1. 70 1.15

Ve R S A 3.25 2.85 0. 00 1. 30 87.0 0.0 0.0 87. O|HEAK P il
5.3 13 ~ 5. 4 0 3.25 2.45 0. 50

Ve I ST 3.25 2.85 0. 00 1. 30 100. 0 0.0 0.0 100. 0| HE/k M2k
5. 4 0 ~ 5.5 0 3.25 2.45 0. 50

Ve B Sttt 3.25 3.75 0. 00 1. 40 100. 0 0.0 0.0 100. O|HE/KPE&f%E
5.5 0 ~ 5.6 0 3.25 3.30 1.55

Ve B Sttt 3.25 2.15 0. 00 0.75 80. 0 0.0 0.0 80. O HE/k Mk
5.6 0 ~ 5.6 80 3.25 1. 90 1. 80

Ve B Sttt 3.25 3. 80 0. 00 1.00 110. 0 0.0 0.0 110. OHEZK ML %E
5.6 80 ~ 5.7 90 3.25 1. 50 1. 05

Ve B st 3.25 2.45 0. 00 0.75 110. 0 0.0 0.0 110. O sk M2
5.7 90 ~ 5.9 0 3.25 2.50 1.25

Ve R S A 3.25 2.45 0. 00 0.75 100. 0 0.0 0.0 100. O HE7k M2
5.9 0 ~ 6.0 0 3.25 2.50 1.25
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HOGE | A GE | oBER | B OF | B OB | hrxa i U it B
Ve U Sttt 3.35 2.15 0. 00 0.70 100. 0 0.0 0.0 100. O Pk Pk
6.0 0 ~ 6.1 0 3.25 3.25 1. 30
Ve U Sttt 3.25 2.15 0. 00 0.70 100. 0 0.0 0.0 100. OHEKPE&H%E
6.1 0 ~ 6. 2 0 3.25 2.10 1. 20
P8 R S A 3.25 2.70 0. 00 0.75 100. 0 0.0 0.0 100. O HEAPEELE
6.2 0 ~ 6.3 0 3.25 2.70 1. 20
Ve R S A 3.25 2.70 0. 00 0.75 100. 0 0.0 0.0 100. 0| HE7k M2
6.3 0 ~ 6.4 0 3.25 1. 60 1.25
Ve W S A 3.25 3.40 0. 00 1. 20 22.8 0.0 0.0 22. 8| Pk Mk
6.4 0 ~ 6.4 23 3.25 2.15 1. 30
Ve I S A 3.50 1.30 0. 00 0.75 0.0 0.0 7.2 7.2|7 A7 7 )b MEREE | A
6.4 23 ~ 6. 4 30 3. 50 1. 50 0. 80
Ve R S A 3.25 3.40 0. 00 1. 20 70. 0 0.0 0.0 70. O[HEAKPE#%E
6.4 30 ~ 6.5 0 3.25 2.15 1. 30
Ve I ST 3.25 1.75 0. 00 1. 00 100. 0 0.0 0.0 100. 0| HE/k M2k
6.5 0 ~ 6.6 0 3.25 1. 70 1. 30
Ve B Sttt 3.25 1.75 0. 00 1.15 100. 0 0.0 0.0 100. O HEsk Pk
6.6 0 ~ 6.7 0 3.25 1. 70 1.35
Ve B Sttt 3.25 1.55 0. 00 1.10 120. 0 0.0 0.0 120. O HE/k Pk
6.7 0 ~ 6.8 20 3.25 1. 60 1.15
Ve B Sttt 3.25 1.55 0. 00 1.10 80. 0 0.0 0.0 80.0(7 =2 7 7 /L ek
6.8 20 ~ 6.9 0 3.25 1. 60 1.15
Ve B sttt 3.25 2.50 0. 00 1. 00 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
6.9 0 ~ 7.0 0 3.25 1. 80 1. 00
Ve R S At 3.25 1. 80 0. 00 1.15 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
7.0 0 ~ 7.1 0 3.25 1.95 0.95
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HOGE | A GE | oBER | B OF | B OB | hrxa i U it B

Ve U Sttt 3.25 2. 80 0. 00 1.15 27.0 0.0 0.0 27.0|7 27 7 )L e
7.1 0 ~ 7.1 27 3.25 1.95 0.95

Ve U Sttt 4. 30 2. 00 0. 00 0.25 0.4 0.0 14. 6 15. 0|7 2 7 7 /v NadidE [k
7.1 27 ~ 7.1 42 4.25 1. 50 0.25

Ve B BT 3.25 2. 80 0. 00 1.15 58.0 0.0 0.0 58.0(7 2 7 7 /L kA
7.1 42 ~ 7.2 0 3.25 1.95 0.95

Ve R S At 3.25 4. 50 0. 00 0. 80 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
7.2 0 ~ 7.3 0 3.25 1. 60 1. 10

V8 IR S A 3.25 3. 50 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
7.3 0~ 7.4 0 3.25 1.65 1. 00

Ve I S A 3.25 3. 50 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L &k
7.4 0 ~ 7.5 0 3.25 3. 50 1. 00

Ve I Rt 3.25 2.55 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L bk
7.5 0 ~ 7.6 0 3.25 1. 60 0.95

Ve I Rt 3.25 2. 80 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L b &lidk
7.6 0 ~ 7.7 0 3.25 3. 40 1. 20

Ve B Sttt 3.25 2. 00 0. 00 0. 50 30.0 0.0 0.0 30. 0| 7 A 7 7 /L b &k
7.7 0 ~ 7.7 30 3.25 1. 90 1. 00

Ve U Sttt 3.25 2. 00 0. 00 0. 50 70.0 0.0 0.0 70.0| 7 2 7 7 /b s
7.7 30 ~ 7.8 0 3.25 1.90 1. 00

Ve B Sttt 3.25 2. 00 0. 00 0. 50 51.0 0.0 0.0 51.0|7 & 7 7 L ik
7.8 0 ~ 7.8 51 3.25 2.75 0. 50

Ve B st 3.25 2. 00 0. 00 0.50 49.0 0.0 0.0 49. O|HEA P Sl 2
7.8 51 ~ 7.9 0 3.25 2.75 0. 50

Ve R S A 3.25 2.05 0. 00 0.50 123.0 0.0 0.0 123. 0| HEak M2
7.9 0~ 8.0 0 3.25 1.95 1. 30
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HOGE | A GE | oBER | B OF | B OB | hrxa i U it B

Ve U Sttt 3.25 2.05 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
8.0 0 0 3.25 2.20 1. 10

Ve U Sttt 3.25 2. 00 0. 00 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /v &k
8.1 0 0 3.25 2.10 0.75

P8 R S A 3.25 2. 10 0. 00 0.50 90.0 0.0 0. 90. 0|7 2 7 7 )L I
8.2 0 90 3.25 6. 35 0.75

Ve R S A 3.25 7.55 0. 00 1.15 20.0 0.0 0. 20. 0|7 A7 7 /L bk
8.2 90 10 3.25 2.15 4. 20

Ve W S A 3.25 2.45 0. 00 2. 10 90.0 0.0 0. 90. 0|7 A 7 7 /L b &k
8.3 10 0 3.25 2.70 1. 00

Ve I S A 3.25 2.45 0. 00 2. 10 100. 0 0.0 0. 100. 0| 7 2 7 7 /L &k
8.4 0 0 3.25 2.70 1. 00

Ve I BT 3.25 2. 50 0. 00 2.20 100. 0 0.0 0. 100. 0| 7 2 7 7 /L b &k
8.5 0 0 3.25 2. 80 0.75

Ve I ST 3.25 0. 00 0. 00 0.95 100. 0 0.0 0. 100. 0| 7 2 7 7 /b b &lidk
8.6 0 0 3.25 2.20 0. 50

Ve B Sttt 3.25 0. 00 0. 00 2. 60 100. 0 0.0 0. 100. 0| 7 2 7 7 /b bk
8.7 0 0 3.25 3.35 0. 50

Ve B Sttt 3.25 0. 00 0. 00 1.70 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
8.8 0 0 3.25 2.90 1.90

Ve B Sttt 3.25 0. 00 0. 00 1.10 28.0 0.0 0. 28.0(7 2 7 7 /v Nk
8.9 0 28 3.25 3.05 0. 65

P8 R S A 3.25 0. 00 0. 00 0. 00 0.0 0.0 3. 3.1 T A7 7 v e [mas
8.9 28 31 3.25 2. 80 0. 00

Ve R S A 3.25 0. 00 0. 00 1. 10 68.9 0.0 0. 68.9|7 A7 7L bk
8.9 31 0 3.25 3.05 0. 65
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Ve U Sttt 3.25 0. 00 0. 00 1.75 100. 0 0.0 0.0 100. 0|7 2 7 7 )L | Efide
9.0 0 ~ 9.1 0 3.25 3. 00 0. 60
Ve U Sttt 3.25 4. 10 0. 00 1.85 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v &k
9.1 0 ~ 9.2 0 3.25 1. 70 2.05
P8 R S A 3.25 5. 45 0. 00 1.95 100. 0 0.0 0.0 100. 0|7 2 7 7 )L |t
9.2 0 ~ 9.3 0 3.25 7.30 1. 00
Ve R S A 3.25 7.10 0. 00 1. 80 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
9.3 0~ 9.4 0 3.25 3. 30 1.65
Ve W S A 3.30 2. 00 0. 00 0. 80 25.0 0.0 0.0 25.0|7 A7 7L bk
9.4 0 ~ 9.4 25 3.20 2. 10 0. 50
Ve I S A 3.30 2. 00 0. 00 0. 80 30.0 0.0 0.0 30. 0| 7 A7 7L b &%k
9.4 25 ~ 9. 4 55 3. 20 2. 10 0. 50
B R =R R A E BT 3.30 2. 00 0. 00 0. 80 141.0 0.0 0.0 141. 0|7 2 7 7 /v sk
9.4 55 ~ 9.5 96 3. 20 2.10 0. 50
B I =R R A & T 3.30 2. 00 0. 00 0. 80 7.0 0.0 0.0 7. 0| HEK PR Al %
9.5 96 ~ 9.6 3 3. 20 2.10 0. 50
Ve I =R LR A0 E HT 3.25 1.50 0. 00 0.85 0.0 0.0 11.2 11. 2| BEAK P&l % LD
9.6 3 ~ 9.6 14 3.25 2. 00 0. 80
Ve Ik = LR A0 & HT 3.25 1.75 0. 00 0. 60 85.8 0.0 0.0 85. 8[HEAK A
9.6 14 ~ 9.7 0 3.25 3. 00 0. 80
P/ R = 38 SRR A0 E T 3.25 2. 80 0. 00 0. 50 100. 0 0.0 0.0 100. O HEAC M &2
9.7 0 ~ 9.8 0 3. 30 2.25 1. 00
Ve I =3 FERR A0 & HT 3.35 2.15 0. 00 0. 50 40. 0 0.0 0.0 40. 0| FE/k M2
9.8 0~ 9.8 40 3.20 2. 20 1. 00
Ve I =3 JERR A0 E T 3.25 3.80 0. 00 1. 10 0.0 0.0 5.3 5. 3| HEAKPEE%E I
9.8 40 ~ 9.8 45 3.25 4. 00 1.10
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HOGE | A GE | oBER | B OF | B OB | hrxa & T M R
P R = 3 FERR A0 T 3.35 2.15 0. 00 0.50 74.7 0.0 0. 74. T|HEAR M A
9.8 45 ~ 9. 20 3.20 2. 20 1. 00
P R = 38 FEAR A0 E T 3.25 2.20 0. 00 0. 50 80. 0 0.0 0. 80. O|FEAK Ml
9.9 20 ~ 10. 0 3.25 2. 00 0. 40
P IR = 3R SRR A0 T 3.25 1.95 0. 00 0. 50 59. 0 0.0 0. 59. 0| /K Mk
10. 0 0 ~ 10. 59 3.25 2. 00 0. 70
Ve R = B A0 X T 3.25 1.95 0. 00 0.50 41.0 0.0 0. 41.0|7 A7 7 )L b adk
10. 0 59 ~ 10. 0 3.25 2. 00 0. 70
P I = A AR A0 X T 3.20 3. 10 0. 00 0. 50 90. 0 0.0 0. 90. 0|7 A7 7 )L Ll
10. 1 0~ 10. 90 3.25 2. 50 0. 50
P R =R AR A0 & T 3.50 2. 10 0. 00 0.75 0.0 0.0 3. 3.0[ 7 A7 7 v ML [hEts
10. 1 90 ~ 10. 93 3.50 2. 00 0.75
B R =R R A E BT 3.50 2. 10 0. 00 0.75 0.0 0.0 11. 11. 4| BEAK Al % U
10. 1 93 ~ 10. 4 3.50 2. 00 0.75
B I =R R A E T 3.30 2.95 0. 00 0. 50 3.6 0.0 0. 3. 6| HEAKPEAH%E
10. 2 4 ~ 10. 7 3.30 3. 00 0. 80
Ve VR = 38 FERR A0 T 3.30 2.95 0. 00 0. 50 92.0 0.0 0. 92.0|7 A7 7 )L g
10. 2 7~ 10. 0 3.30 3. 00 0. 80
P R = 38 FERR A0 T 3.25 2.95 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 /b bk
10. 3 0 ~ 10. 0 3.25 2. 00 0. 90
P R = 38 FEAR A0 E T 3.30 1. 40 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 A2 7 7 )b ik
10. 4 0~ 10. 0 3.25 2. 00 0.95
Ve I =3 FERR A0 & HT 3.85 2.20 0. 00 0. 50 108. 0 0.0 0. 108. 0| HE7k M2
10. 5 0~ 10. 8 3.30 3. 60 1.05
Ve I =3 JERR A0 E T 3.50 2. 00 0. 00 0.55 0.0 0.0 30. 30. O HEZK ME 24 HURU
10. 6 8 ~ 10. 38 3.50 2. 00 0.55
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HOGE | A GE | oBER | B OF | B OB | hrxa & T M R

Ve Ik = R A0 & HT 3.85 2.20 0. 00 0.50 62.0 0.0 0. 62.0(7 27 7 /L Mlidk
10. 6 38 ~ 10. 0 3.30 3. 60 1. 05

P R = 38 FEAR A0 E T 3.30 2.25 0. 00 0. 50 20. 0 0.0 0. 20. O[HEAMES 2
10. 7 0 ~ 10. 20 3.20 3. 00 0. 50

Ve I =3 FERR 0 & HT 3.30 2.25 0. 00 0. 50 33.0 0.0 0. 33.0|7 A7 7 )L ALk
10. 7 20 ~ 10. 53 3.20 3. 00 0. 50

P R = FEAR A O X T 3.30 4. 00 0. 00 0.50 12.0 0.0 0. 12. 0|7 A7 7 )b bk
10. 7 53 ~ 10. 65 3.20 3. 00 0. 50

Ve I = 3 AR A0 S HT 3.30 4. 00 0. 00 0. 50 53.0 0.0 0. 53.0| 7 A7 7L k&%
10. 7 65 ~ 10. 0 3.20 3. 00 0. 50

P R =R AR A0 & T 3.30 2. 00 0. 00 0. 50 75.0 0.0 0. 75.0| 7 A7 7L bk
10. 8 0 ~ 10. 75 3.25 3. 65 0. 50

B R =R R A & BT 3.30 3. 50 0. 00 0. 50 70.0 0.0 0. 70.0| 7 A7 7L b &%k
10. 8 75 ~ 10. 58 3.25 3. 65 0. 50

B I =R R A E T 3.30 2. 00 0. 00 0.55 37.0 0.0 0. 37.0| 7 A7 7L b &%k
10. 9 58 ~ 11. 0 3.25 2.35 0. 50

B I =R LR A0 E HT 3.25 2. 00 0. 00 0. 50 100. 0 0.0 0. 100. 0| 7 2 7 7 /v bk
11.0 0 ~ 11. 0 3.25 3. 50 0. 50

Ve Ik = R A0 & HT 3.25 2.35 0. 00 0.50 75.0 0.0 0. 75.0|7 A 7 7L Ak
11.1 0 ~ 11. 75 3.25 2. 00 0. 50

P R = 38 SRR A0 E T 3.25 2.35 0. 00 0. 60 25.0 0.0 0. 25.0|7 A7 7L bk
11.1 75 ~ 11. 0 3.25 2. 00 0. 60

Ve I =3 FERR A0 & HT 3.30 2.00 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 A 7 7 )L b &k
11.2 0~ 11. 0 3.25 3. 30 0. 50

P R = FEAR A O X T 3.25 3.20 0. 00 0.50 50.0 0.0 0. 50. 0|7 A 7 7 /L b &k
11.3 0 ~ 11. 50 3.25 2. 40 0. 50
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HOGE | A GE | oBER | B OF | B OB | hrxa & T M R

Ve Ik = R A0 & HT 3.25 3.20 0. 00 0.50 50. 0 0.0 0. 50. 0|7 A2 7 7 )L btk
11.3 50 ~ 11. 0 3.25 2. 40 0. 50

P R = 38 FEAR A0 E T 3.30 2.75 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 A2 7 7 )L ik
11. 4 0 ~ 11. 0 3.30 2. 50 0. 50

Ve I =3 FERR 0 & HT 3.25 2.50 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 A 7 7 )L b &k
11.5 0~ 11. 0 3.30 2. 70 0. 50

P R = FEAR A O X T 3.30 3. 00 0. 00 0.50 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
11.6 0~ 11. 0 3.25 2. 00 0. 50

Ve I = 3 AR A0 S HT 3.25 3. 00 0. 00 0. 50 29.0 0.0 0. 29.0|7 A7 7 )L MEfE
11.7 0 ~ 11. 29 3.20 2. 00 0. 90

VR W =28 FLAR LG HT 3.25 3. 00 0. 00 0.50 20. 0 0.0 0. 20.0(7 A7 7 /v Mt
11.7 29 ~ 11. 49 3.20 2. 00 0. 90

Ve R =38 FERR LRy 3.30 2. 00 0. 00 1.00 0.0 0.0 6. 6. 3|7 A7 7 N ekt
11.7 49 ~ 11. 55 3.30 2. 00 1. 00

Ve IR =38 SRR bRy 3.25 3. 00 0. 00 0. 50 44.7 0.0 0. 44. 7|7 A7 7 )b e
11.7 55 ~ 11. 0 3.20 2. 00 0. 90

P R = A SRR b emT 3.30 2.55 0. 00 0.55 100. 0 0.0 0. 100. 0| 7 2 7 7 /v bk
11.8 0 ~ 11. 0 3.25 2. 30 0. 50

P R = A SRR b iemT 3.35 1. 30 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
11.9 0 ~ 12. 0 3.25 2. 00 0. 50

P R = 3R FERR LT 3.30 1.30 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 v | &l
12. 0 0~ 12. 0 3.25 1. 90 0. 50

P8 IR = 3 JLRR - Igmy 3.25 1. 80 0. 00 0. 60 95.0 0.0 0. 95. 0|7 A7 7 )L bk
12.1 0~ 12. 95 3.25 1. 70 0. 50

Ve U =8 JEBR LIt 3.25 0.85 0. 00 0.75 0.4 0.0 6. 7.0| 7 A7 7 v ML At
12. 1 95 ~ 12. 2 3.25 2. 00 0.75
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HOGE | A GE | oBER | B OF | B OB | hrxa & T M R

P R = A8 SRR b igemT 3.25 2. 00 0. 00 0. 50 98. 0 0.0 0. 98.0|7 27 7 )L Ik
12.2 2~ 12. 0 3.20 2. 00 0.95

P R = 3R FERR LT 3.30 1.80 0. 00 1.30 100. 0 0.0 0. 100. 0|7 2 7 7 v | &l
12.3 0 ~ 12. 0 3.30 2. 50 0. 65

Ve IR, = 3% FERTR el 3.30 0. 00 0. 00 1.25 100. 0 0.0 0. 100. 0| 7 2 7 7 /b Rk
12. 4 0~ 12. 0 3.35 3. 70 0. 80

P IR = A SRR FidgemT 3.30 0. 00 0. 00 1.45 73.0 0.0 0. 73.0(7 A7 7 /L hA%E
12.5 0~ 12. 73 3. 40 1. 00 0.75

Ve U = 38 JLAR LI mT 3.30 0. 00 0. 00 1.45 5.0 0.0 0. 5. 0| HEAKPEE%E
12.5 73 ~ 12. 78 3. 40 1. 00 0.75

VR W =28 FLAR LG HT 3.25 2.00 0. 00 0.75 0.5 0.0 15. 16. O|HE/K P& %L 1@
12.5 78 ~ 12. 94 3.25 2. 00 1.15

Ve R =3 FERR L mT 3.25 2. 60 0. 00 1.30 106. 0 0.0 0. 106. 0|7 A7 7 )L | &tk
12.5 94 ~ 12. 0 3.25 4. 20 0. 50

Ve IR =38 SRR bRy 3.25 2.30 0. 00 0.45 100. 0 0.0 0. 100. O HEAC M &2
12.7 0 ~ 12. 0 3.25 2. 40 0. 80

Ve B = 3 FLRR 1 IgmT 3.30 2. 00 0. 00 0. 45 100. 0 0.0 0. 100. O HErk Pk
12.8 0~ 12. 0 3.25 1.75 0.95

P8 I = 3 FLRR - IgmT 3.30 3. 10 0. 00 0. 45 100. 0 0.0 0. 100. O Pk Pk
12.9 0 ~ 13. 0 3.25 0. 70 1. 05

PR IR, — 3 FLAR L IdEmT 3.30 3.10 0. 00 0. 45 100. 0 0.0 0. 100. O HEA M &2
13.0 0~ 13. 0 3.25 0. 00 1. 45

P8 U =38 JEBR LIt 3.30 2. 20 0. 00 0. 45 10. 0 0.0 0. 10. O|BEAK P& %
13.1 0~ 13. 10 3.30 1.95 0. 70

P IR = A SRR bigemT 3.30 2. 20 0. 00 0. 45 90.0 0.0 0. 90. 0|7 A 7 7 /L b &tk
13.1 10 ~ 13. 0 3.30 1.95 0. 70
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P R = A8 SRR b igemT 3.30 2.50 0. 00 0. 60 100. 0 0.0 0.0 100. 0|7 2 7 7 )L | Efide
13.2 0~ 13.3 0 3.30 1.95 1.15

P R = 3R FERR LT 3.30 1.50 0. 00 0.70 100. 0 0.0 0.0 100. 0|7 2 7 7 v | &l
13.3 0 ~ 13. 4 0 3.30 6. 90 1. 40

P8 IR = 3 JLER - Igmy 3.30 2. 20 0. 00 0. 70 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
13. 4 0~ 13.5 0 3.30 2. 50 1.95

P8 I = 38 SRR L IgmT 3.25 1. 65 0. 00 0.85 16.0 0.0 0.0 16. 0|7 A 7 7 /b bk
13.5 0~ 13.5 16 3.20 3.95 3.70

Ve U = 38 JLAR LI mT 3.50 1.30 0. 00 0.75 0.4 0.0 2.6 3.0 7 A7 7 v Mt
13.5 16 ~ 13.5 19 3.50 2. 50 0.75

Ve RAR BT R &5 B o BLHT 3.25 1.65 0. 00 0.85 81.0 0.0 0.0 81.0|7 A7 7 /L btk
13.5 19 ~ 13.6 0 3.20 2. 00 3.70

Ve A R 75 B 4 LT 3.30 0. 00 0. 00 1. 50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L b &k
13.6 0 ~ 13.7 0 3.35 0. 00 1. 90

Ve A B 5 B 4 HLET 3.30 1.75 0. 00 0. 65 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v b &lidk
13.7 0 ~ 13.8 0 3.35 0. 00 1. 20

Ve AR B R 25 2 ELRT 3.30 0. 00 0. 00 1.00 49.0 0.0 0.0 49. 0|7 A7 7 )L EfdE
13.8 0~ 13.8 49 3.30 0. 00 1. 20

e A BT R 75 B 2 BLHT 3.30 0. 00 0. 00 1. 00 51.0 0.0 0.0 51. OHEAPEfLE
13.8 49 ~ 13.9 0 3.30 0. 00 1. 20

V8 WA R 75 B 4 HLHT 3.35 2.20 0. 00 0.45 35.0 0.0 0.0 35. OBk Il
13.9 0 ~ 13.9 35 3.15 3. 45 1. 20

Ve IR A BB o5 B o HLHT 3.35 2. 20 0. 00 0. 45 65. 0 0.0 0.0 65. 0| Pk P&
13.9 35 ~ 14. 0 0 3.20 2. 20 1.15

Ve RA T BB o5 B o HLHT 3.35 2.20 0. 00 0. 45 100. 0 0.0 0.0 100. O HE7k M2
14. 0 0~ 14. 1 0 3.20 2. 20 1.15
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HOGE | A GE | oBER | B OF | B OB | hrxa & U it
Ve AR B B 25 2 FRLRT 3.25 2. 40 0. 00 0. 60 100. 0 0.0 0. 100. OHEKPEEH%E
14. 1 0~ 14. 0 3.25 2.35 0. 50
Ve WA R 75 B 4 HLHT 3.25 1.60 0. 00 0.55 100. 0 0.0 0. 100. O HEA M &2
14. 2 0 ~ 14, 0 3.25 1. 70 0. 70
Ve RA G AR o5 B o HLHT 3.20 1.70 0. 00 0. 80 106. 0 0.0 0. 106. OHEKPE&f%E
14. 3 0~ 14. 6 3.20 1.95 0. 60
Ve RA T BB o5 B o HLHT 3.50 1.10 0. 00 1. 00 0.0 0.0 5. 5. 6| HEAKPEELE R 124
14. 4 6 ~ 14. 11 3.50 2. 40 1. 00
P AR B R 2 B o FRLT 3.30 2. 60 0. 00 0.55 88. 4 0.0 0. 88. 4[HEAKMES %
14. 4 11 ~ 14. 0 3.20 2.35 0. 70
Ve VAR R &5 B o BLHT 3.30 0. 00 0. 00 1. 20 105. 0 0.0 0. 105. 0|7 27 7 /L bl
14. 5 0 ~ 14. 5 3.15 1. 90 0.55
Ve A R 75 B 4 LT 3.90 0. 00 0. 00 1. 00 0.0 0.0 5. 5.3|7 A7 7 )b NEREE |Em 146
14. 6 5~ 14. 10 3.30 0. 00 1. 00
Ve A B 5 B 4 HLET 3.25 0. 00 0. 00 1.30 89.7 0.0 0. 89. 7|7 A7 7 )L st
14. 6 10 ~ 14. 0 3.25 0. 00 1. 10
Ve AR B R 25 2 ELRT 3.20 0. 00 0. 00 1.15 100. 0 0.0 0. 100. 0| 7 2 7 7 /b bl
14.7 0~ 14, 0 3.45 0. 00 0.95
e A BT R 75 B 2 BLHT 3.25 0. 00 0. 00 1.35 90. 0 0.0 0. 90. 0|7 A2 7 7 L ki
14. 8 0 ~ 14. 90 3.35 0. 00 1.25
P A R AR o5 T 4 BT 3.30 2.60 0. 00 1. 00 0.0 0.0 10. 10. 0|7 2 7 7 /L b [Ars
14. 8 90 ~ 14, 99 3.30 0. 00 1. 00
V8 WA B R 75 B o HLHT 3.30 2. 70 0. 00 0.20 100. 0 0.0 0. 100. 0|7 2 7 7 )L it
14. 8 99 ~ 15. 0 3.45 0. 00 1. 80
Ve RA T BB o5 B o HLHT 3.30 2. 70 0. 00 0.20 48.0 0.0 0. 48. 0|7 A 7 7 )L bk
15. 0 0~ 15. 48 3.45 0. 00 1. 80
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HOGE | A GE | oBER | B OF | B OB | hrxa & T M R
Ve AR B B 25 2 FRLRT 3.20 1.50 0. 00 1.00 0.0 0.0 7. 7.0[7 A7 7 v ML |5m 2 2146
15. 0 48 ~ 15. 55 3.00 2. 40 1. 00
V8 WA R o5 B 4 HLHT 3. 30 2. 60 0. 00 1.30 45.0 0.0 0. 45. 0|7 A 7 7 )b gk
15. 0 55 ~ 15. 0 3.25 3. 05 0. 45
V8 WA R 75 B o HLHT 3.30 2. 60 0. 00 1. 30 55.0 0.0 0. 55.0| 7 A 7 7 /L bk
15. 1 0~ 15. 55 3.25 3.05 0. 45
Ve WA B R 75 B o HLET 3. 00 1.20 0. 00 1.00 0.0 0.0 4. 4.0| 7 A7 7 v ML |5m 3 216
15. 1 55 ~ 15. 59 3.25 2. 10 1. 00
P A G AR o B 4 LT 3.30 2. 60 0. 00 1. 30 41.0 0.0 0. 41. 0|7 A7 7 )L Ml
15. 1 59 ~ 15. 0 3.25 3.05 0. 45
Ve VAR R &5 B o BLHT 3.30 2. 00 0. 00 0.85 100. 0 0.0 0. 100. 0|7 2 7 7 )L b Eifidk
15. 2 0 ~ 15. 0 3.30 2. 20 0. 50
Ve A R 75 B 4 LT 3.25 1.55 0. 00 0. 90 100. 0 0.0 0. 100. 0| 7 2 7 7 /L b &k
15. 3 0 ~ 15. 0 3.25 2. 20 0. 50
Ve A B 5 B 4 HLET 3.30 1. 40 0. 00 0.85 100. 0 0.0 0. 100. 0| 7 2 7 7 )L b &lidk
15. 4 0 ~ 15. 0 3.25 1. 30 0. 50
Ve AR B R 25 2 ELRT 3.20 0. 00 0. 00 1. 40 80. 0 0.0 0. 80.0|7 A7 7 )L st
15. 5 0 ~ 15. 80 3.25 3. 00 1. 20
Ve AR AR o5 B o LT 4. 05 2. 70 0. 00 0. 80 30.0 0.0 0. 30.0| 7 &2 7 7 /L sk
15. 5 80 ~ 15. 10 3.50 2. 85 0. 80
V8 WA R 75 B o HLHT 3.25 2. 00 0. 00 1. 00 0.0 0.0 6. 6.6|7 27 7 v NEELE lmats
15. 6 10 ~ 15. 15 3.25 2. 00 1. 00
V8 WA R 75 B o HLHT 3.25 2.95 0. 00 0. 80 100. 4 0.0 0. 100. 4|7 27 7 )L e
15. 6 15 ~ 15. 17 3.25 2. 65 1.75
Ve RA T BB o5 B o HLHT 3.15 2. 00 0. 00 1. 00 0.0 0.0 3. 3.5|7 A7 7 v ML |mats
15. 7 17 ~ 15. 20 3.00 2. 60 1. 00
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Ve AR AR 5 B o LT 3.25 2.90 0. 00 0.85 79.5 0.0 0. 79.5(7 2 7 7L Nk
15. 7 20 ~ 15. 0 3.25 1.65 1.75
Ve WA R 75 B 4 HLHT 3. 20 1.90 0. 00 0. 60 30.0 0.0 0. 30. 0|7 27 7 v bk
15. 8 0 ~ 15. 30 3.30 1.25 1.55
V8 WA R 75 B o HLHT 3.65 0. 00 0. 00 1. 00 0.0 0.0 3. 3.4| 7 A7 7L MEEEE st
15. 8 30 ~ 15. 33 3.25 2. 60 1. 00
Ve RA T BB o5 B o HLHT 3.20 1. 90 0. 00 0. 60 107. 6 0.0 0. 107. 6|7 A7 7 )L bl
15. 8 33 ~ 15. 41 3.30 2.25 1.55
P A G AR o B 4 LT 3.20 2. 00 0. 00 1. 00 0.0 0.0 3. 3.0[ 7 A7 7 v ML 1wt
15.9 41 ~ 15. 44 3.00 2. 00 1. 00
Ve VAR R &5 B o BLHT 3.20 1. 90 0. 00 0. 60 56.0 0.0 0. 56. 07 A7 7 /L bk
15.9 44 ~ 16. 0 3.30 2.25 1.55
Ve A B 75 B 4 HLET 3.30 2.95 0. 00 1. 20 39.0 0.0 0. 39.0| 7 A7 7L b &%k
16. 0 0 ~ 16. 39 3.25 3.05 0.75
Ve A B 5 B 4 HLET 3.25 2. 00 0. 00 1.00 0.3 0.0 5. 6.0[7 A7 7 /v MaHEE [ma s
16. 0 39 ~ 16. 45 3.00 2. 20 1. 00
Ve AR B R 25 2 ELRT 3.30 2.95 0. 00 1.20 52.0 0.0 0. 52.0| 7 A 7 7 /L bk
16. 0 45 ~ 16. 0 3.25 3.05 0.75
Ve AR AR o5 B o LT 3.25 2.55 0. 00 1. 30 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
16. 1 0~ 16. 0 3.25 1. 90 0.55
V8 WA R 5 B 4 HLHT 3. 30 1.40 0. 00 1.70 100.0 0.0 0. 100. 0|7 A 7 7 )b &k
16. 2 0~ 16. 0 3.20 1. 90 0.55
V8 WA B R 75 B o HLHT 3.50 2.50 0. 00 1.85 17.0 0.0 0. 17.0|7 A7 7 /v &%k
16. 3 0~ 16. 17 3.25 3. 00 2. 20
Ve R A BB o5 B o HLHT 3.50 0. 00 0. 00 1. 00 0.0 0.0 3. 3.4\ 7 A7 7 v ML |mats
16. 3 17 ~ 16. 20 3.10 1. 80 1. 00
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HOGE | A GE | oBER | B OF | B OB | hrxa & T M R
Ve AR AR 5 B o LT 3.50 2.50 0. 00 1.85 79.6 0.0 0. 79.6|7 2 7 7L Ntk
16. 3 20 ~ 16. 0 3.25 3. 00 2. 20
Ve WA R 75 B 4 HLHT 3. 30 0. 00 0. 00 0. 80 65. 0 0.0 0. 65.0| 7 A 7 7 )b Efdk
16. 4 0 ~ 16. 65 3.35 1. 00 1.70
V8 WA R 75 B o HLHT 3.20 1.55 0. 00 0. 80 22.0 0.0 0. 22. 0|7 A7 7 )L bk
16. 4 65 ~ 16. 87 3.20 2. 30 0. 60
Ve RA T BB o5 B o HLHT 3.25 1.20 0. 00 0. 50 0.5 0.0 6. 7.0|7 A7 7 )L NEREE | Eresr
16. 4 87 ~ 16. 94 3.25 2. 10 0. 50
P A G AR o B 4 LT 3.20 1.55 0. 00 0. 80 106. 0 0.0 0. 106. 0| 7 A2 7 7 /b &k
16. 4 94 ~ 16. 0 3.20 2. 30 0. 60
Ve VAR R &5 B o BLHT 3.25 2. 10 0. 00 0.55 98.0 0.0 0. 98. 0|7 A 7 7 /L b &Lk
16. 6 0 ~ 16. 98 3.25 2. 30 0. 50
Ve A R 75 B 4 LT 3.25 3. 00 0. 00 0. 50 0.5 0.0 58. 59. 0|7 A 7 7 /L hAHEE |m T
16. 6 98 ~ 16. 57 3.25 3. 00 0. 50
Ve A B 5 B 4 HLET 3.25 2.65 0. 00 0. 50 43.0 0.0 0. 43. 0|7 A7 7 )L hEfdE
16. 7 57 ~ 16. 0 3.25 3. 45 0. 50
Ve AR B R 25 2 ELRT 3.25 2.65 0. 00 0. 50 100. 0 0.0 0. 100. 0| 7 2 7 7 /b bl
16. 8 0~ 16. 0 3.25 3. 45 0. 50
Ve AR AR 5 B o LT 3. 20 3.65 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
16. 9 0 ~ 17. 0 3.35 2. 45 0. 45
V8 WA R 75 B 4 HLHT 3. 20 2. 00 0. 00 0. 60 100.0 0.0 0. 100. 0|7 A 7 7 )b &k
17.0 0~ 17. 0 3. 40 2.25 0. 50
V8 WA R 75 B o HLHT 3.25 2. 00 0. 00 0. 50 0.3 0.0 6. 7.0|7 27 7 )L MEEEE | EAE
17. 1 0~ 17. 7 3.25 2. 00 0. 50
Ve RA T BB o5 B o HLHT 3.25 2. 70 0. 00 0. 45 47.0 0.0 0. 47.0| 7 A7 7 )L b &tk
17. 1 7 ~ 17. 54 3.25 2. 80 0.55
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17. 1 54 ~ 17. 61 3.25 2. 00 0.50
Vg b 3.25 2. 70 0. 00 0. 45 52. 8 0.0 0. 52.8| 7 A 7 7 /L sk
17. 1 61 ~ 17. 15 3.25 2. 80 0.55
Vo7 Rk B T 3.25 2.00 0. 00 0. 60 0.0 0.0 8. 8.2| 7 A7 7 v M [mahts
17.2 15 ~ 17. 22 3.25 2. 00 0. 60
Ve R A 3.30 3. 60 0. 00 0. 45 78.0 0.0 0. 78.0(7 A7 7 /L b A%k
17.2 22 ~ 17. 0 3.20 2.75 0. 80
Ve AR B 3.30 3. 60 0. 00 0. 45 51.0 0.0 0. 51.0| 7 A7 7L k&%
17.3 0 ~ 17. 51 3.20 2.75 0. 80
Ve AR E ol 3.25 2. 00 0. 00 0.75 0.1 0.0 5. 6. 0|7 27 7 v ML s
17.3 51 ~ 17. 57 3.25 2. 00 0.75
Ve I ph B i 3.30 3. 60 0. 00 0. 45 40. 0 0.0 0. 40. 0|7 A7 7 )L EfdE
17.3 57 ~ 17. 97 3. 20 2.75 0. 80
Ve I ph B T 3.25 2. 00 0. 00 0.75 0.0 0.0 8. 8.0| 7 27 7 v Melidk ks
17.3 97 ~ 17. 5 3.25 1. 40 0.75
Ve b B T 3.25 2. 30 0. 00 0.75 95. 0 0.0 0. 95. 0|7 A7 7 )L EfdE
17. 4 5 ~ 17. 0 3.25 4. 20 1. 00
Vg b 3.30 2.20 0. 00 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
17.5 0 ~ 17. 0 3. 30 1. 40 0.95
V8 i 3.30 4. 00 0. 00 0.75 30.0 0.0 0. 30.0| 7 2 7 7 /b sk
17.6 0 ~ 17. 30 3.25 1. 90 1. 00
P8 W B 3. 30 4. 00 0. 00 0.75 25.0 0.0 0. 25.0| 7 2 7 7L s
17.6 30 ~ 17. 55 3.25 1. 90 1. 00
Ve A 3.00 2. 00 0. 00 0. 40 0.0 0.0 8. 8.0|7 A7 7 /v Mai%E (50 mim
17.6 55 ~ 17. 63 3. 40 1. 40 1. 00
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Ve s IH A 3.25 3.30 0. 00 0. 80 37.0 0.0 0. 37.0(7 27 7 /b bk
17.6 63 17. 0 3.25 1. 65 1.15
Ve A 3.25 3.30 0. 00 0. 80 100. 0 0.0 0. 100. 0|7 2 7 7 )L it
17.7 0 17. 0 3.25 1. 65 1.15
Vo7 Rk B T 3.25 1.95 0. 00 0. 80 100. 0 0.0 0. 100. 0|7 A 7 7 )L b &k
17.8 0 17. 0 3.25 0. 00 2. 00
Ve R A 3.25 2. 00 0. 00 0.75 120. 0 0.0 0. 120. 0|7 A7 7 )L bl
17.9 0 18. 20 3.25 0. 00 1.55
Ve AR B 3.25 2. 00 0. 00 0.75 0.0 0.0 6. 6. 0|7 A7 7 MEREE [ikss
18. 0 20 18. 26 3.25 0. 00 0.75
Ve AR E 3.25 2. 00 0. 00 0. 80 74.0 0.0 0. T4.0| 7 A7 7L b &%k
18. 0 26 18. 0 3. 40 0. 00 2. 00
Ve I ph B i 3.25 2. 00 0. 00 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /L b &k
18. 1 0 18. 0 3. 40 0. 00 0. 85
Ve I ph B T 3. 80 1.55 0. 00 2.45 78.0 0.0 0. 78.0| 7 A7 7L b A%k
18. 2 0 18. 78 3. 80 0. 00 1. 40
Ve R AR B T 3.25 0. 00 0. 00 0.75 0.0 0.0 5. 5.0 7 2 7 7 v Nagdk |sis
18. 2 78 18. 83 3.25 0. 00 1.15
Ve A 3. 40 0. 00 0. 00 2.25 116. 6 0.0 0. 116. 6|7 2 7 7 )L | &fidE
18. 2 83 18. 0 3.55 0. 00 3. 50
Ve A T 3.25 1. 40 0. 00 0.75 0.0 0.0 16. 16. 4|7 A 7 7 v NN (s
18. 4 0 18. 16 3.25 1. 40 0.75
P8 W B 3. 40 2. 80 0. 00 0.75 49.0 0.0 0. 49. 0|7 2 7 7 )L b
18. 4 16 18. 65 3.15 3. 30 0. 70
Ve R A 3.40 2. 80 0. 00 0.75 75. 0 0.0 0. 75. 07 A7 7L b A%k
18.4 65 18. 40 3.15 3. 30 0. 70
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Ve s IH A 3. 40 2.80 0. 00 0.75 62.0 0.0 0. 62. 0|7 2 7 7 )L L
18.5 40 18. 2 3.15 3.30 0.70
Ve A 3.25 2.20 0. 00 0.75 0.0 0.0 17. 17.0|7 A7 7 v W&t & wis
18. 6 2 18. 19 3.25 0. 00 0.75
P8 Wt B 3.25 2.05 0. 00 1.15 81.0 0.0 0. 81.0|7 27 7 /L ki
18. 6 19 18. 0 3.25 3. 30 0. 65
Ve R A 3.25 2.05 0. 00 1.15 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
18.7 0 18. 0 3.25 3. 30 0. 65
Ve AR B 3.20 1.70 0. 00 1. 30 30.0 0.0 0. 30. 0| 7 A7 7 )L b4k
18.8 0 18. 30 3.30 3.25 0. 80
Ve AR ol 3.25 1.50 0. 00 1. 00 0.4 0.0 10. 11.0| 7 A 7 7 )b MEHEE s
18. 8 30 18. 41 3.25 3. 00 1. 00
Ve I ph By T 3.20 1.70 0. 00 1. 30 59. 0 0.0 0. 59. 0| 7 A 7 7 )L b &%k
18. 8 41 18. 0 3. 30 3.25 0. 80
Ve I ph B T 3.30 1.20 0. 00 0.55 100. 0 0.0 0. 100. 0| 7 2 7 7 /L b &lidk
18.9 0 19. 0 3. 20 3. 40 0. 65
Ve b B T 3.25 1.80 0. 00 0.45 100. 0 0.0 0. 100. 0| 7 2 7 7 /b bk
19. 0 0 19. 0 3.25 2.10 2.75
Ve s A 3.35 2.35 0. 00 0. 40 40. 0 0.0 0. 40. 0|7 A2 7 7 L ik
19. 1 0 19. 40 3. 20 2.65 0. 60
Ve A T 3.25 1. 80 0. 00 0. 50 0.0 0.0 6. 6. 2|7 A7 7 v NS i
19. 1 40 19. 46 3.25 1. 80 0. 50
P8 W ph B 3.35 2.35 0. 00 0. 40 53.8 0.0 0. 53.8|7 2 7 7 /L kA
19. 1 46 19. 0 3.20 2. 65 0. 60
Ve A 3.35 2.35 0. 00 0. 40 60.0 0.0 0. 60. 0|7 A 7 7 /L b &k
19. 2 0 19. 60 3.30 2. 30 0. 60
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Vg b 3.25 2. 00 0. 00 0. 65 0.5 0.0 82. 83.0|7 27 7 L NElE st
19. 2 60 19. 43 3.25 1. 50 0. 65
Vg i 3.10 4. 50 0. 00 2. 40 57.0 0.0 0. 57.0| 7 A2 7 7 /b ik
19. 3 43 19. 0 3. 30 3.15 0.75
Vo7 Rk B T 3. 10 4. 50 0. 00 2. 40 100. 0 0.0 0. 100. 0|7 A 7 7 )L b &k
19. 4 0 19. 0 3.30 3.15 0.75
Ve R A 3.20 2.55 0. 00 1. 00 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
19.5 0 19. 0 3.30 3. 00 0. 70
Ve AR B 3.25 2. 90 0. 00 1. 10 100. 0 0.0 0. 100. 0| 7 A2 7 7 /b &k
19. 6 0 19. 0 3.25 3. 10 0. 80
Ve AR E 3.30 2. 10 0. 00 0. 45 100. 0 0.0 0. 100. 0| 7 2 7 7 /L &k
19.7 0 19. 0 3.25 2.65 0.75
Ve I ph B i 3.30 1.30 0. 00 0. 40 100. 0 0.0 0. 100. 0| 7 2 7 7 /L h&dk
19. 8 0 19. 0 3.25 1. 20 1.35
Ve I ph B T 3.25 2. 00 0. 00 0. 40 100. 0 0.0 0. 100. 0| 7 2 7 7 /L b &lidk
19.9 0 20. 0 3.35 1. 10 0.90
Ve I ph B T 3.25 2.20 0. 00 0. 40 100. 0 0.0 0. 100. 0| 7 2 7 7 /v bk
20.0 0 20. 0 3.25 0. 00 2.15
Vg b 3.30 2.20 0. 00 0.55 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
20. 1 0 20. 0 3.35 0. 00 2. 70
V8 i 3. 40 1. 80 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 )L it
20. 2 0 20. 0 3. 20 0. 00 2.50
Vo7 Rk B T 3.35 1.75 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 A 7 7 )L b &k
20. 3 0 20. 0 3.20 0. 00 2.75
Ve R A 3.30 1.65 0. 00 0.30 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
20. 4 0 20. 0 3.25 0. 00 3.75
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HOGE | A GE | oBER | B OF | B OB | hrxa & U it
Ve s IH A 3.25 1. 20 0. 00 0. 60 0.0 0.0 18. 18. 0|7 2 7 7 /v N [omis
20.5 0 20. 18 3.25 0. 00 0. 65
Ve A 3.30 1. 80 0. 00 0.55 82.0 0.0 0. 82.0|7 A7 7 )L Ik
20.5 18 20. 0 3. 20 0. 00 2.70
Vo7 Rk B T 3.30 1.80 0. 00 0.55 100. 0 0.0 0. 100. 0|7 A 7 7 )L b &k
20. 6 0 20. 0 3.20 0. 00 2. 70
Ve R A 3.05 1. 80 0. 00 0. 60 104. 0 0.0 0. 104. 0|7 A7 7 )L bl
20. 7 0 20. 4 3.45 0. 00 2.35
Ve AR B 3.25 2. 00 0. 00 0. 60 0.0 0.0 38. 38.0|7 A7 7 /L bAHEE [ Knris
20. 8 4 20. 42 3.25 0. 00 0. 60
Ve AR E 3.25 0. 00 0. 00 2.45 58.0 0.0 0. 58. 0| 7 A 7 7 /L k&t
20. 8 42 20. 0 3.25 0. 00 1.25
Ve I ph B i 3.25 0. 00 0. 00 2.45 100. 0 0.0 0. 100. 0| 7 2 7 7 /L b &k
20.9 0 21. 0 3.25 0. 00 1.25
Ve I ph B T 3.25 0. 00 0. 00 2. 30 100. 0 0.0 0. 100. 0| 7 2 7 7 /v b &lidk
21.0 0 21. 0 3. 30 0. 00 2.25
Ve b B T 3.25 0. 00 0. 00 2. 30 100. 0 0.0 0. 100. 0| 7 2 7 7 /v bk
21. 1 0 21. 0 3. 30 0. 00 1. 80
Ve A 3.25 0. 00 0. 00 2. 10 98.0 0.0 0. 98. 0|7 A 7 7 /L ks
21.2 0 21. 98 3. 30 0. 00 2. 40
Ve A T 3.25 0. 00 0. 00 0. 60 0.0 0.0 17. 17.0|7 2 7 7 v NN [Tkt
21.2 98 21. 15 3.25 0. 00 0. 60
P8 W B 3.25 0. 00 0. 00 2.10 85.0 0.0 0. 85. 0|7 2 7 7 /L I
21.3 15 21. 0 3.30 0. 00 2. 40
Ve R A 3.35 0. 00 0. 00 2.15 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
21. 4 0 21. 0 3.20 0. 00 1.35
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HOGE | A GE | oBER | B OF | B OB | hrxa 1 T M R i
Vg b 3.35 0. 00 0. 00 0.75 20.0 0.0 0.0 20. 0|7 27 7 )L EdE
21.5 0~ 21.5 20 3.25 0. 00 1. 30
Vg IR ph 25 3.35 0. 00 0. 00 0.75 80.0 0.0 0.0 80. O| /K ML
21.5 20 ~ 21.6 0 3.25 0. 00 1. 30
e R g 3.25 0. 00 0. 00 2. 20 112.0 0.0 0.0 112. O[HEZK L&l %S
21.6 0~ 21.7 12 3.30 0. 00 2. 10
Ve R A 3.25 0. 00 0. 00 0. 70 0.2 0.0 5.8 6. O|HEAK P& %E KT G
21.7 12 ~ 21.7 18 3.25 0. 00 0. 70
Ve AR B 3.20 0. 00 0. 00 1. 80 82.0 0.0 0.0 82. 0| HE/k M2k
21.7 18 ~ 21.8 0 3.30 0. 00 2.45
Ve AR E ol 3.25 0. 00 0. 00 2. 10 100. 0 0.0 0.0 100. O[HEAK PR Ef%E
21.8 0 ~ 21.9 0 3.30 0. 00 1.95
V7 AR B 3.25 0. 00 0. 00 2.45 97.0 0.0 0.0 97. 0| PE/k M2k
21.9 0 ~ 21.9 97 3.30 0. 00 1. 60
Ve R AR B 3.25 0. 00 0. 00 0.75 0.0 0.0 27.2 27. 2 HEAKMEE2E i) 1 A
21.9 97 ~ 22.0 14 3.25 0. 00 0.75
Ve b B T 3.25 0. 00 0. 00 1.55 75.8 0.0 0.0 75.8| 7 A7 7L bk
22.0 14 ~ 22. 1 0 3.30 0. 00 3.30
P8 W ph By 3.25 0. 00 0. 00 1.55 100. 0 0.0 0.0 100. O Pk Pk
22. 1 0~ 22. 2 0 3.30 0. 00 3.30
Mg L g g T 3.25 0. 00 0. 00 2.10 100.0 0.0 0.0 100. O HEA M &2
22. 2 0~ 22.3 0 3.30 0. 00 2. 30
e R R 3.25 0. 00 0. 00 2. 00 100. 0 0.0 0.0 100. OHEZKME&f%E
22.3 0 ~ 22. 4 0 3.30 0. 00 2.35
Ve R T 3.30 0. 00 0. 00 1.85 100. 0 0.0 0.0 100. O[HE7K P Ef%E
22. 4 0~ 22.5 0 3.25 0. 00 2.45
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8 A 3.25 0. 00 0. 00 2. 00 100. 0 0.0 0.0 100. O Pk Pk
22.5 0~ 22.6 0 3.25 0. 00 2. 40
Mo L g s T 3.25 0. 00 0. 00 1.10 100.0 0.0 0.0 100. O HEA M &2
22. 6 0 ~ 22. 7 0 3.30 0. 00 2. 50
e R g 3.25 0. 00 0. 00 2. 30 49.0 0.0 0.0 49. 0| Pk M2
22. 7 0~ 22.7 49 3.25 0. 00 1. 80
Vg B ph 5 3.25 0. 00 0. 00 1. 00 0.3 0.0 6.7 7. O|HEZK Ml 2
22. 7 49 ~ 22.7 56 3.25 0. 00 1. 00
Ve AR B 3.25 0. 00 0. 00 2. 30 44. 0 0.0 0.0 44. 0| FEak M2k
22. 7 56 ~ 22.8 0 3.25 0. 00 1. 80
Ve AR E ol 3.30 0. 00 0. 00 2.15 100. 0 0.0 0.0 100. O[HEAK PR Ef%E
22.8 0 ~ 22.9 0 3.25 0. 00 1.95
V7 AR B 3.35 0. 00 0. 00 1.75 116. 0 0.0 0.0 116. O HE/K ME&f %S
22.9 0 ~ 23.0 16 3.25 0. 00 1.75
Ve I ph B T 3.25 0. 00 0. 00 1.05 0.4 0.0 3.6 4.0 7 A7 7 v Mk |
23.0 16 ~ 23.0 20 3.25 0. 00 1. 05
Ve b B T 3.30 0. 00 0. 00 2.75 80. 0 0.0 0.0 80.0|7 A7 7 )L st
23.0 20 ~ 23. 1 0 3.30 0. 00 0. 80
Vg b 3.30 0. 00 0. 00 2. 60 66. 0 0.0 0.0 66.0|7 27 7 )L I EfE
23. 1 0 ~ 23. 1 66 3.25 0. 00 1.95
Vg IR ph 25 3.30 0. 00 0. 00 2. 60 54.0 0.0 0.0 54. O|HEK M LE
23. 1 66 ~ 23.2 20 3.25 0. 00 1.95
P8 W B 3.25 0. 00 0. 00 1.05 9.0 0.0 0.0 9. O HE/K LA %S
23.2 20 ~ 23.2 29 3.25 0. 00 1.05
Ve Ve T 3.30 0. 00 0. 00 1. 50 52.0 0.0 0.0 52. O[HEAK LSS
23.2 29 ~ 23.2 81 3.25 0. 00 1.10
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23.2 81 ~ 23.3 0 3.25 0. 00 1.10
N N ] 3. 30 0. 00 0. 00 1.40 25.0 0.0 0.0 25.0| 7 A7 7 )b gk
23.3 0 ~ 23.3 25 3.30 0. 00 1. 80
Ve Ve T 3.30 0. 00 0. 00 1. 40 75.0 0.0 0.0 75. 0| ek e
23.3 25 ~ 23. 4 0 3.30 0. 00 1. 80
Ve R T 3.30 0. 00 0. 00 1.90 100. 0 0.0 0.0 100. O HE7k M2
23. 4 0~ 23.5 0 3.30 0. 00 0. 70
Ve e T 3.30 5. 30 0. 00 0.65 100. 0 0.0 0.0 100. O|HEZKME&f%E
23.5 0 ~ 23.6 0 3.30 4.55 3.65
Ve R T 3.25 5.25 0. 00 0.70 100. 0 0.0 0.0 100. O|HE7K PR Ef%E
23.6 0 ~ 23.7 0 3.20 4. 65 5.70
Ve R A T 3.45 5. 50 0. 00 1.50 100. 0 0.0 0.0 100. O|HE7K ME&f%E
23. 7 0 ~ 23. 8 0 3.35 3.25 10. 00
Ve R A T 3.60 2. 00 2. 00 1.80 35.0 0.0 0.0 35.0| 7 A 7 7 /L b &%k
23. 8 0 ~ 23.8 35 3. 40 2. 00 1. 00
P S T 7.65 2.00 2.00 1. 00 0.1 0.0 11.9 12.0| 7 27 7 v NaidE [mrm
23. 8 35 ~ 23.8 47 8. 35 2. 00 1. 00
Ve WA T 3. 60 2.00 2. 00 1.00 53.0 0.0 0.0 53.0|7 A2 7 7 )L ik
23. 8 47 ~ 23.9 0 3. 40 2. 00 1. 00
Ve B T 3.50 2.45 2. 00 0.85 83.0 0.0 0.0 83.0|7 A7 7 /L ik
23.9 0~ 23.9 83 8. 00 2. 40 0.55
Ve Ve T 7.00 2.00 2. 00 1.50 1.6 0.0 13.4 15. 0|7 A 7 7 ) &S |G
23.9 83 ~ 23.9 98 7.00 2. 00 1. 50
Ve Ve T 3.55 1.85 2.15 1. 45 102. 0 0.0 0.0 102. 0|7 A7 7 )L bl
23.9 98 ~ 24. 1 0 3. 60 2.55 1. 45
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Ve e T 3.90 2.75 0. 00 1. 40 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bk
24. 1 0~ 24. 2 0 5.30 4. 65 1. 45
Ve B T 3.70 2.50 0. 00 0.75 27.0 0.0 0.0 27.0| 7 A7 7L bk
24. 2 0 ~ 24. 2 27 3.85 3. 00 1.70
Ve Ve T 4. 00 1.00 0. 00 2. 20 0.0 0.0 8.1 8. 1|7 A7 7 v M [N T e
24. 2 27 ~ 24. 2 35 3.10 2. 20 1. 00
Ve Ve T 3.70 2.50 0. 00 0.75 64.9 0.0 0.0 64.9|7 A7 7L ALk
24. 2 35 ~ 24. 3 0 3.85 3. 00 1.70
Ve e T 3.50 3.95 0. 00 1.45 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
24. 3 0 ~ 24. 4 0 3.70 3.15 1.35
Ve A T 3.55 2.45 0. 00 1.35 74.0 0.0 0.0 T4.0| 7 A7 7L b &%k
24. 4 0 ~ 24. 4 74 3.70 2. 70 1.35
Ve R A T 3.50 2.45 0. 00 1.50 0.6 0.0 19. 4 20.0(7 2 7 7 /v ML |2miE
24. 4 74 ~ 24. 4 94 3.50 2. 45 1. 50
Ve R A T 3.55 2.45 0. 00 1.30 106. 0 0.0 0.0 106. 0| 7 2 7 7 /L b &lidk
24. 4 94 ~ 24. 6 0 3.70 2. 60 1. 45
Ve B A T 3. 60 2. 60 0. 00 1. 40 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v bk
24. 6 0 ~ 24. 7 0 3.70 2. 70 1.35
Ve e T 3.55 2.90 0. 00 1.45 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bk
24. 7 0~ 24. 8 0 3.70 2. T4 1.35
Ve B T 3. 60 2.45 0. 00 1. 40 39.0 0.0 0.0 39. 0|7 A7 7L bk
24. 8 0~ 24. 8 39 3.70 1.85 1.70
Ve WV T 3.50 2.45 0. 00 1.50 0.1 0.0 21.9 22. 0|7 A7 7 )b ML |
24. 8 39 ~ 24. 8 61 3.50 2.45 1. 50
Ve Ve T 3.60 2.45 0. 00 1. 40 29.0 0.0 0.0 29. 0|7 A7 7L bk
24. 8 61 ~ 24. 8 90 3.70 1.85 1.70
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24. 8 90 25. 0 4. 05 3. 20 1.70
Ve B T 5. 00 3.30 0. 00 0.70 100. 0 0.0 0. 100. 0|7 A2 7 7 )L ik
25. 0 0 25. 0 3.70 2. 77 0. 65
Ve Ve T 3.50 3. 10 0. 00 2.05 0.0 0.0 24, 24.0(7 2 7 7 /v MM s
25. 1 0 25. 24 3.50 3. 10 2.05
Ve Ve T 3.55 2. 20 0. 00 1.55 76. 0 0.0 0. 76. 0|7 A7 7 /L b A%k
25. 1 24 25. 0 3. 45 2. 80 1.55
Ve e T 3.55 2. 20 0. 00 1.55 82.0 0.0 0. 82.0|7 A7 7 )L M
25. 2 0 25. 82 3. 45 2. 80 1.55
Ve R T 3.50 1. 40 0. 00 1.05 0.9 0.0 341. 342.0[ 7 A2 7 7 /v MaEE [mrEmses
25. 2 82 25. 25 3.50 1. 40 1. 00
Ve R A T 3.50 1. 40 0. 00 1.05 75.0 0.0 0. 75.0| 7 A7 7L b
25. 6 25 25. 0 3.50 0.95 1. 05
Ve R A T 4. 20 3.25 2.95 1.60 100. 0 0.0 0. 100. 0| 7 2 7 7 /L b &lidk
25. 7 0 25. 0 6. 45 3. 70 1. 70
Ve B A T 4. 20 3.25 2.95 1.60 100. 0 0.0 0. 100. 0| 7 2 7 7 /v bk
25. 8 0 25. 0 6. 45 3. 70 1.70
Ve e T 6. 55 2.80 11.05 1.45 25.0 0.0 0. 25.0(7 2 7 7 /v Mk
25.9 0 25. 25 6. 65 3.15 1.35
Ve B 7.00 3.50 0. 00 3.05 0.0 0.0 17. 17.2|7 27 7 v Mk [mass
25.9 25 25. 42 7.00 3. 50 3.15
Ve Ve T 6. 55 2. 80 11.05 1.45 6.8 0.0 0. 6.8|7 A7 7 v ML
25.9 42 25. 49 6. 65 3.15 1.35
Ve Ve T 7.00 4. 00 0. 00 2. 65 0.3 0.0 13. 14. 0|7 A7 7 )b M (ot
25.9 49 25. 63 7.00 3. 50 2. 65
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HOGE | A GE | oBER | B OF | B OB | hrxa & T M R
Ve e T 6. 55 2. 80 11.05 1.45 37.0 0.0 0. 37.0|7 27 7 )L ik
25.9 63 26. 0 6. 65 3.15 1.35
B A 6. 50 3. 00 8.20 1. 50 100. 0 0.0 0. 100. 0|7 2 7 7 )L it
26. 0 0 26. 0 6. 45 3. 20 0.75
Ve Ve T 6. 50 2. 90 4. 60 1. 50 100. 0 0.0 0. 100. 0| 7 2 7 7 /b Rk
26. 1 0 26. 0 6. 50 5. 60 1.55
Ve Ve T 6. 50 2. 50 9.50 1. 50 97.0 0.0 0. 97.0| 7 A7 7 /L bk
26. 2 0 26. 97 6. 50 2.45 1. 60
Ve e T 6. 50 3. 50 8. 00 2.75 0.0 0.0 18. 18.0| 7 A 7 7 )b MEHEE [pavits
26. 2 97 26. 15 6. 50 3. 50 2.75
Ve R T 6. 60 4. 00 2. 00 0. 70 85.0 0.0 0. 85.0|7 A7 7 )L i
26. 3 15 26. 0 6. 70 1.70 0. 60
Ve R A T 6. 60 4. 00 2. 00 0.70 100. 0 0.0 0. 100. O|HE7KME&h%E
26. 4 0 26. 0 6. 70 1. 70 0. 60
Ve R A T 6. 65 1.95 2. 00 0.95 100. 0 0.0 0. 100. O HEAC M &2
26.5 0 26. 0 6. 65 1.65 0. 65
Ve B A T 6. 65 2.25 2. 00 0.65 100. 0 0.0 0. 100. O|HE/K P& %S
26. 6 0 26. 0 6. 60 1.65 0. 70
Ve e T 6.75 1.95 2. 00 0.85 80. 0 0.0 0. 80. O[HEAK M
26. 7 0 26. 80 6. 45 1. 70 0. 70
Ve B 6. 20 4.10 0.45 0.65 120.0 0.0 0. 120. O PEA M &2
26. 7 80 26. 0 6. 10 2. 20 2. 20
Ve RV T 6. 60 2.70 1.85 0.70 100. 0 0.0 0. 100. OHEAKME&f%E
26. 9 0 27. 0 6. 60 2. 20 0.75
Ve R T 6. 50 2.75 2.10 0.75 100. 0 0.0 0. 100. O HE7k M2
27.0 0 27. 0 6. 60 2. 70 0. 70
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HOGE | A GE | oBER | B OF | B OB | hrxa 1 T M R B
Ve e T 6. 50 2.75 2. 00 0. 80 100. 0 0.0 0. 100. OHEKPEEH%E
27.1 0 27. 0 6. 55 2.25 0. 70
Ve B T 6. 50 2.70 2. 05 0.75 54.0 0.0 0. 54. 0|7 A 7 7 )L itk
27.2 0 27. 54 6. 45 2. 05 0.75
Ve Ve T 6. 50 3.70 2. 00 0. 80 0.4 0.0 11. 12.0| 7 27 7 )b MEE [mats
27.2 54 27. 66 6. 50 3. 70 0. 80
Ve Ve T 6. 50 2. 70 2.05 0.75 34.0 0.0 0. 34. 07 A7 7 /L b A%k
27.2 66 27. 0 6. 45 2.05 0.75
Ve e T 6. 40 2.95 0. 00 0. 60 100. 0 0.0 0. 100. 0| 7 A2 7 7 /b &k
27.3 0 27. 0 7.15 3.15 0.55
Ve R T 6. 15 2. 90 0. 95 0. 65 100. 0 0.0 0. 100. 0| 7 2 7 7 /L &k
27. 4 0 27. 0 5.95 3. 20 0. 60
Ve R A T 5. 90 2.85 0. 50 0.55 100. 0 0.0 0. 100. 0| 7 2 7 7 /L h&dk
27.5 0 27. 0 5.90 3. 10 0. 60
Ve R A T 5.80 3. 00 0.75 0.55 80. 0 0.0 0. 80.0|7 A7 7 )L EfdE
27.6 0 27. 80 5.90 3. 10 0. 60
Ve B T 0. 00 0. 00 0. 00 0. 00 216.0 0.0 0. 216. 0|7 2 7 7 /b Nad%E s
27.6 4 27. 20 3.85 1. 40 2. 20
Ve WA T 3.75 1.55 0. 00 2.25 204. 0 0.0 0. 204. 0|7 A2 7 7 )b EHEE (i
27.6 16 27. 20 0. 00 0. 00 0. 00
Ve B T 6. 50 0. 00 0.90 0.25 93.9 0.0 0. 93.9|7 A7 7L bk
27.6 80 27. 74 6. 50 0. 00 0.25
Ve RV T 6. 50 0. 00 1.00 0.25 0.0 0.0 249. 249. 1|7 A 7 7 /b M | s AR EseE
27.17 74 28. 13 6. 50 0. 00 0.25
Ve Ve T 0. 00 0. 00 0. 00 0. 00 337.0 0.0 0. 337.0|7 A7 7 /L MEHEE [
27.8 20 28. 57 3. 60 1.35 2. 40
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HOGE | A GE | oBER | B OF | B OB | hrxa & U it

Ve e T 3. 60 1. 45 0. 00 2. 45 360. 0 0.0 0. 360. 0|7 A 7 7 /L MEHEE (s
27.8 20 28. 80 0. 00 0. 00 0. 00

Ve B T 6. 40 0. 00 1.00 0. 40 92.0 0.0 0. 92. 0|7 A7 7L bk
28. 0 13 28. 5 6. 40 0. 00 0. 40

Ve Ve T 6. 60 1.20 2. 40 2. 10 95.0 0.0 0. 95. 0|7 A7 7 )L bk
28. 1 5 28. 0 7.00 1. 60 1. 80

Ve Ve T 6. 60 1. 20 2. 40 2.10 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
28. 2 0 28. 0 7.00 1. 60 1. 80

Ve e T 7.00 1.50 2. 00 1.70 100. 0 0.0 0. 100. 0| 7 A2 7 7 /b &k
28. 3 0 28. 0 7.00 1.55 1.75

Ve R T 7.00 1.50 2. 00 1.70 100. 0 0.0 0. 100. 0| 7 2 7 7 /L &k
28. 4 0 28. 0 7.00 1.55 1.75

Ve R A T 7.00 1.50 1.95 1.75 125.0 0.0 0. 125.0[ 7 2 7 7 /L &k
28.5 0 28. 25 7.00 1. 65 1.65

Ve R A T 7.00 5. 80 2. 00 1.70 75.0 0.0 0. 75.0| 7 A7 7L b A%
28. 6 25 28. 0 7.05 1.55 1. 20

Ve B T 7.00 5. 80 2. 00 1.70 100. 0 0.0 0. 100. 0| 7 2 7 7 /b bk
28. 7 0 28. 0 7.05 1.55 1. 20

Ve WA T 7.05 1.80 1.90 1.70 100. 0 0.0 0. 100. 0| 7 2 7 7 /b bk
28. 8 0 28. 0 7.00 1. 50 1.75

Ve B T 7.20 1.85 2. 05 1.50 28.0 0.0 0. 28.0|7 A 7 7L bk
28. 9 0 28. 28 7.50 1.55 1. 20

Ve Ve T 8. 00 2. 10 1.00 0. 50 0.1 0.0 34. 35.0|7 A7 7 v NEHEE (A e
28. 9 28 28. 63 9. 50 2. 10 0. 50

Ve Ve T 7.20 1.85 2.05 2.50 24.0 0.0 0. 24. 0|7 A7 7 )L bk
28. 9 63 28. 87 7.50 2.55 1. 20
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HOGE | A GE | oBER | B OF | B OB | hrxa 1 T M R B
Ve e T 9.50 2.10 0. 50 0.50 0.2 0.0 28.8 29.0|7 A7 7L NEHEE | Stk
28. 9 87 ~ 29. 0 16 8. 00 2. 10 0. 50
Ve B T 7.00 2.30 1.90 1.70 84.0 0.0 0.0 84. 0|7 A7 7L kit
29. 0 16 ~ 29. 1 0 7.00 2. 10 1.70
Ve Ve T 7.00 2. 30 1.90 1.70 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b Rk
29. 1 0~ 29. 2 0 7.00 2. 10 1.70
Ve Ve T 7.00 2. 80 2. 00 0.55 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
29. 2 0~ 29. 3 0 6. 55 1.95 0. 60
Ve e T 7.00 2. 80 2. 00 0. 60 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
29. 3 0 ~ 29. 4 0 6. 65 2. 80 0.55
Ve R T 7.20 2.85 1.10 0. 65 65. 0 0.0 0.0 65.0|7 A7 7 )L Ll
29. 4 0 ~ 29. 4 65 7.00 3. 65 0. 60
Ve R A T 7.20 2.85 1.10 0. 65 35.0 0.0 0.0 35.0| 7 A7 7 )L b &%k
29. 4 65 ~ 29.5 0 7.00 3.85 0. 60
Ve R A T 7.45 2. 60 2. 70 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L b &lidk
29.5 0 ~ 29. 6 0 7.00 2. 85 0. 60
Ve B A T 6. 80 1.65 0. 00 0.55 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v bk
29. 6 0 ~ 29. 7 0 6. 95 2.75 0. 60
Ve e T 6. 90 3.35 1.85 1.85 100. 0 0.0 0.0 100. 0|7 2 7 7 /b bk
29. 7 0 ~ 29. 8 0 6. 65 3. 50 1. 50
Ve B 0.00 0. 00 0. 00 0.00 590. 0 0.0 0.0 590. 07 2 7 7 )L Ma#E (s
29. 7 20 ~ 30. 3 10 3.50 2. 60 1. 45
Ve Ve T 4. 40 2.95 0. 00 0. 90 592. 0 0.0 0.0 592. 07 A 7 7 )b ML [
29. 7 52 ~ 30. 3 44 0. 00 0. 00 0. 00
Ve Ve T 6. 50 0. 00 1. 00 0. 00 102. 0 0.0 0.0 102. 0|7 A7 7 )L bl
29. 8 0~ 29.9 2 6. 55 0. 00 0. 00
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HOGE | A GE | oBER | B OF | B OB | hrxa & T M R
Ve e T 6. 50 0. 00 0. 00 0.75 0.0 0.0 248. 248. 0|7 A2 7 7 /b NEELE |shi s
29. 9 2 30. 46 6. 50 0. 00 0.75
B A 6. 50 0. 00 0. 80 0. 50 82.0 0.0 0. 82.0|7 A7 7 )L Ik
30. 1 46 30. 28 6. 45 0. 00 0. 50
Ve Ve T 6. 50 0. 00 0. 80 0. 50 72.0 0.0 0. 72.0| 7 A7 7 /b bk
30. 2 28 30. 0 6. 45 0. 00 0. 50
Ve Ve T 6. 45 1. 90 2.05 0. 60 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
30.3 0 30. 0 6. 70 2. 10 0. 50
Ve e T 6. 45 2. 30 2. 30 0. 80 100. 0 0.0 0. 100. 0| 7 A2 7 7 /b &k
30. 4 0 30. 0 6. 50 2.35 0. 85
Ve R T 6. 60 1.80 2. 00 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /L &k
30.5 0 30. 0 6. 65 2. 40 0. 65
Ve R A T 6. 50 1.80 2. 05 0. 70 100. 0 0.0 0. 100. 0| 7 2 7 7 /L b &k
30. 6 0 30. 0 6. 65 1.85 0.70
Ve B T 6. 70 1. 80 2. 00 0. 60 125.0 0.0 0. 125.0( 7 2 7 7 /v halidk
30. 7 0 30. 25 6. 70 1.75 0. 70
Ve B T 6. 75 3. 20 1.95 0.70 85. 0 0.0 0. 85.0|7 A7 7 )L gk
30.8 25 30. 10 6. 80 2.25 0. 70
Ve WA T 6.75 3. 40 0. 50 0. 60 90. 0 0.0 0. 90. 07 2 7 7 /L Mlidk
30.9 10 31. 0 6. 65 2. 60 0. 70
Ve B T 6. 60 3.10 0. 50 0.85 15.0 0.0 0. 15. 0|7 2 7 7 /L sk
31.0 0 31. 15 6. 60 3. 65 0.75
Ve Ve T 6. 60 2. 60 0.50 0.75 0.0 0.0 11. 11.0|7 A7 7V bl [smess
31.0 15 31. 26 6. 50 2. 10 1. 29
Ve Ve T 6. 60 3.10 0. 50 0.85 74.0 0.0 0. 74.0(7 A7 7 /b b A%
31.0 26 31. 0 6. 60 3.65 0.75
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Ve e T 6. 60 4. 80 0. 60 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bk
31.1 0~ 31.2 0 6. 55 3.05 0.75

N N ] 6. 60 2.10 2. 00 0.90 100.0 0.0 0.0 100. 0|7 A 7 7 )b bk
31.2 0 ~ 31.3 0 6. 50 2. 40 0. 70

Ve Ve T 6. 60 2.15 2. 00 0. 70 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b Rk
31.3 0~ 31.4 0 6. 65 2. 20 0. 70

Ve Ve T 6. 55 2. 00 1.95 1. 00 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
31. 4 0~ 31.5 0 6. 55 1.85 0. 70

Ve e T 6. 55 1.95 2. 00 0.75 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
31.5 0 ~ 31.6 0 6. 40 2. 10 0. 80

Ve R T 6. 50 2.15 2. 00 0. 90 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L &k
31.6 0 ~ 31.7 0 6. 60 1.75 0. 70

Ve R A T 6. 50 2.15 2. 00 0. 90 94. 0 0.0 0.0 94. 0|7 A7 7 )L Ml
31.7 0 ~ 31.7 94 6. 60 1.75 0. 70

Ve R A T 6. 80 1. 20 2. 00 1.00 0.0 0.0 9.4 9. 4|7 27 7 ML s
31.7 94 ~ 31.8 3 6. 80 1. 20 1. 00

Ve B A T 6. 50 2.55 2. 00 0.75 96. 6 0.0 0.0 96. 6|7 A7 7 )L
31.8 3 ~ 31.9 0 6. 50 1. 80 0. 80

Ve e T 6. 50 2.55 2. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 /b bk
31.9 0 ~ 32.0 0 6. 50 1. 80 0. 80

1A B T 6. 00 2.05 0.55 0.90 21.0 0.0 0.0 21.0| 7 A7 7 )b Mgk
32.0 0~ 32.0 21 6. 00 2. 00 0. 80

Ve Ve T 6. 50 1.30 0. 50 1.15 0.0 0.0 9.0 9.0|7 27 7 v M [irmpds
32.0 21 ~ 32.0 30 6. 50 2. 30 1.15

Ve Ve T 6. 00 2.05 0.55 0.90 28.0 0.0 0.0 28. 0|7 A7 7 /L bk
32.0 30 ~ 32.0 58 6. 00 2. 00 0. 80
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HOGE | A GE | oBER | B OF | B OB | hrxa & U it
Ve e T 6. 00 2.05 0. 55 0.90 24.0 0.0 0. 24.0(7 27 7 v Mk
32.0 58 32. 82 6. 00 2. 00 0. 80
B A 6. 00 2.05 0.55 0. 90 18.0 0.0 0. 18. 0|7 2 7 7 /b it
32.0 82 32. 0 6. 00 2. 00 0. 80
Ve Ve T 6. 40 1.45 2. 00 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /b Rk
32. 1 0 32. 0 6. 55 1. 50 0. 80
Ve Ve T 6. 50 2.25 2. 00 0.90 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
32.2 0 32. 0 6. 55 1. 45 0. 80
Ve e T 6. 50 1.35 2. 00 0. 80 100. 0 0.0 0. 100. 0| 7 A2 7 7 /b &k
32.3 0 32. 0 6. 50 2. 40 0. 80
Ve R T 6. 50 1.75 1.35 0. 70 50. 6 0.0 0. 50. 6|7 A7 7L b &%k
32. 4 0 32. 52 6. 60 1. 40 0.95
Ve R A T 6. 50 2.45 0. 00 1.20 0.0 0.0 516. 516. 4|7 2 7 7 b MafSE s
32. 4 52 32. 67 6. 50 2. 00 1.25
Ve B Nk 6. 50 2. 10 2. 00 0.75 133.0 0.0 0. 133.0[ 7 2 7 7 /v hadk
32.9 67 33. 0 6. 55 2.25 0. 80
Va8 WL N T 6. 55 1.75 2. 00 0.70 100. 0 0.0 0. 100. 0|7 A7 7 )L b &tk
33.1 0 33. 0 6. 55 2.15 0.75
Ve B Nk T 6. 40 1.65 0. 90 0. 65 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
33.2 0 33. 0 6. 55 2.20 0.70
Ve B Nk T 6. 60 2.15 2. 00 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L it
33.3 0 33. 0 6. 60 1. 70 0. 85
Ve IR N 6. 60 2. 40 2. 00 0. 70 100. 0 0.0 0. 100. 0| 7 2 7 7 /b ik
33. 4 0 33. 0 6. 55 2. 50 0. 80
Ve R N 6. 55 2.25 2. 00 0. 80 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
33.5 0 33. 0 6. 55 1.75 0. 80
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Ve B Nk T 6. 60 2.35 1. 90 0. 80 100. 0 0.0 0.0 100. 0|7 2 7 7 )L | Efide
33.6 0~ 33.7 0 6. 60 1. 60 0. 70
Ve B Nk T 6. 65 2.15 2. 00 0. 80 113.0 0.0 0.0 113.0|7 27 7 )L ik
33.7 0 ~ 33.8 13 6. 60 1. 60 0. 70
Ve IR N 6. 60 1.55 1.80 0. 80 87.0 0.0 0.0 87.0|7 A7 7 )L bk
33.8 13 ~ 33.9 0 6. 55 2. 30 0.75
Ve R N 6. 50 0. 00 1. 10 0. 80 87.0 0.0 0.0 87.0|7 A7 7 /L k&t
33.9 0~ 34.0 0 6. 80 0. 00 0.95
Ve /N 4. 40 2.35 0. 00 1. 40 640. 0 0.0 0.0 640. 0|7 A 7 7 /L b &HEE [
33.9 15 ~ 34.5 67 0. 00 0. 00 0. 00
P8 W/ N T 0.00 0. 00 0. 00 0. 00 673.0 0.0 0.0 673. 0|7 A7 7 /b b EHEE | im
33.9 28 ~ 34.6 13 3. 60 2.35 1. 90
VA8 B Nk T 6. 60 0. 00 1. 00 0.15 107.0 0.0 0.0 107.0|7 27 7 )L bl
34.0 0 ~ 34. 1 7 6. 60 0. 00 0.15
Vs L N T 4.00 3.80 0. 00 1.00 0.0 0.0 16.3 16. 3|7 A7 7 /v M#EE [fEFr) 1 546
34. 1 7 ~ 34. 1 23 0. 00 0. 00 0. 00
Vs L INgR T 6. 00 0. 00 1.00 0.50 0.2 0.0 268. 8 269. 0|7 A 7 7 )b NEHEE | H4msemm
34. 1 7 ~ 34.3 75 6. 00 0. 00 0. 50
P8 L INgR T 3. 60 3.70 0. 00 1.00 0.0 0.0 7.9 1.9(7 27 7 v M [ 2 546
34. 1 54 ~ 34. 1 62 0. 00 0. 00 0. 00
Ve B Nk T 3.50 2. 00 0. 00 0. 80 0.0 0.0 8.5 8.5|7 27 7 Mt [immrimig
34.2 41 ~ 34. 2 44 4. 00 0. 00 0. 80
Ve IR N 6. 65 0. 00 1.00 0.15 127. 1 0.0 9.9 137.0|7 A7 7 )b NE#i%E |7k 1 546
34.3 75 ~ 34.5 12 6. 65 0. 00 0.15
P R N 3.50 3. 80 0. 00 1. 00 0.0 0.0 9.9 9.9[7 A7 7 /v MNiiZE %1 518 (s kv)
34.3 75 ~ 34.5 12 0. 00 0. 00 1. 00
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Ve B Nk T 0. 00 0. 00 0. 00 1. 00 0.0 0.0 9. 9.9[7 27 7 v Mai%E (g1 25 s FY)
34.3 75 34. 12 3.50 3. 80 1. 00
Ve B Nk T 6. 65 0. 00 1. 00 1. 00 0.0 0.0 11. 11.0|7 27 7 /v MaidE [Hig2 o
34.5 12 34. 23 6. 15 0. 00 1. 00
Ve IR N 7.00 0. 00 2. 00 0. 50 77.0 0.0 0. T7.0| 7 A7 7 /b bk
34.5 23 34. 0 7.00 0. 00 0.75
Ve R N 7.00 2.05 2. 00 0. 45 145. 0 0.0 0. 145. 0|7 A7 7 )L bl
34.6 0 34. 45 6. 95 2. 50 0. 65
Ve /N 6. 50 3.25 2. 30 1. 00 0.0 0.0 8. 8.0 7 A7 7 v M v 1 24
34.7 45 34. 53 6. 50 3. 00 1. 00
P8 W/ N T 7.00 2.05 2. 00 0.45 47.0 0.0 0. 47.0(7 A7 7 v Mt
34.7 53 34. 0 6. 95 3.35 0. 65
Ve BNk 6. 60 2.05 0. 00 0. 40 56. 0 0.0 0. 56.0[7 A7 7 /L bk
34.8 0 34. 56 6. 95 2. 65 0. 60
Ve F Nk T 6. 50 3.20 3.10 1. 00 0.0 0.0 6. 6. 0|7 A7 7 )b MEEEE [vor 2 546
34.8 56 34. 62 6. 50 2. 45 1. 00
Va8 WL N T 6. 60 2.05 0. 00 0. 40 38.0 0.0 0. 38.0|7 A7 7 )L %k
34.8 62 34. 0 6. 95 2. 65 0. 60
Ve B Nk T 6. 55 2.50 0.55 0.55 64. 0 0.0 0. 64. 0|7 27 7 )L EdE
34.9 0 34. 64 6. 50 2. 70 0.75
P8 B NR T 6. 50 2.70 0. 00 1.25 0.0 0.0 260. 260. 0|7 A 7 7 )b NEBEE | =B A a5
34.9 64 35. 27 6. 50 2. 50 1. 00
Ve IR N 6. 70 3.35 2. 00 0. 70 73.0 0.0 0. 73.0| 7 A7 7 /L bk
35.2 27 35. 0 6. 55 2.55 0. 85
P R N 6. 70 3.35 2. 00 0.70 41.0 0.0 0. 41.0|7 A7 7 )L b &k
35.3 0 35. 41 6. 55 2.55 0. 85
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P W N T 6. 50 3.25 2. 00 0.75 0.0 0.0 10.0 10. 0|7 2 7 7 v Nk (s
35.3 41 ~ 35.3 51 6. 50 3.25 0.75

P 1B N 6. 70 2.35 2. 00 0. 70 49.0 0.0 0.0 49. 0|7 A7 7 )L Ik
35.3 51 ~ 35. 4 0 6. 55 2.55 0. 85

Ve B/ Nk T 6. 50 2.25 0. 70 0.55 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v &k
35. 4 0~ 35.5 0 6. 50 2. 40 0. 65

Ve W/ Nk T 6. 60 2. 40 2. 00 0.95 100. 0 0.0 0.0 100. 0| 7 =2 7 7 /b sk
35.5 0~ 35.6 0 6. 60 2. 40 0. 70

Ve /N 6. 60 2. 50 2. 00 0. 70 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
35. 6 0 ~ 35. 7 0 6. 55 2. 20 0. 80

Ve BN 6. 40 2.25 1. 50 0.90 100. 0 0.0 0.0 100. 0|7 2 7 7 )L b Eifidk
35.7 0 ~ 35. 8 0 6. 55 2. 30 0. 65

Ve BNk 6. 50 2.45 2.00 0. 60 100. 0 0.0 0.0 100. 0|7 2 7 7 )L bl
35.8 0 ~ 35.9 0 6. 50 2. 50 0.55

Ve B Nk 6. 60 2. 40 2. 00 0. 80 112.0 0.0 0.0 112. 0|7 2 7 7 /v b alidk
35.9 0 ~ 36.0 12 6. 55 2. 40 0. 80

Va8 WL N T 6. 50 3.25 2. 00 0.75 0.2 0.0 8.8 9.0|7 A7 7 )b hEHEE |kl
36. 0 12 ~ 36.0 21 6. 50 3.25 0.75

P 1B N 6.55 2.45 2. 00 0.75 79.0 0.0 0.0 79.0| 7 2 7 7 )b s
36. 0 21 ~ 36. 1 0 6. 50 2. 50 0. 80

P 1B N 6. 65 2.45 2. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
36. 1 0 ~ 36. 2 0 6. 60 2. 60 0. 80

Ve IR N 6. 50 2. 40 2. 00 0. 70 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b Rk
36. 2 0~ 36. 3 0 6. 60 2.45 0. 65

Ve B/ Nk T 6. 50 2. 40 1.90 0. 60 100. 0 0.0 0.0 100. 0| 7 =2 7 7 /L sk
36.3 0~ 36. 4 0 6. 45 2.25 0. 70

39 /76 R—T




|

i
=
A
&
I

HARL 0034 BB

e B HE R
S (BB B0, TBE: T YA m m ¥ 1 O FEAH fisi
HOGE | A GE | oBER | B OF | B OB | hrxa i U it B

Ve B Nk T 6. 50 2. 40 1. 90 0. 60 100. 0 0.0 0.0 100. 0|7 2 7 7 )L | Efide
36. 4 0 ~ 36.5 0 6. 45 2.25 0.70

Ve B Nk T 6. 50 2. 40 2. 00 0. 65 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
36.5 0 ~ 36.6 0 6. 45 2.45 0. 60

Ve B/ Nk T 6. 55 1.90 2. 00 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v &k
36.6 0~ 36. 7 0 6. 50 1. 60 0.75

Ve W/ Nk T 6. 55 1.90 2. 00 0.75 100. 0 0.0 0.0 100. 0| 7 =2 7 7 /b sk
36. 7 0~ 36. 8 0 6. 50 1. 60 0.75

Ve /N 6. 60 2.95 2. 00 0. 70 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
36.8 0 ~ 36.9 0 6. 55 2.55 0.95

Y =MIN 6. 50 3.25 2.00 0.75 0.0 0.0 41.0 41.0|7 A7 7 /b MAHLE [ mE
36.9 0 ~ 36.9 41 6. 50 3.25 0.75

Ve B Nk T 6. 50 2.50 2.05 0.75 64.0 0.0 0.0 64. 0|7 A 7 7 /L b
36.9 41 ~ 37.0 5 6. 50 2. 50 0.75

Ve W N T 6. 50 2. 50 2. 05 0.75 95.0 0.0 0.0 95. O[HEAKMEEEE
37.0 5 ~ 37. 1 0 6. 50 2. 50 0.75

P8 Nk T 6. 50 2.50 2.00 0. 70 100. 0 0.0 0.0 100. O[HEA M &k
37.1 0 ~ 37.2 0 6. 50 2.85 0.75

P8 H Nk T 6. 50 1. 60 2. 00 0.55 100. 0 0.0 0.0 100. O[HEA M Ak
37.2 0 ~ 37.3 0 6. 50 2.20 0.75

P W/ N T 6. 50 1.95 3.00 0. 60 100. 0 0.0 0.0 100. O[HEAME &AL
37.3 0 ~ 37.4 0 6. 50 6. 20 0. 50

VB IR N 6. 50 2.35 2. 05 0.75 100. 0 0.0 0.0 100. OHEKPE&H%E
37. 4 0~ 37.5 0 6. 50 2.35 0. 60

P R N 6. 50 2. 40 2. 05 0.75 100. 0 0.0 0.0 100. 0| HE7k M2
37.5 0~ 37.6 0 6. 50 2.15 0. 80

40 / 76 R—2




|

A
=
R
=
T

HARL 0034 BB

e B HE R
S (BB B0, TBE: T YA m m & T D FE A fisi
HOGE | A GE | oBER | B OF | B OB | hrxa 1 U it B
Ly =WIN 6. 50 2. 70 2. 00 0. 70 105. 0 0.0 0.0 105. O|HEAK M &k
37.6 0~ 37.7 5 6. 50 2. 80 0. 65
P8 B NR T 6. 50 2.35 2. 00 1.00 0.4 0.0 14. 6 15. O|HEAC P& 2 BTG
37.7 5 ~ 37.7 20 6. 50 2. 30 1. 20
VB IR N 6. 50 2.25 1. 90 0.75 93.0 0.0 0.0 93. O|HEA P Al 2k
37.7 20 ~ 38. 4 0 6. 50 2. 60 0. 70
Ve R N 6. 50 2.45 2.20 0.95 100. 0 0.0 0.0 100. O HE7k M2
38. 4 0 ~ 38.5 0 6. 50 2. 10 0. 50
Ve /N 6. 50 2.45 2.20 0.95 100. 0 0.0 0.0 100. 0| HE7k P2
38.5 0 ~ 38.6 0 6. 50 2. 10 0. 50
P RN 6. 50 2.70 3.20 0.85 100. 0 0.0 0.0 100. O|HE7KPEEf%E
38.6 0 ~ 38. 7 0 6. 50 2.35 0.55
VA8 B Nk T 7.00 2.50 0. 00 1.25 0.3 0.0 20. 7 21. O HEak M2k LREVN
38.7 0 ~ 38.7 20 0. 00 0. 00 0. 00
Ve L N T 7.00 2. 50 0. 00 1.25 0.0 0.0 148.0 148. 0|7 A7 7 )b b&HEE 4 khm
38.7 20 ~ 38.8 63 0. 00 0. 00 0. 00
Vs W INR T 7.00 3.35 4.00 1.50 42.0 0.0 0.0 42.0(7 A7 7 v Mk
38.8 63 ~ 38.9 0 7.00 1.55 0.95
Ve B Nk T 7.00 3.35 4. 00 1. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L | Efide
38.9 0 ~ 39.0 0 7.00 1.55 0.95
Ve B Nk T 7.00 3. 40 2.35 1. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
39.0 0~ 39. 1 0 7.00 3. 70 1. 40
P IR N 6. 60 3.30 2. 00 1. 00 110.0 0.0 0.0 110. 0| 7 2 7 7 /b ik
39. 1 0~ 39. 2 10 7.00 3. 70 1.52
Ve IR N 6. 60 2.95 1. 00 0.50 20.0 0.0 0.0 20. 0|7 A7 7 )L bk
39.2 10 ~ 39. 2 30 7.00 3.25 1.53

4/76 R—2




|

i
=
A
&
I

HARL 0034 BB

g = HE R
ES (BB B0, TBE: T YA m m ¥ 1 O FEAH
HOGE | A GE | oBER | B OF | B OB | hrxa i U it B

A= WIN ] 6. 60 2. 60 1. 00 1.55 70. 0 0.0 0.0 70. 0|7 2 7 7 /L NdidE
39.2 30 ~ 39.3 0 7. 00 3.25 0. 50

P 1B N 7.00 3.20 2.00 1.55 100. 0 0.0 0.0 100. 0|7 2 7 7 L [ e
39.3 0 ~ 39. 4 0 7. 00 4.70 1.55

Ve B/ Nk T 7.00 3.20 2. 00 1.55 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v &k
39. 4 0 ~ 39.5 0 7. 00 4.70 1.55

Ve W/ Nk T 7.00 3.30 2. 00 1.50 100. 0 0.0 0.0 100. 0| 7 =2 7 7 /b sk
39.5 0 ~ 39. 6 0 7. 00 3.70 1. 45

Ve /N 7.00 3.65 2. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
39. 6 0 ~ 39.7 0 7. 00 3. 65 1. 50

Ve BN 7.00 3.50 0. 50 0.70 100. 0 0.0 0.0 100. 0|7 2 7 7 /L |k aide
39.7 0 ~ 39.8 0 7. 00 3. 65 0.75

Ve BNk 7.00 3.70 2.05 1. 50 85.0 0.0 0.0 85.0|7 A 7 7 /L bk
39.8 0 ~ 39.8 85 6. 60 3. 60 0.70

Ve B Nk 7.00 3.05 2. 05 2.05 30.0 0.0 0.0 30. 0| 7 A 7 7 /L b &%k
39.8 85 ~ 39.9 15 7. 00 3.50 0. 50

Vs W INR T 7.00 3.25 2. 05 0.50 85.0 0.0 0.0 85.0(7 A7 7 /v sk
39.9 15 ~ 40. 0 0 7.00 3. 00 1.35

P 1B Nk T 7.30 3.25 1. 60 1. 20 100. 0 0.0 0.0 100. 0|7 2 7 7 v R édidE
40. 0 0 ~ 40. 1 0 7. 00 3.70 1.35

P 1B N 7.30 3.40 2.00 1.15 100. 0 0.0 0.0 100. 0|7 2 7 7 L | e
40. 1 0 ~ 40. 2 0 7. 00 3.65 1. 45

P IR N 7.00 3. 50 2. 05 1. 50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b Rk
40. 2 0 ~ 40. 3 0 7. 00 2.25 1. 50

Ve W/ Nk T 7.00 3. 50 2.05 1.50 100. 0 0.0 0.0 100. 0| 7 =2 7 7 /b &k
40. 3 0 ~ 40. 4 0 7. 00 2.25 1. 50

42 /76 R—2




|

A
=
R
=
T

HARL 0034 BB

g = E R
ES (B Bofll, FE::H 1) m m ¥ 1 O FEAH
HOGE | A GE | oBER | B OF | B OB | hrxa i U it B

A= WIN ] 7.00 3.50 2.05 1. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 L | édidE
40. 4 0 ~ 40. 5 0 7. 00 3.70 1. 50

P 1B N 7.00 3.65 2.05 1. 50 100. 0 0.0 0.0 100. 0|7 2 7 7 L [ e
40. 5 0 ~ 40. 6 0 7. 00 3.65 1. 50

Ve B/ Nk T 7.00 3.55 2.05 1.50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v &k
40. 6 0 ~ 40. 7 0 7. 00 3.45 1. 50

Ve W/ Nk T 7.00 3.55 2.55 1.00 110. 0 0.0 0.0 110. 0| 7 2 7 7 /b ik
40. 7 0 ~ 40. 8 0 7. 00 3.85 0.85

Ve /N 7.00 3. 40 0.10 0.75 80.0 0.0 0.0 80. 0|7 A 7 7 /L k&t
40. 8 0 ~ 40.8 80 7. 00 2. 70 0.75

Ve 1B N 7.00 3.50 2.05 0.50 130. 0 0.0 0.0 130. 0|7 2 7 7 /L haidE
40.8 80 ~ 41.0 0 7. 00 2.50 0. 50

P R N 7.00 4.20 1. 80 0.95 100. 0 0.0 0.0 100. 0|7 2 7 7 /L ke
41.0 0 ~ 41. 1 0 7.00 3.50 0. 80

Ve B Nk 7.00 3. 65 0.55 0. 80 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v b &lidk
41. 1 0 ~ 41.2 0 7.00 3.55 0.75

Vs L INgR T 7.00 3.80 2. 05 1.30 100. 0 0.0 0.0 100. 0|7 A7 7 )L b &tk
41.2 0 ~ 41.3 0 7.00 4. 25 1. 45

P 1B N 7.00 3.50 0.25 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 L | édidE
41.3 0 ~ 41. 4 0 7. 00 4. 05 0.75

P 1B N 7.00 4.20 2.00 1. 45 110. 0 0.0 0.0 110. 0|7 2 7 7 L R dide
41. 4 0 ~ 41.5 10 7. 00 3.95 1. 45

S A B RR VL AL BT 7.00 4.05 1.95 1.55 40.0 0.0 0.0 40. 0|7 2 7 7 )L b
41.5 10 ~ 41.5 50 7. 00 4.25 1. 45

Ve R AT S BB VL AL RT 7.00 3.45 1.95 0. 50 50.0 0.0 0.0 50. 0|7 A 7 7 /L b Ak
41.5 50 ~ 41.6 0 7. 00 4. 00 1. 00

43 / 76 R—2




I

i

=
A
%

R
R4 1 0034 g
g = HE R
ES (BB B0, TBE: T YA m m ¥ 1 O FEAH fifi
HOGE | A GE | oBER | B OF | B OB | hrxa & U it

Ve WA B AR AL T 7.00 3.75 0. 40 0.70 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
41.6 0 ~ 41. 0 7. 00 9. 30 0.72

Ve A SRR AL T 7.00 2.30 2. 00 1.15 100. 0 0.0 0. 100. 0| 7 2 7 7 /v &k
41.7 0 ~ 41. 0 7. 00 4.10 1. 30

18 R B BB VL AL T 7.00 2.20 2.00 1.55 100. 0 0.0 0. 100. 0|7 2 7 7 )L it
41.8 0 ~ 41. 0 7. 00 2.15 1. 50

Ve R AT S BB VL AL RT 10. 50 3.85 0. 00 1. 30 109. 0 0.0 0. 109. 0|7 A7 7 )L bl
41.9 0 ~ 42. 20 11. 20 2.20 0.75

Ve AT By BRI AL BT 7.00 0. 00 0. 00 1.25 57.0 0.0 0. 57.0(7 A7 7 /b bk
42.0 20 ~ 42. 77 7. 00 0. 00 1.25

P AT SRRV AL T 7.00 0. 00 0. 00 1.25 0.0 0.0 360. 360. 0| 7 2 7 7 )b MAHEE |emEsss
42.0 77 ~ 42. 37 0. 00 0. 00 0. 00

VB A B RRTL AL T 7.00 2. 50 0. 00 1.25 0.0 0.0 297. 297. 0|7 A 7 7 /b MEHEE |1emsimsets
42. 4 37 ~ 42. 34 0. 00 0. 00 0. 00

Ve A B RRIL AL T 6. 50 2.55 2. 20 0.75 66. 0 0.0 0. 66.0|7 A7 7 )L EfdE
42.7 34 ~ 42. 0 6. 50 3.55 1.25

Ve WA B AR AL T 6. 50 2.35 2. 20 0.70 100. 0 0.0 0. 100. 0| 7 2 7 7 /v bk
42.8 0 ~ 42. 0 6. 50 3.55 1.25

Ve WA B AR AL T 6. 50 2.35 2. 20 0.70 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
42.9 0 ~ 43. 0 6. 85 3.55 3.75

Ve WA SRR AL T 4. 05 2.15 1.85 0. 60 100. 0 0.0 0. 100. 0| 7 2 7 7 /v &k
43.0 0 ~ 43. 0 6. 80 3. 60 2.95

18 R B BB VL AL T 7.00 5.10 1. 40 1. 40 100. 0 0.0 0. 100. 0|7 2 7 7 )L it
43. 1 0 ~ 43. 0 7. 00 3.55 1. 50

Ve R AT B BB VL AL RT 7.00 2.05 2.50 0. 70 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
43.2 0 ~ 43. 0 7.05 3. 00 0. 80

44 / 76 R—2




I

i

=
A
%

R
R4 1 0034 g
g = HE R
ES (BB B0, TBE: T YA m m ¥ 1 O FEAH fifi
HOGE | A GE | oBER | B OF | B OB | hrxa & U it
Ve WA B AR AL T 7.00 2. 60 1.05 0.55 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
43.3 0 ~ 43. 0 7. 00 4.10 0.70
Ve A SRR AL T 7.50 2.15 1.50 0. 60 33.0 0.0 0. 33.0|7 &2 7 7 L ik
43. 4 0 ~ 43. 33 7.05 3. 60 1.15
8 IR AT B ARV AL RT 7.50 2.15 1. 50 0. 60 167.0 0.0 0. 167.0|= 27 U — bt
43. 4 33 ~ 43. 0 7.05 3. 60 1.15
Ve R AT B BB VL AL RT 7.00 2.05 1.55 1.35 100. 0 0.0 0. 100. 0[= > 27 U — b
43.6 0 ~ 43. 0 7.05 3.55 1. 20
Ve AT By BRI AL BT 7.00 3.75 0.55 0. 70 100. 0 0.0 0. 100. 0[ = > 7 U — hast
43.7 0 ~ 43. 0 7.05 3. 60 0.70
Ve AT By BRI AL BT 7.00 3. 10 0. 10 0.75 100. 0 0.0 0. 100. 0[ =27 U — hAfi%E
43.8 0 ~ 43. 0 7. 00 5. 80 1.05
VB A B RRTL AL T 6. 50 3. 50 0.35 0. 70 100. 0 0.0 0. 100. 0f == > 7 U — h&fZE
43.9 0 ~ 44, 0 7. 00 3.50 2.35
Ve A B RRIL AL T 4. 00 4.05 0. 10 1.20 100. 0 0.0 0. 100. 0| 7 2 7 7 /L b &lidk
44.0 0 ~ 44, 0 7.10 3.50 6. 45
Ve WA B AR AL T 3.50 5. 90 0. 00 0.70 100. 0 0.0 0. 100. 0| 7 2 7 7 /v bk
44. 1 0 ~ 44, 0 3. 50 0. 00 0.55
Ve WA B AR AL T 3. 60 3. 40 0. 00 0.75 84.3 0.0 0. 84. 3|7 A7 7 )L EdE
44. 2 0 ~ 44, 85 3.55 0. 00 1. 65
Ve WA SRR AL T 3.50 0. 00 0. 00 0.75 0.0 0.0 428. 428. 7|7 A 7 7 v NEEE sy e
44. 2 85 ~ 44. 13 3. 50 0. 00 0. 50
P R B RRTT AL ET 0. 00 0. 00 0. 00 0.00 395.0 0.0 0. 395.0(7 A 7 7 )L ML [
44. 6 28 ~ 45. 8 3.25 4. 05 1. 45
Ve R AT B BB VL AL RT 3.15 4. 30 0. 00 1.55 472.0 0.0 0. 472.0| 7 A2 7 7 /b NEEEE |
44. 6 31 ~ 45. 31 0. 00 0. 00 0. 00

45 / 76 R—




— FEOE KON E
R4 1 0034 g
g = HE R
ES (BB B0, TBE: T YA m m ¥ 1 O FEAH fifi
HOGE | A GE | oBER | B OF | B OB | hrxa & U it
Ve WA B AR AL T 3. 60 0. 00 0. 00 0. 65 63.9 0.0 23. 87.0(7 27 7 /v MadE Lt
44.7 13 ~ 44, 0 3. 50 0. 00 2. 70
Ve A SRR AL T 3. 60 0. 00 0. 00 0. 65 65. 4 0.0 34. 100. 0|7 2 7 7 /v NadE |51
44. 8 0 ~ 44. 0 3. 50 0. 00 2. 70
18 L B BB VL AL T 3. 60 0. 00 0. 00 0. 80 79.0 0.0 0. 79.0(7 27 7 /L bk
44.9 0 ~ 44. 79 3. 50 0. 00 0.55
Ve R AT B BB VL AL RT 10. 25 3.55 0. 00 2. 80 23.0 0.0 0. 23.0|7 A7 7L bk
44.9 79 ~ 45. 1 10. 25 3. 40 2. 40
Ve AT By BRI AL BT 3.50 0. 00 1.55 1. 00 97.0 0.0 0. 97.0| 7 A7 7 /L b &Lk
45.0 1 ~ 45. 30 3. 50 4.15 4. 70
P AT SRRV AL T 7.00 3. 50 0. 00 2. 00 35.0 0.0 0. 35.0| 7 A7 7L b &%k
45.0 30 ~ 45. 39 7. 00 3.50 1.75
Ve A B RRTL AL T 3.50 2. 65 0. 00 1. 00 64. 0 0.0 0. 64.0|7 A7 7 )L Ll
45.0 39 ~ 45. 56 3. 50 6. 85 2.95
Ve A B RRIL AL T 3.50 2. 65 0. 00 0. 50 106. 0 0.0 0. 106. 0| 7 2 7 7 /L b &lidk
45.0 56 ~ 45. 87 3. 50 6. 85 0. 50
Ve WA SRR ALHT 3.25 1. 90 0. 00 0. 50 0.4 0.0 10. 11.0|7 A7 7 )b Mt [mesTim
45.0 87 ~ 45. 89 3.25 0. 00 0. 50
Ve WA B AR AL T 3.30 2.15 0. 00 0.55 43.0 0.0 0. 43.0|7 A7 7 )L EdE
45.0 89 ~ 45. 0 3.25 0. 00 1.85
Ve WA SRR AL T 3.30 2.15 0. 00 0.55 78.6 0.0 0. 78.6|7 A 7 7L sk
45. 1 0 ~ 45. 79 3.25 0. 00 1.85
18 L B BB VL AL T 3.25 2.00 0. 00 0.55 0.0 0.0 8. 8. 4|7 A7 7 v MEEEE [wmiE
45. 1 79 ~ 45. 87 3.25 0. 00 0.75
Ve R AT B BB VL AL RT 3.30 2.20 0. 00 0.55 113.0 0.0 0. 113.0|7 A7 7 )L bl
45. 1 87 ~ 45. 0 3. 20 0. 00 2.45

46 / 76 R—2




g X & kA
R4 1 0034 g
g B HE R
ES (BB B0, TBE: T YA m m ¥ 1 O FEAH fifi
HOGE | A GE | oBER | B OF | B OB | hrxa i U it B

Ve WA B AR AL T 3.35 2. 20 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
45.3 0 ~ 45. 0 3. 20 0. 00 1.85

Ve A SRR AL T 3.30 2.15 0. 00 0.55 100. 0 0.0 0. 100. 0| 7 2 7 7 /v &k
45. 4 0 ~ 45. 0 3.25 0. 00 1. 65

18 R B BB VL AL T 3. 30 2.20 0. 00 0. 45 115.0 0.0 0. 115. 0|7 2 7 7 )L it
45.5 0 ~ 45. 15 3. 30 0. 00 1. 45

Ve R AT S BB VL AL RT 3.35 2.30 0. 00 0. 50 85.0 0.0 0. 85. 0|7 A7 7 /L bk
45. 6 15 ~ 45. 0 3. 30 0. 00 1.85

Ve AT By BRI AL BT 3.20 2.25 0. 00 0.55 49.0 0.0 0. 49. 0|7 A 7 7 )L bk
45.7 0 ~ 45. 49 3.35 0. 00 1.15

= H PN 3.25 0. 00 0. 00 4. 50 0.0 0.0 3. 3.0[ 7 A7 7 v ML |mats
45.7 49 ~ 45. 52 3.25 0. 00 5.25

Ve A B RO RTHY 3.25 0. 00 0. 00 1.35 73.0 0.0 0. 73.0| 7 A7 7L b A%k
45.7 52 ~ 45. 25 3.25 3.15 0.55

Ve A B RO RT Y 3.25 0. 00 0. 00 1.35 75.0 0.0 0. 75.0| 7 A7 7L b A%
45.8 25 ~ 45. 0 3.25 3.15 0. 50

Ve WA B RSO T HT 3.25 0. 00 0. 00 0. 90 100. 0 0.0 0. 100. 0| 7 2 7 7 /v bk
45.9 0 ~ 46. 0 3.25 0.75 1. 00

Ve A B RS K BT HT 3.25 0. 00 0. 00 1.70 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
46.0 0 ~ 46. 0 3.25 0. 00 1. 70

V8 WA S AR R T HT 3.25 0. 00 0. 00 1.50 100. 0 0.0 0. 100. 0| 7 2 7 7 /v &k
46. 1 0 ~ 46. 0 3.25 0. 00 2.30

178 WA IS5 BB R T HT 3.25 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0| 7 2 7 7 /b Rk
46. 2 0 ~ 46. 0 3.25 0. 00 1. 10

P IR AT I B O BT BT 3.25 0. 00 0. 00 1. 20 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
46. 3 0 ~ 46. 0 3.25 0. 00 1. 20

47 / 76 R—




I

i

=

R
%

R
HARA 0034 HE
g B HE R
S (BB B0, TBE: T YA m m ¥ 1 O FEAH fifi
HOGE | A GE | oBER | B OF | B OB | hrxa & U it

Ve A B RS OR BT HT 3.25 0. 00 0. 00 0.95 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
46. 4 0 ~ 46. 0 3.25 0. 00 1. 80

V8 A S AR R T HT 3.30 0. 00 0. 00 0. 80 100. 0 0.0 0. 100. 0| 7 2 7 7 /v &k
46. 5 0 ~ 46. 95 3.25 0. 00 2.10

78 WA IS5 BB K T HT 3.30 0. 00 0. 00 0.95 0.0 0.0 2. 2.6|7 A7 7 v MadLE [1mests
46. 5 95 ~ 46. 97 3. 30 0. 00 1. 45

V78 A IS5 BB T T 3.25 0. 00 0. 00 1.70 102. 4 0.0 0. 102. 4|7 A7 7 )L bl
46. 5 97 ~ 46. 0 3.25 0. 00 3.00

Ve AT S BB T T 3.25 0. 00 0. 00 1.90 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
46. 7 0 ~ 46. 0 3.25 0. 00 2.30

P VA I R KT T 3.25 0. 00 0. 00 1. 50 100. 0 0.0 0. 100. 0| 7 2 7 7 /L b &k
46. 8 0 ~ 46. 0 3.25 0. 00 2.20

VB8 A B R ORI 3.25 0. 00 0. 00 1.15 69. 0 0.0 0. 69.0|7 A7 7 )L EfdE
46.9 0 ~ 47. 0 3.25 0. 00 1. 60

Ve A B RS KT HY 3.30 2.75 0. 00 1.15 100. 0 0.0 0. 100. 0| 7 2 7 7 )L b &lidk
47.0 0 ~ 47. 0 3. 30 0. 00 2.95

Ve WA B RS OR T HT 3.25 2. 60 0. 00 0.75 136. 0 0.0 0. 136. 0|7 2 7 7 /L bk
47. 1 0 ~ 47. 36 3.25 0. 00 1. 10

Ve A B RSO BT HT 3.25 2. 00 0. 00 0.45 0.5 0.0 7. 8. O|HEAK A 4k B
47.2 36 ~ 47. 44 3.25 0. 00 0. 50

Ve A 5 BB R T HT 3.25 3.15 0. 00 0.75 56. 0 0.0 0. 56. O|HEA &2
47.2 44 ~ 47. 0 3. 30 0. 00 3.10

VB8 WA S5 BB R T HT 3.30 3.65 0. 00 0. 90 40. 0 0.0 0. 40. 0| sk M2
47.3 0 ~ 47. 40 3.10 0. 00 4.15

78 A IS5 BB K T T 3.30 3.65 0. 00 0.90 60.0 0.0 0. 60. 0|7 A7 7 /L b &k
47.3 40 ~ 47. 0 3.10 0. 00 4.15

48 / 76 R—<




I

i

=
A
%

R
R4 1 0034 B8
e B HE R
S (BB B0, TBE: T YA m m ¥ 1 O FEAH fifi
HOGE | A GE | oBER | B OF | B OB | hrxa & U it

Ve A B RS OR BT HT 3.35 2.55 0. 00 0.75 100. 0 0.0 0. 100. 0|7 2 7 7 )L | Efide
47. 4 0 ~ 47. 0 3. 20 0. 00 0.85

V8 A S AR R T HT 3.35 2.25 0. 00 0. 65 100. 0 0.0 0. 100. 0| 7 2 7 7 /v &k
47.5 0 ~ 47. 0 3.25 0. 00 1. 30

78 WA IS5 BB K T HT 3.35 1.35 0. 00 0.85 100. 0 0.0 0. 100. 0| 7 2 7 7 /b Rk
47.6 0~ 47. 0 3.25 0. 00 1. 40

V78 A IS5 BB T T 3.30 1.65 0. 00 0.70 39.0 0.0 0. 39.0[7 27 7 /L bk
47.7 0~ 47. 39 3.30 0. 00 1.45

Ve VA KT s BR R BT T 3.30 1. 65 0. 00 0.70 11.0 0.0 0. 11 O HEAK A%
47.7 39 ~ 47. 50 3.30 0. 00 1.45

P VAT I R KT HT 3.30 1.65 0. 00 0. 70 50. 0 0.0 0. 50. 0| 7 A 7 7 )L &%k
47.7 50 ~ 47. 0 3.30 0. 00 1.45

Ve A B RO RTHY 3.35 1.80 0. 00 0. 65 63.0 0.0 0. 63.0|7 A7 7 )L EfdE
47.8 0 ~ 47. 63 3. 40 0. 00 1. 45

Ve A B RO RT Y 3.25 1.50 0. 00 0. 00 1.5 0.0 2. 4.0|7 A7 7 v MaEE (mam
47.8 63 ~ 47. 67 3.25 0. 00 0. 00

Ve WA S RSO T HT 3.30 2.55 0. 00 0. 65 133.0 0.0 0. 133.0[ 7 2 7 7 /v bk
47.8 67 ~ 48. 0 3. 30 0. 00 1.85

Ve A B RSO BT HT 3.25 1.95 0. 00 0. 65 108. 0 0.0 0. 108. 0|7 2 7 7 )L | Efide
48.0 0 ~ 48. 8 3.25 0. 00 2.25

78 WA 5 RO T HT 3.25 1.80 0. 00 0. 60 0.0 0.0 2. 2.7\ 7 27 7 v FaEE [mss
48. 1 8 ~ 48. 10 3.25 0. 00 0. 40

B8 A IS5 BB R T HT 3.25 1.65 0. 00 0. 70 89. 3 0.0 0. 89. 3|7 A7 7L bk
48. 1 10 ~ 48. 0 3.25 0. 00 1.10

V78 A IS5 BB T T 3.25 2. 40 0. 00 0. 65 109. 4 0.0 0. 109. 4|7 A7 7 )L bl
48. 2 0~ 48. 10 3.25 0. 00 2.15

49 / 76 R—<




I

i

=
A
%

R
R4 1 0034 B8
g B HE R
S (BB B0, TBE: T YA m m ¥ 1 O FEAH fifi
HOGE | A GE | oBER | B OF | B OB | hrxa & U it
Ve A B RS OR BT HT 3.25 0. 00 0. 00 1.60 0.0 0.0 4. 4.6|7 27 7 NEEE e
48.3 10 ~ 48. 14 3.25 0. 00 1.25
Ve A SRR T HT 3.30 0. 00 0. 00 1.75 110. 4 0.0 0. 110. 4|7 2 7 7 v Mk
48.3 14 ~ 48. 25 3.25 0. 00 2.95
78 A S5 BB R T HT 3.25 1.50 0. 00 0. 60 0.0 0.0 12. 12. 6|7 27 7L ML [mas
48.4 25 ~ 48. 37 3.25 2. 00 0.75
P IR AT I B BT BT 3.30 2. 00 0. 00 0. 60 63.0 0.0 0. 63. 0|7 A7 7 /L b &Lk
48. 4 37 ~ 48. 0 3.25 2. 60 0.70
Ve VA KT s BR R BT T 3.30 2. 00 0. 00 0. 60 152. 0 0.0 0. 152. 0|7 A7 7 )L b il
48.5 0 ~ 48. 52 3.25 2. 60 0.70
= H PN 3.25 1.50 0. 00 0. 45 0.6 0.0 5. 6.0[7 A7 7 /v MEHEE [ e
48. 6 52 ~ 48. 58 3.25 2.50 0. 45
Ve A B RO RTHY 3.30 0. 00 0. 00 1.05 102.0 0.0 0. 102. 0| 7 2 7 7 /L b &k
48. 6 58 ~ 48. 60 3. 30 0.95 0. 45
Ve A B RO RT Y 3.30 0. 00 0. 00 2. 80 40. 0 0.0 0. 40. 0|7 A7 7 )L b EfdE
48.7 60 ~ 48. 0 3.25 1.25 0.55
Ve WA B RS OR T HT 3.30 0. 00 0. 00 2. 80 86. 0 0.0 0. 86.0|7 A7 7 )L EfdE
48.8 0 ~ 48. 86 3.25 1.25 0.55
Ve A B RS OR BT HT 3.25 0. 00 0. 00 1.10 0.6 0.0 2. 3.0|7 27 7 v MEE e
48.8 86 ~ 48. 89 3.25 2. 00 0. 50
78 WA 5 RO T HT 3.25 0. 00 0. 00 1.50 113.0 0.0 0. 113. 0|7 =2 7 7 /v ek
48.8 89 ~ 49. 0 3.25 2.35 0. 45
788 WA IS5 BB R T HT 3.35 0. 00 0. 00 1. 20 100. 0 0.0 0. 100. 0| 7 2 7 7 /b Rk
49.0 0 ~ 49. 0 3. 30 3. 00 0. 50
P IR AT I B O BT BT 3.35 0. 00 0. 00 1. 20 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
49. 1 0 ~ 49. 0 3. 30 3. 00 0. 50

50/ 76 R—




|

A
=
R
=
T

HARL 0034 BB

e B HE R
S (BB B0, TBE: T YA m m ¥ 1 O FEAH fifi
HOGE | A GE | oBER | B OF | B OB | hrxa i U it B
Ve A B RS OR BT HT 3.30 0. 00 0. 00 0.75 25.0 0.0 0.0 25.0|7 27 7 )L EdE
49. 2 0 ~ 49. 2 25 3.25 2.70 0. 50
V8 A S AR R T HT 3.30 0. 00 0. 00 0.75 85. 6 0.0 0.0 85. 6[HEAMES 2
49. 2 25 ~ 49.3 11 3.25 2. 70 0. 50
78 WA IS5 BB K T HT 3.25 0. 00 0. 00 1. 40 0.0 0.0 4.4 4. A\ HERPEAf %R e
49. 3 11 ~ 49. 3 15 3.25 2.55 0. 50
P IR AT I B BT BT 3.30 0. 00 0. 00 1. 10 85.0 0.0 0.0 85. O|HEAK 1 &l 2
49. 3 15 ~ 49. 4 0 3.25 2.35 0. 50
Ve VA KTy BR R BT T 3.30 0. 00 0. 00 2.20 26.0 0.0 0.0 26. O|HEA &l 2
49. 4 0 ~ 49.4 26 3.30 2. 90 0. 45
P VA I R KT T 3.30 0. 00 0. 00 2.20 59. 0 0.0 0.0 59. 0| 7 A 7 7 )L &%k
49.4 26 ~ 49. 4 85 3.30 2. 90 0. 45
Ve A B RO R Y 3. 00 1.55 0. 00 1. 50 0.8 0.0 2.2 3.0|7 A7 7 )b bEREE | s
49.4 85 ~ 49. 4 88 3. 00 0. 00 0. 50
Ve A B AR KT Y 3.25 0. 00 0. 00 1.00 112.0 0.0 0.0 112. 0|7 2 7 7 /v bk
49.4 88 ~ 49. 6 0 3. 30 2. 70 0. 50
Ve WA B R R RTHT 3.25 0. 00 0. 00 0.95 105. 0 0.0 0.0 105. 0|7 2 7 7 /b bk
49. 6 0 ~ 49. 7 5 3. 20 2. 00 0. 50
Ve A B RSO BT HT 3.25 0. 00 0. 00 1.25 0.3 0.0 2.7 3.0|7 27 7 v MEEE e g
49.7 5 ~ 49. 7 8 3.25 1.95 0.25
Ve A 5 BB R T HT 3.35 0. 00 0. 00 2.30 90. 0 0.0 0.0 90.0[7 =2 7 7 /L ek
49.7 8 ~ 49.7 98 3. 30 2. 00 0.55
VB8 WA S5 BB R T HT 3.35 0. 00 0. 00 0. 70 0.4 0.0 2.6 3.0|7 A7 7L MEEEE st
49. 7 98 ~ 49. 8 1 3.35 2.15 0.35
V78 A IS5 BB T T 3.30 0. 00 0. 00 0.75 99.0 0.0 0.0 99. 0|7 A7 7 /L b &%k
49. 8 1 ~ 49. 9 0 3.30 2. 10 0. 45

51/ 76 R—




|

A
=
R
=
T

HARL 0034 BB

e B HE R
S (BB B0, TBE: T YA m m & T D FE A fisi
HOGE | A GE | oBER | B OF | B OB | hrxa 1 T M R B

Ve A B RS OR BT HT 3.25 0. 00 0. 00 3.90 90. 0 0.0 0.0 90. 0|7 27 7 )L ik
49. 9 0~ 49.9 90 3.25 2. 05 0. 50

V8 A S AR R T HT 3.50 0. 00 0. 00 1.75 2.0 0.0 2.0 4.0| 7 27 7 v FEEEE s
49. 9 90 ~ 49. 9 94 3.00 2.25 0.25

Ve W T 3.25 0. 00 0. 00 3.40 98. 3 0.0 0.0 98. 3|7 A7 7 )L bk
49. 9 94 ~ 50. 0 97 3.25 2. 50 0. 45

Ve W e T 3.30 0. 00 0. 00 2.30 0.0 0.0 2.7 2.7\ 7 A7 7 M [mats
50. 0 97 ~ 50. 0 99 3.30 2.05 0. 40

Ve W e 3.30 0. 00 0. 00 2. 30 78.3 0.0 0.0 78.3| 7 AT 7L Rk
50. 0 99 ~ 50. 1 78 3.25 1. 80 0. 70

Ve W e 3.30 0. 00 0. 00 0. 45 0.0 0.0 2.7 2.7\ 7 A7 7 ML (e
50. 1 78 ~ 50. 1 80 3.30 0. 00 0. 65

Ve W T 3.25 0. 00 0. 00 2. 50 113.6 0.0 0.0 113. 67 2 7 7 /L sk
50. 1 80 ~ 50. 2 94 3.25 1. 40 1. 70

Ve W e T 3.25 0. 00 0. 00 2.50 1.0 0.0 0.0 1. O FEAK P i 2
50. 2 94 ~ 50. 2 95 3.25 1. 40 1.70

Ve R e T 3.25 0. 00 0. 00 0.45 0.0 0.0 5.4 5. 4| HEAKMEE S FRIHE
50. 2 95 ~ 50. 3 0 3.25 2. 00 0. 45

Ve R e T 3.25 0. 00 0. 00 1.75 22.0 0.0 0.0 22. O[HEAK PSR
50. 3 0 ~ 50. 3 22 3.25 2. 30 0.55

e R e T 3.25 0. 00 0. 00 0. 50 0.3 0.0 6.7 7. O|HEAK M A A
50. 3 22 ~ 50. 3 29 3.25 2. 00 0. 50

Ve R e T 3.25 0. 00 0. 00 0. 50 0.0 0.0 1.0 LO|7 A7 7 )v NE%E [stmmis
50. 3 29 ~ 50. 3 30 3.25 2. 00 0. 50

Ve R 3.25 0. 00 0. 00 1.75 52.0 0.0 0.0 52. 07 A7 7 /L b Ak
50. 3 30 ~ 50. 3 82 3.25 2. 30 0.55

52 /76 R—




|

A
=
R
=
T

HARL 0034 BB

e B HE R
S (BB B0, TBE: T YA m m & T D FE A fisi
HOGE | A GE | oBER | B OF | B OB | hrxa 1 U it B
Ve R e 3.25 0. 00 0. 00 1.75 18.0 0.0 0.0 18. O| P/ P
50. 3 82 ~ 50. 4 0 3.25 2. 30 0.55
Ve R e 3.30 0. 00 0. 00 1.25 78.0 0.0 0.0 78. O|HEK M4
50. 4 0 ~ 50. 4 78 3.25 2. 30 0. 55
P8 IR e T 3.30 0. 00 0. 00 1.10 0.0 0.0 2.0 2. O|HE/K MLl %% WA
50. 4 78 ~ 50. 4 80 3.30 2. 30 0. 50
Ve W e T 3.25 0. 00 0. 00 1.95 79.0 0.0 0.0 79. O[HEAKPEE#EE
50. 4 80 ~ 50. 5 59 3.25 2.05 0. 50
Ve W e 3.30 0. 00 0. 00 2.15 0.0 0.0 2.0 2. O|HEAK PR & %E WA
50. 5 59 ~ 50. 5 61 3.30 2. 30 0. 45
Ve W e 3.30 1.70 0. 00 1.05 106. 0 0.0 0.0 106. O|HEKPEEf%E
50. 5 61 ~ 50. 6 67 3.30 2.05 0. 45
Ve W T 3.25 2. 00 0. 00 0. 50 0.9 0.0 17.1 18. O|BEAK A% e S
50. 6 67 ~ 50. 6 85 3.25 1. 50 0.75
Ve W e T 3.30 0. 00 0. 00 2.85 115.0 0.0 0.0 115.0[ 7 2 7 7 )b halidk
50. 6 85 ~ 50. 8 0 3.30 1. 50 0. 30
Ve e T 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v bk
50. 8 0 ~ 50. 9 0 3.30 0. 00 1.10
Ve R e T 3.30 0. 00 0. 00 1.15 123.8 0.0 0.0 123. 87 2 7 7 /v Ak
50. 9 0~ 51.0 24 3.25 0. 00 1.55
Ve R e 3.30 0. 00 0. 00 0.55 0.0 0.0 2.2 2.2|7 A7 7 Nl |ma s
51.0 24 ~ 51.0 26 3.30 0. 00 1.85
Ve W e T 3.25 0. 00 0. 00 2.25 74.0 0.0 0.0 T4.0| 7 A7 7 /L b sk
51.0 26 ~ 51.1 0 3.25 0. 00 1.70
Ve W e T 3.40 1.70 0. 00 0.30 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
51.1 0~ 51.2 0 3.25 0. 00 1.35

53/ 76 R—




I

i

=

paul
=
I

R
HARA 0034 HE
e B HE R
S (BB B0, TBE: T YA m m ¥ 1 O FEAH fisi
HOGE | A GE | oBER | B OF | B OB | hrxa & U it
Ve R e 3.30 0. 00 0. 00 1.00 10.0 0.0 0. 10. 0|7 2 7 7 /L hEili%k
51.2 0~ 51. 10 3.25 0. 00 1. 40
Ve R e 3.30 0. 00 0. 00 1.00 90. 0 0.0 0. 90. O[HEAMES 2
51.2 10 ~ 51. 0 3.25 0. 00 1. 40
P8 IR e T 3.30 0. 00 0. 00 1.70 37.0 0.0 0. 37. OBk e
51.3 0~ 51. 37 3.25 0. 00 1. 40
Ve W e T 3.30 0. 00 0. 00 1.70 23.0 0.0 0. 23. 0|7 A7 7L bk
51.3 37 ~ 51. 60 3.25 0. 00 1. 40
Ve W e 3.25 0. 00 0. 00 1.25 0.8 0.0 2. 3.0[ 7 A7 7 v ML 1wt
51.3 60 ~ 51. 63 3.25 0. 00 1. 00
Ve W e 3.30 0. 00 0. 00 1.70 37.0 0.0 0. 37.0| 7 A7 7L b &%k
51.3 63 ~ 51. 0 3.25 0. 00 1. 40
Ve W T 3.25 1. 40 0. 00 1.10 125.9 0.0 0. 125.9(7 2 7 7 /b sk
51.4 0 ~ 51. 26 3.25 2. 10 1.15
Ve W T 3.25 1. 62 0. 00 0. 50 0.0 0.0 7. 7. 1|7 A7 7 v M s mm
51.5 26 ~ 51. 33 3.25 1. 42 0. 50
Ve e T 3.25 0. 00 0. 00 3.22 110.9 0.0 0. 110. 97 2 7 7 /v bk
51.5 33 ~ 51. 44 3.25 2. 00 0. 90
Ve R e T 3.25 0. 00 0. 00 1.50 0.0 0.0 2. 2. 1|7 27 7 MEHEE s
51.6 44 ~ 51. 46 3.25 0. 00 1. 50
Ve R e 3.25 0. 00 0. 00 1.50 54.0 0.0 0. 54. 0|7 A 7 7 )L itk
51.6 46 ~ 51. 0 3.25 0. 00 1.25
Ve W T 3.25 0. 00 0. 00 0. 90 100. 0 0.0 0. 100. 0| 7 =2 7 7 /L Rk
51.7 0 ~ 51. 0 3.25 1. 40 0. 80
Ve W e T 3.25 0. 00 0. 00 1.35 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
51.8 0~ 51. 0 3.25 1.25 1. 30

54 /76 R—




|

i
=
A
&
I

HARL 0034 BB

e B HE R
S (BB B0, TBE: T YA m m & T D FE A fisi
HOGE | A GE | oBER | B OF | B OB | hrxa 1 T M R i
Ve R e 3.25 0. 00 0. 00 1.25 67.0 0.0 0.0 67.0(7 27 7 /b Mlidk
51.9 0~ 51.9 67 3.20 2. 50 0. 45
Ve R e 3.30 0. 00 0. 00 5. 40 0.8 0.0 2.2 3.0| 7 27 7 v NEREE |mas
51.9 67 ~ 51.9 70 3.30 2. 50 3.90
Ve R e T 3.25 0. 00 0. 00 1.25 84.0 0.0 0.0 84.0|7 A7 7 )L bk
51.9 70 ~ 52. 0 6 3.20 2. 50 0. 45
Ve W e T 3. 40 0.95 0. 00 0.30 0.0 0.0 4.4 4.4\ 7 A7 7o MR [mars
52.0 6 ~ 52. 0 10 3.25 2. 50 0. 90
Ve W e 3.30 1.30 0. 00 0. 40 49. 6 0.0 0.0 49. 6|7 A7 7 )L Nl
52.0 10 ~ 52. 0 60 3.25 0. 50 0. 85
Ve W e 3.30 1.30 0. 00 0. 40 40. 0 0.0 0.0 40. 0|7 A7 7 )L Ll
52.0 60 ~ 52. 1 0 3.25 0. 50 0. 90
Ve R e T 3.35 1.65 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L b &k
52. 1 0 ~ 52. 2 0 3.20 2.25 1.35
Ve W T 3.35 1.65 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v b &lidk
52.2 0 ~ 52. 3 0 3.20 2.25 1.35
Ve R e T 3.25 2. 65 0. 00 0.45 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v bk
52.3 0~ 52. 4 0 3.30 0. 00 0.75
Ve R e T 3.25 1.90 0. 00 1.65 120.0 0.0 0.0 120. 0|7 2 7 7 /b bk
52. 4 0 ~ 52.5 20 3.35 2. 45 0. 80
Ve R e 3.30 0. 00 0. 00 2.10 80. 0 0.0 0.0 80. 0|7 A 7 7 /L kit
52.5 20 ~ 52. 6 0 3.30 5. 85 0. 80
Ve R e T 3.30 0. 00 0. 00 2. 10 4.0 0.0 0.0 4. O|HE/K MLk
52.6 0~ 52. 6 4 3.30 5. 85 0. 80
Ve W e T 3.35 0. 00 0. 00 5.20 0.0 0.0 3.1 3. L[ HEAMEESZE AT
52.6 4 ~ 52. 6 7 3.45 1.75 0. 45

55/ 76 R—




|

A
=
R
=
T

HARL 0034 BB

e B HE R
S (BB B0, TBE: T YA m m & T D FE A fisi
HOGE | A GE | oBER | B OF | B OB | hrxa 1 T M R i
Ve R e 3.30 0. 00 0. 00 2. 60 42.9 0.0 0.0 42. 9[HEAK PSR
52. 6 7 ~ 52. 6 50 3.30 2. 05 0.75
Ve R e 3.30 0. 00 0. 00 2. 60 50. 0 0.0 0.0 50. 0| 7 A2 7 7 )L | itk
52.6 50 ~ 52. 7 0 3.30 2. 05 0.75
Ve W T 3.30 0. 00 0. 00 2. 60 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b Rk
52.7 0~ 52. 8 0 3.25 2. 00 0. 80
Ve W e T 3.25 0. 00 0. 00 1. 10 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
52.8 0~ 52. 9 0 3.30 3.25 0. 80
Ve W e 3.30 0. 00 0. 00 2. 80 48.0 0.0 0.0 48. 0|7 A 7 7 )L Ml
52.9 0 ~ 52. 9 48 3.25 3.15 0. 80
Ve W e 3.25 0. 00 0. 00 1.05 0.1 0.0 1.9 2.0(7 27 7 MR (e
52.9 48 ~ 52. 9 50 3.25 1.70 0. 45
Ve e T 3.25 0. 00 0. 00 1.05 0.0 0.0 1.0 1. O FEAK M2 R A
52.9 50 ~ 52. 9 51 3.25 1. 70 0. 45
Ve W T 3.30 0. 00 0. 00 3. 00 40.0 0.0 0.0 40. O[HEAKMEES2E
52.9 51 ~ 53. 0 30 3.25 3. 10 0.75
Ve R e T 3.30 0. 00 0. 00 3. 00 70.0 0.0 0.0 70. O|BEA M
53.0 30 ~ 53. 1 0 3.25 3. 10 0.75
Ve R e T 3.30 0. 00 0. 00 2.62 100. 0 0.0 0.0 100. O|HE/K P %S
53. 1 0 ~ 53. 2 0 3.30 2. 70 0. 85
Ve R e 3.25 0. 00 0. 00 1.30 100. 0 0.0 0.0 100. O HEA M &2
53. 2 0~ 53.3 0 3.25 2.25 0. 80
P R e 3.25 0. 00 0. 00 1. 30 100. 0 0.0 0.0 100. OHEAKME&f%E
53.3 0~ 53. 4 0 3.25 2.25 0. 80
Ve W e T 3.25 1.65 0. 00 1.70 50.0 0.0 0.0 50. O[HEAK LS
53. 4 0 ~ 53.5 0 3.30 2. 00 0.75

56 / 76 R—




I

i

=

R
%

R
HARA 0034 HE
e B HE R
S (BB B0, TBE: T YA m m & T D FE A fisi
HOGE | A GE | oBER | B OF | B OB | hrxa & U it
Ve R e 3.25 1.65 0. 00 1.70 72.5 0.0 0. 72.5|7 A7 7L kAl
53.5 0 53. 23 3.30 2. 00 0.75
Ve R e 3.25 1.50 0. 00 0. 50 0.0 0.0 7. 7.5\ 7 27 7 EEEE |)itE
53.5 23 53. 30 3.25 2.35 0. 50
Ve W T 3.25 0. 80 0. 00 2. 20 70.0 0.0 0. 70.0| 7 A 7 7 /L b sk
53.5 30 53. 0 3.20 2.35 0.75
Ve W e T 3.35 0. 00 0. 00 1.45 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
53.6 0 53. 0 3. 40 2. 60 0. 40
Ve W e 3.25 0. 00 0. 00 2. 40 100. 0 0.0 0. 100. 0| 7 A2 7 7 /b &k
53.7 0 53. 0 3.25 3. 00 1.45
Ve W e 3.25 0. 00 0. 00 2.35 100. 0 0.0 0. 100. 0| 7 2 7 7 /L &k
53.8 0 53. 0 3.25 3. 10 0. 60
Ve e T 3.25 0. 00 0. 00 2.05 93.0 0.0 0. 93.0|7 A7 7 )L MEfE
53.9 0 54. 0 3.80 1. 90 0.70
Ve W T 3.30 0. 00 0. 00 0.75 13.0 0.0 0. 13.0|7 A7 7 /v bk
54.0 0 54. 13 3.30 4. 05 0. 70
Ve W T 3.30 0. 00 0. 00 0.75 219.0 0.0 0. 219. 0| DAt
54.0 13 54. 32 3.30 4. 05 0. 70
Ve R e 3.25 0. 00 0. 00 0.75 0.4 0.0 6. 7.0[7 27 7 v M | T4
54. 2 32 54. 39 3.25 2. 00 0.75
Ve R e 3.35 0. 00 0. 00 0.90 96. 0 0.0 0. 96. 0|7 A 7 7 /L bk
54. 2 39 54. 35 3.30 4. 05 0.75
Ve W T 3.30 0. 00 0. 00 0.85 0.0 0.0 10. 10. 0|7 2 7 7 )b MElE [mas
54.3 35 54. 45 3.30 0. 00 0. 70
Ve W e T 3.35 0. 00 0. 00 0.70 55.0 0.0 0. 55.0(7 A7 7 /L b &k
54.3 45 54. 0 3.25 3. 40 0. 80

57/ 76 R—




|

A
=
R
=
T

HARL 0034 BB

e B HE R
S (BB B0, TBE: T YA m m & T D FE A i &
HOGE | A GE | oBER | B OF | B OB | hrxa 1 T M R B
Ve R e 3.20 0. 00 0. 00 0.85 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bk
54. 4 0~ 54.5 0 3.30 3. 50 0. 70
Ve R e 3. 50 0. 00 0. 00 1.15 100. 0 0.0 0.0 100. 0|7 A2 7 7 )L ik
54.5 0 ~ 54. 6 0 3.50 0. 00 0. 85
Ve W T 3.35 0. 00 0. 00 1.45 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b Rk
54.6 0~ 54. 7 0 3.35 0. 00 0. 85
Ve W e T 3.45 0. 00 0. 00 1. 65 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
54.7 0~ 54. 8 0 3.55 0. 00 0. 85
Ve W e 3.75 0. 00 0. 00 1.45 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
54.8 0 ~ 54. 9 0 3. 45 0. 00 0. 85
Ve W e 4. 20 0. 00 0. 00 0. 00 50. 7 0.0 0.0 50. 7|7 A7 7 )b b &%k
54.9 0 ~ 54. 9 51 3.55 0. 00 0. 90
Ve e T 3.50 0. 00 0. 00 11. 50 0.0 0.0 565. 2 565. 2|7 A7 7 /b MERLE [ (2o 1)
54.9 51 ~ 55. 2 66 3.50 2. 50 0. 50
Ve W T 3.50 0. 00 0. 00 0.25 0.0 0.0 570. 1 570. 1|7 A 7 7 /b MEfEE [stuewsseis (2o 2)
55. 2 66 ~ 55. 8 38 3.50 2. 50 0.75
Ve W e T 3.50 0. 00 0. 00 0.95 62. 0 0.0 0.0 62.0|7 A7 7 )L EfE
55. 8 38 ~ 55. 9 0 3.50 2.55 0.75
Ve R e T 3.50 0. 00 0. 00 0.95 90.0 0.0 0.0 90. 07 =2 7 7 /L Mlidk
55.9 0 ~ 56. 0 0 3.50 2.55 0.75
Ve R e 3. 50 0. 00 0. 00 1.00 100. 0 0.0 0.0 100. 0|7 A2 7 7 /L ik
56.0 0~ 56. 1 0 3.55 2. 00 0.75
Ve W T 3.50 0. 00 0. 00 0.95 54.0 0.0 0.0 54. 0|7 A 7 7 /L bk
56. 1 0~ 56. 1 54 3.55 2. 00 0.75
Ve W e T 3.50 0. 00 0. 00 1.00 0.0 0.0 9.0 9.0|7 A7 7 M [mas
56. 1 54 ~ 56. 1 63 3.50 2. 00 0.75
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Ve R e 3.50 0. 00 0. 00 0.95 37.0 0.0 0. 37.0|7 27 7 )L ik
56. 1 63 56. 0 3.55 2. 00 0.75
Ve R e 3. 50 0. 00 0. 00 0.90 100. 0 0.0 0. 100. 0|7 A2 7 7 )L ik
56. 2 0 56. 0 3.55 2. 00 0.75
Ve W T 3.50 0. 00 0. 00 0. 70 100. 0 0.0 0. 100. 0| 7 2 7 7 /b Rk
56. 3 0 56. 0 3.50 1.95 0. 80
Ve W e T 3.55 0. 00 0. 00 0.90 69. 0 0.0 0. 69. 0|7 A7 7 /L b &Lk
56. 4 0 56. 69 3.50 1.95 0.75
Ve W e 3.50 0. 00 0. 00 1. 00 0.2 0.0 10. 11.0| 7 A7 7 )b MEHE [mss
56. 4 69 56. 80 3.50 2. 00 0.75
Ve W e 3.55 0. 00 0. 00 0.85 120. 0 0.0 0. 120. 0| 7 2 7 7 /b &k
56. 4 80 56. 0 3.55 1.95 0.75
Ve W T 3.55 0. 00 0. 00 0. 90 100. 0 0.0 0. 100. 0| 7 2 7 7 /L b &k
56. 6 0 56. 0 3.55 2. 00 0.75
Ve W T 3.55 0. 00 0. 00 0. 90 100. 0 0.0 0. 100. 0| 7 2 7 7 /v b &lidk
56. 7 0 56. 0 3.50 1.95 0.75
Ve e T 3.55 0. 00 0. 00 0. 90 100. 0 0.0 0. 100. 0| 7 2 7 7 /v bk
56. 8 0 56. 0 3.55 2. 00 0.75
Ve R e T 3.55 0. 00 0. 00 2.55 101.0 0.0 0. 101. 0|7 2 7 7 /v bk
56.9 0 57. 0 3.55 2. 00 0.75
Ve R e 3.65 3.10 0. 00 0.90 100. 0 0.0 0. 100. 0|7 A2 7 7 /L ik
57.0 0 57. 0 3.70 3. 20 1. 50
Ve W T 3.50 3.50 8. 20 1. 00 100. 0 0.0 0. 100. 0| 7 2 7 7 /b Rk
57. 1 0 57. 0 3.45 3. 65 0. 45
Ve W e T 3.50 3.50 9.05 1. 50 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
57.2 0 57. 0 3.50 3.55 1. 50
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Ve R e 3.50 3.50 9.00 1.50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bk
57.3 0~ 57. 4 0 3.45 3.55 1. 50

Ve R e 2. 50 3.55 7.80 1.50 100. 0 0.0 0.0 100. 0|7 A2 7 7 )L ik
57. 4 0 ~ 57.5 0 4. 45 3. 45 1. 45

Ve W T 2. 50 3.55 7.80 1.50 100. 0 0.0 0.0 100. 0|7 A 7 7 )L b &k
57.5 0~ 57.6 0 4. 45 3.45 1. 45

Ve W e T 3.60 3.50 7.85 1.55 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
57.6 0~ 57.7 0 3.35 3. 60 1.55

Ve W e 3.55 3. 50 6. 35 1. 50 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
57.7 0 ~ 57.8 0 3. 45 3. 65 1. 00

Ve W e 3.50 3.55 6. 45 1.05 115.0 0.0 0.0 115. 0|7 2 7 7 /L &k
57.8 0 ~ 57.9 15 3.50 3.55 1. 50

Ve e T 3.50 2.95 5. 45 0.85 30.0 0.0 0.0 30. 0| 7 A7 7 )L b &k
57.9 15 ~ 57.9 45 3. 60 3. 50 1. 45

Ve W T 3.50 2.95 5.45 0.85 55.0 0.0 0.0 55.0| 7 A7 7 /L b &%k
57.9 45 ~ 58. 0 0 3. 60 3. 50 1. 45

Ve W T 7.10 3.95 0. 00 0. 80 82.9 0.0 0.0 82.9|7 A7 7 )L
58.0 0 ~ 58. 0 83 7.10 5. 45 1. 20

Ve R e 0. 00 0. 00 0. 00 0.50 0.0 0.0 46. 1 46. 1|7 2 7 7 )b NS |
58.0 83 ~ 58. 1 29 7.00 5. 00 1. 50

Ve R e 7.00 3.55 2. 00 1. 60 71.0 0.0 0.0 71.0| 7 27 7L btk
58. 1 29 ~ 58. 2 0 7.00 3.55 1. 50

Ve W T 7.00 3.55 2. 00 1.60 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b Rk
58. 2 0~ 58. 3 0 7.00 3.55 1. 50

Ve W e T 6. 95 3.05 2. 00 1. 65 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
58.3 0~ 58. 4 0 6. 95 3. 50 1. 50
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Ve R e 8.05 3.05 0. 00 1.65 51.0 0.0 0.0 51.0|7 27 7 )L Atk
58. 4 0~ 58. 4 0 7.05 3. 45 1. 45
Ve R e 7.00 3.15 0. 00 0.45 100. 0 0.0 0.0 100. 0|7 A2 7 7 )L ik
58. 4 0 ~ 58. 5 0 7.10 3.55 1.25
Ve W T 7.05 3.85 0. 00 1. 20 85.0 0.0 0.0 85.0|7 A7 7 )L bk
58.5 0~ 58.5 85 7.05 2.55 0. 50
Ve W e T 7.15 3.50 1.95 0. 45 126. 0 0.0 0.0 126. 0|7 A7 7 )L bl
58.5 85 ~ 58. 7 11 7.00 3.35 1.45
Ve W e 7.00 5. 00 0. 00 1. 50 0.3 0.0 35.7 36.0| 7 A7 7L NN [ =mms
58. 7 11 ~ 58. 7 47 7.00 5. 00 1. 50
Ve W e 7.00 3. 90 0. 00 1. 50 53.0 0.0 0.0 53.0| 7 A 7 7L b &%k
58. 7 AT ~ 58. 8 0 7.00 3. 50 1. 20
Ve e T 7.00 3.45 0. 00 1.45 125.0 0.0 0.0 125.0[ 7 2 7 7 /b &k
58.8 0 ~ 58. 9 25 7.00 3. 50 1. 30
Ve W T 7.00 5. 00 0. 00 1.50 1.6 0.0 4.4 6.0[7 A7 7 v MEHEE [
58.9 25 ~ 58. 9 31 7.00 5. 00 1. 50
Ve e T 7.05 3.55 2. 00 1. 40 94. 0 0.0 0.0 94. 0|7 A7 7 )L EfdE
58.9 31 ~ 59. 0 25 7.00 3. 50 1. 45
Ve R e T 7.00 5. 00 0. 00 1.50 3.6 0.0 4. 4 8.0|7 A7 7 /b NElidE |5t
59. 0 25 ~ 59. 0 33 7.00 5. 00 1. 50
Ve R e 7.15 5. 00 0. 00 0.95 93.0 0.0 0.0 93.0|7 A7 7 /L bk
59.0 33 ~ 59. 0 75 3.50 4. 20 0. 00
Ve W T 3.25 3.50 0. 00 0. 60 111.0 0.0 0.0 111.0[ 7 2 7 7 /v ik
59.0 75 ~ 59. 1 86 3.10 3.05 0. 40
Ve W e T 3.25 3.50 0. 00 0. 60 55.0 0.0 0.0 55.0[7 A7 7 /L b A%k
59. 1 86 ~ 59. 2 34 3.25 2. 50 0. 90
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Ve R e 2.65 0. 00 0. 00 0.70 59.0 0.0 0.0 59.0|7 2 7 7 )L itk
59. 2 34 ~ 59. 3 0 3.05 0. 00 1.95
Ve R e 3. 50 3.35 0. 00 1.00 72.0 0.0 0.0 72.0| 7 A7 7 U bk
59.3 0 ~ 59. 3 72 3.25 2.55 0. 70
P8 IR e T 3.25 3.00 0. 00 0. 50 3.5 0.0 11.5 15. 0|7 A7 7 )b b &hAE s
59.3 72 ~ 59. 3 87 3.25 2. 00 0. 50
Ve W e T 3.20 4. 80 0. 00 0. 90 113.0 0.0 0.0 113. 0| HErk MEE 2
59.3 87 ~ 59. 5 0 2.95 2.25 0. 45
Ve W e 3.25 2.70 0. 00 0.75 100. 0 0.0 0.0 100. O[HE7K P Ef%E
59. 5 0 ~ 59. 6 0 3.05 2. 40 0.35
Ve W e 3.20 0. 00 0. 00 3.05 45.0 0.0 0.0 45. 0| HEak P2
59. 6 0 ~ 59. 6 45 3.00 1.25 0. 45
Ve e T 3.20 0. 00 0. 00 3.05 55.0 0.0 0.0 55. 0| HEZk ME A2k
59. 6 45 ~ 59. 7 0 3.00 1.25 0. 45
Ve W T 3.15 0. 00 0. 00 3.75 100. 0 0.0 0.0 100. O HEAC M &2
59. 7 0 ~ 59. 8 0 3.05 2. 05 0. 40
Ve R e T 3.20 0. 00 0. 00 1.45 100. 0 0.0 0.0 100. O|HE/K P& %S
59. 8 0 ~ 59. 9 0 3.00 2. 00 0. 45
Ve R e T 3.20 0. 00 0. 00 1.30 100. 0 0.0 0.0 100. O|HE/K P %S
59.9 0 ~ 60. 0 0 3.00 3. 20 0. 65
Ve R e 3.30 0. 00 0. 00 2.15 100. 0 0.0 0.0 100. O HEA M &2
60. 0 0~ 60. 1 0 3.10 5. 10 0. 90
P8 R e T 3.30 1.80 0. 00 0.55 100. 0 0.0 0.0 100. OHEZKME&f%E
60. 1 0~ 60. 2 0 3.35 0. 00 1. 60
Ve W e T 3.35 3.05 0. 00 0. 60 60.0 0.0 0.0 60. O|HE A &l 2
60. 2 0 ~ 60. 2 60 3.30 0. 00 1.55
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HOGE | A GE | oBER | B OF | B OB | hrxa & T M R
Ve R e 3.35 3.05 0. 00 0. 60 40.0 0.0 0. 40. O[HEAK PSS
60. 2 60 60. 3.30 0. 00 1.55
Ve R e 3.30 2.00 0. 00 0.55 100. 0 0.0 0. 100. O HEA M &2
60. 3 0 60. 3.35 0. 00 1.55
P8 IR e T 3.30 2.25 0. 00 0. 50 100. 0 0.0 0. 100. OHEZKME&f%E
60. 4 0 60. 3.35 0. 00 2. 00
Ve W e T 3.20 4. 50 0. 00 0. 65 100. 0 0.0 0. 100. O HE7k M2
60. 5 0 60. 3.30 2. 90 0. 70
Ve W e 3.15 2.25 0. 00 0. 60 100. 0 0.0 0. 100. O|HEZKME&f%E
60. 6 0 60. 3.25 3. 80 0. 70
Ve W e 3.25 0. 00 0. 00 1.25 100. 0 0.0 0. 100. O|HE7K PR Ef%E
60. 7 0 60. 3.25 3. 65 0. 70
Ve e T 3.25 0. 00 0. 00 1. 20 100. 0 0.0 0. 100. O|HE7K ME&f%E
60. 8 0 60. 3.25 2. 05 0. 50
Ve W T 3.30 0. 00 0. 00 1.10 100. 0 0.0 0. 100. O HEAC M &2
60. 9 0 61. 3.25 2.25 0. 50
Ve R e T 3.25 0. 00 0. 00 1.05 100. 0 0.0 0. 100. O HEAC M &2
61.0 0 61. 3.25 2. 00 0. 55
Ve R e T 3.30 0. 00 0. 00 1.20 100. 0 0.0 0. 100. O|HE/K P %S
61.1 0 61. 3.15 2. 00 0.55
Ve R e 3.20 0. 00 0. 00 1.10 100. 0 0.0 0. 100. O HEA M &2
61.2 0 61. 3.25 2. 05 0.55
P8 R e T 3.25 0. 00 0. 00 0.95 100. 0 0.0 0. 100. OHEZKME&f%E
61.3 0 61. 3.25 2.05 0.55
Ve W e T 3.25 0. 00 0. 00 0. 40 100. 0 0.0 0. 100. O HE7k M2
61. 4 0 61. 3.25 2. 30 0. 50
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Ve R e 3.15 0. 00 0. 00 0. 80 100. 0 0.0 0. 100. O|HE/K P %S
61.5 0 61. 0 3.15 1.75 0. 60
Ve R e 3.30 0. 00 0. 00 0.95 120.0 0.0 0. 120. O HEAK M &2
61.6 0 61. 20 3.35 2.15 1. 00
P8 IR e T 3.20 1.95 0. 00 1. 30 80. 0 0.0 0. 80. O /K Mk
61.7 20 61. 0 3.25 3.15 0.95
Ve W e T 3.25 0. 00 0. 00 2. 40 6.0 0.0 0. 6. O|FEAK A%
61.8 0 61. 6 3.20 1. 50 0. 40
Ve W e 3.25 0. 00 0. 00 2. 40 77.0 0.0 0. 77. 0| ek ME 2
61.8 6 61. 83 3.20 2. 00 0. 40
Ve W e 3.25 0. 00 0. 00 2. 40 17.0 0.0 0. 17. O|HEAKPE &%
61.8 83 61. 0 3.20 1. 50 0. 40
Ve W T 3.20 0. 00 0. 00 1.45 100. 0 0.0 0. 100. O|HE7KME&h%E
61.9 0 62. 0 3.30 2. 45 0. 80
Ve W T 3.25 0. 00 0. 00 3.20 100. 0 0.0 0. 100. O HEAC M &2
62. 0 0 62. 0 3.25 2. 20 0.75
Ve R e T 3.25 0. 00 0. 00 0. 80 100. 0 0.0 0. 100. O HEAC M &2
62. 1 0 62. 0 3.30 2. 20 0. 70
Ve R e T 3.25 0. 00 0. 00 0.45 100. 0 0.0 0. 100. O|HE/K P %S
62. 2 0 62. 0 3.30 2. 00 0. 90
Ve R e 3.15 0. 00 0. 00 1. 40 100. 0 0.0 0. 100. O HEA M &2
62. 3 0 62. 0 3.30 2.25 0. 65
P8 R e T 3.15 0. 00 0. 00 1.15 100. 0 0.0 0. 100. OHEAKME&f%E
62. 4 0 62. 0 3.30 2.15 0.75
Ve W e T 3.25 0. 00 0. 00 0. 80 100. 0 0.0 0. 100. O HE7k M2
62. 5 0 62. 0 3.25 2.25 0.75
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Ve R e 3.25 0. 00 0. 00 1.65 100. 0 0.0 0.0 100. O|HE/K P %S
62. 6 0~ 62. 7 0 3.30 2. 20 0. 70

Ve R e 3.25 0. 00 0. 00 0. 40 55.0 0.0 0.0 55. 0|7 A2 7 7 /L itk
62. 7 0 ~ 62. 7 55 3.30 2. 10 0.75

Ve W T 3.25 0. 00 0. 00 0. 40 45.0 0.0 0.0 45. 0|7 A7 7 )b bk
62. 7 55 ~ 62. 8 0 3.30 2. 10 0.75

Ve W e T 3.30 0. 00 0. 00 1.45 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
62. 8 0~ 62. 9 0 3.30 2. 40 0. 70

Ve W e 3.10 0. 00 0. 00 0. 60 69. 0 0.0 0.0 69. 0|7 A7 7 )L Ll
62. 9 0 ~ 62. 9 69 3.20 2. 20 0. 80

Ve W e 3.25 0. 00 0. 00 0. 60 0.3 0.0 17.7 18. 0|7 A7 7 )b Mai%E sz
62. 9 69 ~ 62. 9 87 3.25 2. 00 0.75

Ve e T 3.05 0. 00 0. 00 0. 70 113.0 0.0 0.0 113. 0|7 2 7 7 /v bk
62. 9 87 ~ 63. 1 0 3.25 2.25 0.75

Ve W T 3.30 0. 00 0. 00 1.75 40. 0 0.0 0.0 40. 0|7 A7 7 )L b EfdE
63. 1 0 ~ 63. 1 40 3.30 2.25 0. 70

Ve e T 3.30 0. 00 0. 00 1.75 60. 0 0.0 0.0 60. 0|7 A7 7 )L bl
63. 1 40 ~ 63. 2 0 3.30 2.25 0. 70

Ve R e T 3. 00 0. 00 0. 00 2. 40 100. 0 0.0 0.0 100. 0|7 2 7 7 /b bk
63. 2 0 ~ 63. 3 0 3.00 1. 45 0.25

Ve R e 3. 00 0. 00 0. 00 2. 40 100. 0 0.0 0.0 100. 0|7 A2 7 7 /L ik
63. 3 0~ 63. 4 0 3.00 1. 45 0.25

Ve W T 3.05 0. 00 0. 00 1.20 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b Rk
63. 4 0~ 63.5 0 3.00 0. 00 1. 45

Ve W e T 3.15 0. 00 0. 00 1.05 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
63.5 0~ 63. 6 0 3.20 1. 50 0. 30
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Ve R e 3.30 2.35 0. 00 0.70 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bk
63. 6 0~ 63. 7 0 3.25 2. 90 0.75

Ve R e 3.25 2. 40 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 A2 7 7 )L ik
63. 7 0 ~ 63. 8 0 3.25 2. 50 0. 80

P8 IR e T 3.25 2.55 0. 00 0. 70 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b Rk
63. 8 0~ 63. 9 0 3.30 2.55 0.75

Ve W e T 3.20 2. 90 0. 00 0. 80 100. 0 0.0 0.0 100. 0| 7 A 7 7 /v &k
63. 9 0~ 64. 0 0 3.25 2.85 0. 80

Ve W e 3.25 2. 20 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
64. 0 0 ~ 64. 1 0 3.25 3.05 0. 80

Ve W e 3.30 2. 00 0. 00 0.70 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L &k
64. 1 0 ~ 64. 2 0 2. 90 0. 00 0. 60

Ve R e T 3.30 2. 30 0. 00 0.70 125.0 0.0 0.0 125.0[ 7 2 7 7 /L &k
64. 2 0 ~ 64. 3 25 2.95 0. 00 0.55

Ve R e T 3. 00 2. 00 0. 00 0.75 0.3 0.0 21.7 22.0(7 2 7 7 )b M |i)146
64. 3 25 ~ 64. 3 47 3.00 2. 00 0.75

Ve R e T 3.20 2.45 0. 00 0. 65 53.0 0.0 0.0 53.0| 7 A 7 7 /L b &dk
64. 3 47 ~ 64. 4 0 3.05 0. 00 1.15

Ve R e T 3.15 2. 50 0. 00 0. 60 100. 0 0.0 0.0 100. 0|7 2 7 7 /b bk
64. 4 0 ~ 64. 5 0 3.25 2.25 0. 65

Ve R e 3. 10 2.25 0. 00 0.85 100. 0 0.0 0.0 100. 0|7 A2 7 7 /L ik
64. 5 0~ 64. 6 0 3.30 0. 00 1.35

P R e 3.20 2. 20 0. 00 0.85 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b Rk
64. 6 0~ 64. 7 0 3.00 0. 00 0. 60

Ve W e T 3.20 2. 20 0. 00 0.85 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
64. 7 0~ 64. 8 0 3.00 0. 00 1.35
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HOGE | A GE | oBER | B OF | B OB | hrxa & U it
Ve R e 3.30 2.20 0. 00 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /b bk
64. 8 0 64. 0 3.20 0. 00 0. 85
Ve R e 3.45 1.90 0. 00 0.70 121.0 0.0 0. 121.0|7 A2 7 7 )b |k
64. 9 0 65. 21 3.10 0. 00 0. 85
Ve W T 3.00 0. 00 0. 00 0.75 0.2 0.0 2. 3.0|7 A7 7L MEEEE st
65. 0 21 65. 24 3.25 0. 00 0. 50
Ve W e T 2.95 0. 00 0. 00 1.90 76. 0 0.0 0. 76. 0|7 A7 7 /L bAf%E
65. 0 24 65. 0 3.25 1.75 0.55
Ve W e 2.95 0. 00 0. 00 1. 90 100. 0 0.0 0. 100. 0| 7 A2 7 7 /b &k
65. 1 0 65. 0 3.25 1.75 0.55
Ve W e 3.55 2.95 0. 00 0.75 100. 0 0.0 0. 100. 0| 7 2 7 7 /L &k
65. 2 0 65. 0 3.45 1.85 0. 80
Ve W T 3.25 2. 50 0. 00 0. 50 100. 0 0.0 0. 100. 0| 7 2 7 7 /L b &k
65. 3 0 65. 0 3.20 1. 55 0. 50
Ve e T 3.25 2.50 0. 00 0. 50 103. 0 0.0 0. 103. 0|7 2 7 7 /v h&lidk
65. 4 0 65. 3 3.20 1. 55 0. 50
Ve e T 3.25 0. 00 0. 00 0.25 0.2 0.0 3. 4.0|7 A7 7 v MEREE (s
65. 5 3 65. 7 3.25 2. 00 0. 50
Ve R e T 3. 40 2.15 0. 00 0.65 93.0 0.0 0. 93.0(7 2 7 7 /L Mlidk
65. 5 7 65. 0 3.20 0. 00 1.15
Ve R e 3. 40 2.15 0. 00 0. 65 115.0 0.0 0. 115. 0|7 A2 7 7 )L |k
65. 6 0 65. 15 3.20 0. 00 1.15
Ve W T 3.50 2. 20 0. 00 0. 65 85.0 0.0 0. 85. 0|7 A7 7 )L bk
65. 7 15 65. 0 3.15 2.25 0. 20
Ve W T 3.40 2. 10 0. 00 0.85 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
65. 8 0 65. 0 3.15 1.65 0. 30
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HOGE | A GE | oBER | B OF | B OB | hrxa & U it
Ve R e 3. 40 1.30 0. 00 0.65 100. 0 0.0 0. 100. 0| 7 2 7 7 /b bk
65. 9 0 66. 0 3.15 2.15 0. 30
Ve R e 3.45 2. 60 0. 00 0.80 100. 0 0.0 0. 100. 0|7 A2 7 7 )L ik
66. 0 0 66. 0 3.10 2.25 0. 30
Ve W T 3.25 2. 50 0. 00 0. 50 100. 0 0.0 0. 100. 0| 7 2 7 7 /b Rk
66. 1 0 66. 0 3.25 0. 00 1.35
Ve W e T 3.25 2.25 0. 00 0. 45 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
66. 2 0 66. 0 3.25 0. 00 1. 90
Ve W e 3. 40 2.85 0. 00 0.75 100. 0 0.0 0. 100. 0| 7 A2 7 7 /b &k
66. 3 0 66. 0 3.20 0. 00 1.75
Ve W e 3.35 2.70 0. 00 0. 80 100. 0 0.0 0. 100. 0| 7 2 7 7 /L &k
66. 4 0 66. 0 3.30 0. 00 0. 60
Ve e T 3.30 1.20 0. 00 0. 45 100. 0 0.0 0. 100. 0| 7 2 7 7 /L h&dk
66. 5 0 66. 0 3.30 0. 00 0.55
Ve W T 3.30 2.15 0. 00 0.45 100. 0 0.0 0. 100. 0| 7 2 7 7 /L b &lidk
66. 6 0 66. 0 3.20 0. 00 0. 85
Ve W e T 3.30 2.20 0. 00 0. 50 100. 0 0.0 0. 100. 0| 7 2 7 7 /v bk
66. 7 0 66. 0 3.20 0. 00 1.85
Ve Wk = By i 3.30 2.20 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 /b bk
66. 8 0 66. 0 3.20 0. 00 1.85
Ve W = By i 3.25 1.55 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 A2 7 7 /L ik
66. 9 0 67. 18 3.25 0. 00 1.10
Ve W = By i 3.25 2. 00 0. 00 0. 50 100. 0 0.0 0. 100. 0|7 2 7 7 )L it
67.0 18 67. 118 3.25 1.15 0. 50
Ve Rl B i 3.25 2.05 0. 00 0.50 100. 0 0.0 0. 100. 0|7 A7 7 )L bl
67.0 118 67. 50 3.25 0. 00 1. 20
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Ve Wk = By i 3.25 2.05 0. 00 0.50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bk
67. 2 50 ~ 67.3 42 3.25 0. 00 1. 20
Ve W = By i 3.25 2.00 0. 00 0. 50 100. 0 0.0 0.0 100. 0|7 A2 7 7 )L ik
67.3 42 ~ 67. 4 24 3.25 0. 00 0. 50
Ve W = By i 3.25 2. 00 0. 00 0. 50 97.6 0.0 2.4 100. 0| 7 2 7 7 /L Mafi%E |4 46
67. 4 24 ~ 67.5 71 3.25 0. 00 0. 50
Ve Rl B i 3.25 0. 00 0. 00 3. 00 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
67.5 71 ~ 67.6 71 3.25 3. 00 0. 60
Ve W By 3.25 0. 00 0. 00 3.00 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
67.6 71 ~ 67.7 60 3.25 1. 50 0. 60
Vg R By il 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L &k
67. 7 60 ~ 67. 8 53 3.25 2. 50 0. 50
Ve s By i 3.25 0. 00 0. 00 0.75 50. 0 0.0 0.0 50. 0| 7 A 7 7 )L &%k
67.8 53 ~ 67.9 3 3.25 2. 50 0. 50
Ve s B i 3.25 0. 00 0. 00 0.75 0.0 0.0 7.0 7.0|7 A7 7 )V M | Rk
67.9 3 ~ 67.9 10 3.25 1. 50 0. 50
YL 3.25 0. 00 0. 00 0.75 34.0 0.0 9.0 43.0|7 A7 7 )b NS | Eam
67.9 10 ~ 67.9 53 3.25 2. 00 0. 50
Ve Wk = By i 3.25 2.00 0. 00 0.75 100. 0 0.0 0.0 100. 0|7 2 7 7 /b bk
67.9 53 ~ 68. 0 30 3.25 2. 20 0.75
P R g 7 3.25 0. 00 0. 00 0.75 95.3 0.0 4.7 100. 0| 7 2 7 7 v NaSE (2471045
68. 0 30 ~ 68. 1 56 3.25 1. 00 0.75
Ve W = By i 3.25 3.00 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 =2 7 7 /L Rk
68. 1 56 ~ 68. 2 45 3.25 1. 20 0. 40
Ve Rl B i 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
68. 2 45 ~ 68. 3 61 3.25 0. 00 0.75
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Ve Wk = By i 3.25 0. 00 0. 00 0.85 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bk
68. 3 61 ~ 68. 4 59 3.25 2. 00 1. 05

Ve W = By i 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0|7 A2 7 7 )L ik
68. 4 59 ~ 68. 5 45 3.25 2. 00 1. 05

Ve W = By i 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
68. 5 45 ~ 68. 6 55 3.25 1. 50 0.25

Ve Rl B i 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
68. 6 55 ~ 68. 7 58 3.25 2. 00 0.25

Ve W By 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0| 7 A2 7 7 /b &k
68. 7 58 ~ 68. 8 49 3.25 0. 00 1. 40

Vg R By il 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L &k
68. 8 49 ~ 68. 9 36 3.25 0. 00 0.75

Ve s By i 3.25 0. 00 0. 00 0. 60 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L b &k
68. 9 36 ~ 69. 0 54 3.25 0. 00 0. 85

Ve s B i 3.25 0. 00 0. 00 1.00 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v b &lidk
69. 0 54 ~ 69. 1 45 3.25 0. 00 3.00

YL 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v bk
69. 1 45 ~ 69. 2 44 3.25 0. 00 1. 50

Ve Wk = By i 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bk
69. 2 44 ~ 69. 3 24 3.25 0. 00 0.75

P R g 7 3.25 1.25 0. 00 0.25 100. 0 0.0 0.0 100. 0|7 2 7 7 v | &l
69. 3 24 ~ 69.4 45 3.25 0. 00 0.75

Ve W = By i 3.25 1.25 0. 00 0.25 100. 0 0.0 0.0 100. 0|7 2 7 7 )L i
69. 4 45 ~ 69. 5 40 3.25 0. 00 0.75

Ve Rl B i 3.25 1. 00 0. 00 0.25 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
69. 5 40 ~ 69. 6 63 3.25 0. 00 1.67
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Ve Wk = By i 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bk
69. 6 63 ~ 69. 7 59 3.25 0. 00 1.67

Ve W = By i 3.25 0. 00 0. 00 1.00 100. 0 0.0 0.0 100. 0|7 A2 7 7 )L ik
69. 7 59 ~ 69. 8 40 3.25 0. 00 2. 00

Ve W = By i 3.25 0.75 0. 00 0.25 100. 0 0.0 0.0 100. 0|7 2 7 7 )L it
69. 8 40 ~ 69. 9 46 3.25 0. 00 1. 00

Ve Rl B i 3.25 1. 00 0. 00 0. 45 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
69. 9 46 ~ 70.0 50 3.25 0. 00 1. 30

Ve W By 3.25 1.80 0. 00 0. 45 95. 2 0.0 4.8 100. 0| 7 A 7 7 )b hafdE |4 545
70.0 50 ~ 70. 1 46 3.25 0. 00 1. 30

Vg R By il 3.25 1.80 0. 00 0.75 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L &k
70. 1 46 ~ 70. 2 46 3.25 0. 00 0.75

Ve s By i 3.25 2. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L b &k
70. 2 46 ~ 70. 3 40 3.25 0. 00 1. 50

Ve s B i 3.25 2. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v b &lidk
70.3 40 ~ 70. 4 35 3.25 0. 00 1.75

YL 3.25 1.50 0. 00 0.25 100. 6 0.0 11.4 112. 0[ 7 2 7 7 /v MadE |4k
70. 4 35 ~ 70. 5 47 3.25 3. 50 1. 00

Ve Wk = By i 3.25 1.50 0. 00 0.25 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bk
70.5 47 ~ 70. 6 46 3.25 3. 50 1.10

P R 7 3.25 2. 50 0. 00 0. 40 100. 0 0.0 0.0 100. 0|7 2 7 7 v | &l
70. 6 46 ~ 70. 7 22 3.25 3. 50 1.10

Ve W = By i 3.25 4. 00 0. 00 0.25 10. 0 0.0 0.0 10. 0|7 A 7 7 /b A%k
70. 7 22 ~ 70. 7 32 3.25 3. 50 1.10

Ve Rl B i 3.25 4. 00 0. 00 0.25 78.0 0.0 0.0 78.0(7 A7 7 /L b Ak
70. 7 32 ~ 70. 8 28 3.25 0. 00 2.75
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Ve Wk = By i 3.25 0. 00 0. 00 0.77 7.0 0.0 0.0 7.0\ 7 A7 7 )u bk
70. 8 28 ~ 70. 8 35 3.25 0. 00 0.75

Ve W = By i 3.25 0. 00 0. 00 0.77 93.0 0.0 0.0 93. O FEAK &l
70. 8 35 ~ 70.8 128 3.25 0. 00 0.75

Ve W = By i 3.25 0. 00 0. 00 0.55 100. 0 0.0 0.0 100. OHEZKME&f%E
70.8 128 ~ 71.0 48 3.25 0. 00 0.55

Ve Vi By i 3.25 0. 00 0. 00 0.55 100. 0 0.0 0.0 100. O HE7k M2
71.0 48 ~ 71.0 148 3.25 0. 00 0.55

Ve W By 3.25 0. 00 0. 00 1.45 100. 0 0.0 0.0 100. O|HEZKME&f%E
71.0 148 ~ 71.0 248 3.25 0. 00 0. 50

Ve W i 3.25 0. 00 0. 00 1.45 100. 0 0.0 0.0 100. O|HE7K PR Ef%E
71.0 248 ~ 71.3 34 3.25 0. 00 1.45

Ve s By i 3.25 2. 00 0. 00 1. 00 100. 0 0.0 0.0 100. O|HE7KME&h%E
71.3 34 ~ 71. 4 40 3.25 2. 00 1. 00

Ve s B i 3.25 2. 00 0. 00 1.50 100. 0 0.0 0.0 100. O|HE/K MEAf%E
71. 4 40 ~ 71.5 55 3.25 2. 00 1. 45

YL 3.25 1.49 0. 00 1.50 200. 0 0.0 0.0 200. O|HEAKMEEHZE
71.5 55 ~ 71.7 62 3.25 1.55 1. 45

Ve Wk = By i 3.25 1.50 0. 00 1.25 100. 0 0.0 0.0 100. O|HE/K P& %S
71.7 62 ~ 71.8 77 3.25 1. 80 1. 45

Ve W = By i 3.25 2.25 0. 00 1.25 100. 0 0.0 0.0 100. O HEAC M &2
71.8 77 ~ 71.9 83 3.25 1. 80 1. 45

Ve W = By i 3.25 2. 00 0. 00 1.45 100. 0 0.0 0.0 100. OHEAKME&f%E
71.9 83 ~ 72.0 85 3.25 1. 80 1. 45

Ve Vi By i 3.25 2. 00 0. 00 1.45 100. 0 0.0 0.0 100. O HE7k M2
72.0 85 ~ 72. 1 84 3.25 1. 80 1. 45
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HOGE | A GE | oBER | B OF | B OB | hrxa 1 T M R B
Ve Wk = By i 3.25 1.50 0. 00 1. 40 100. 0 0.0 0.0 100. O|HE/K P %S
72. 1 84 ~ 72.2 97 3.25 1.85 1. 50
Ve W = By i 3.25 1.85 0. 00 1. 40 100. 0 0.0 0.0 100. O HEAC M &2
72.2 97 ~ 72.3 93 3.25 1.85 1. 50
Ve W = By i 3.25 1.80 0. 00 1.25 100. 0 0.0 0.0 100. OHEZKME&f%E
72.3 93 ~ 72. 4 84 3.25 1.85 1. 50
Ve Vi By i 3.25 2. 50 0. 00 1.55 100. 0 0.0 0.0 100. O HE7k M2
72. 4 84 ~ 72.5 81 3.25 1.85 1. 50
Ve W By 3.25 2.00 0. 00 1. 45 100. 0 0.0 0.0 100. O HE7k P2
72.5 81 ~ 72.6 61 3.25 2.75 1.45
Ve W i 3.25 1.55 0. 00 1.45 100. 0 0.0 0.0 100. O BEACME &2k
72.6 61 ~ 72.7 58 3.25 2.25 1.45
Ve s By i 3.25 1.80 0. 00 1. 00 100. 0 0.0 0.0 100. O|HE7KME&h%E
72.7 58 ~ 72.8 74 3.25 1.75 1.25
Ve s B i 3.25 0. 00 0. 00 1.75 84.8 0.0 15.2 100. O|HE/K MEAf%E Vit
72.8 74 ~ 72.9 61 3.25 0. 00 2.15
YL 3.25 0. 00 0. 00 1.55 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v bk
72.9 61 ~ 73.0 72 3.25 0. 00 2. 00
Ve Wk = By i 3.25 0. 00 0. 00 1.55 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bk
73.0 72 ~ 73. 1 73 3.25 1. 90 0.55
Ve W = By i 3.25 0. 00 0. 00 0.35 100. 0 0.0 0.0 100. 0|7 A2 7 7 /b ik
73. 1 73 ~ 73.2 79 3.25 2. 00 0.75
Ve W = By i 3.25 0. 00 0. 00 0.35 92.5 0.0 7.5 100. 0|7 2 7 7 )L MEHEE |WiLisis
73.2 79 ~ 73.3 76 3.25 2. 00 0.75
Ve Rl B i 3.25 0. 00 0. 00 0.95 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
73.3 76 ~ 73. 4 73 3.25 2. 90 0.35
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HOGE | A GE | oBER | B OF | B OB | hrxa 1 T M R i
Ve Wk = By i 3.25 0. 00 0. 00 0.50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bk
73. 4 73 ~ 73.5 62 3.25 2. 00 0. 35
Ve W = By i 3.25 0. 00 0. 00 1.20 96.9 0.0 3.1 100. 0|7 A7 7 )b NE#%E |=Rhami
73.5 62 ~ 73.6 65 3.25 2. 10 0. 45
Ve W = By i 3.25 0. 00 0. 00 1. 20 100. 0 0.0 0.0 100. OHEZKME&f%E
73.6 65 ~ 73.7 57 3.25 2. 10 0. 45
Ve Vi By i 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. O HE7k M2
73.7 57 ~ 73.8 57 3.25 0. 00 1.25
Ve W By 3.25 0. 00 0. 00 1. 10 100. 0 0.0 0.0 100. O HE7k P2
73.8 57 ~ 73.8 157 3.25 5. 00 0. 65
Ve W i 3.25 2.00 0. 00 0. 40 100. 0 0.0 0.0 100. O BEACME &2k
73.8 157 ~ 74.0 72 3.25 1. 50 0.55
Ve s By i 3.25 2. 00 0. 00 0. 40 100. 0 0.0 0.0 100. O|HE7KME&h%E
74.0 72 ~ 74. 1 72 3.25 0. 00 0.55
Ve s B i 3.25 2. 00 0. 00 0.35 100. 0 0.0 0.0 100. O|HE/K MEAf%E
74. 1 72 ~ 74. 2 58 3.25 0. 00 1.55
YL 3.25 2.00 0. 00 0.35 81.0 0.0 0.0 81. O[HEAKMESSEE
74. 2 58 ~ 74.3 40 3.25 0. 00 1. 00
Ve Wk = By i 3.25 2.00 0. 00 0.35 40.0 0.0 0.0 40. O[HEAK PSS
74.3 40 ~ 74. 4 0 6. 50 0. 00 0.55
Ve W = By i 3.25 2.05 0. 00 0.25 80. 0 0.0 0.0 80. O|FEAK Ml
74. 4 0 ~ 74. 4 80 3.25 0. 00 1.05
Ve W = By i 3.25 2. 40 0. 00 0.35 21.0 0.0 0.0 21. OBk Mk
74. 4 80 ~ 74.4 101 3.25 0. 00 0.55
Ve Rl B i 3.25 2. 05 0. 00 0.25 77.0 0.0 22.0 99. 0|7k P2 FEE
74.4 101 ~ 74.6 7 3.25 0. 00 1. 05
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HOGE | A GE | oBER | B OF | B OB | hrxa 1 U it B
Ve Wk = By i 3.25 1.80 0. 00 0. 40 100. 0 0.0 0.0 100. O|HE/K P %S
74.6 7 ~ 74.6 107 3.25 0. 00 1. 05
Ve W = By i 3.25 0. 00 0. 00 0. 50 96. 1 0.0 3.9 100. O HEA M &2 M4, A
74.6 107 ~ 74.7 90 3.25 0. 00 1.75
Ve W = By i 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. OHEZKME&f%E
74.7 90 ~ 74.8 94 3.25 0. 00 1. 50
Ve Vi By i 3.25 2. 00 0. 00 0.75 100. 0 0.0 0.0 100. O HE7k M2
74.8 94 ~ 74.9 93 3.25 0. 00 1. 00
Ve W By 3.25 2.00 0. 00 1.55 100. 0 0.0 0.0 100. O HE7k P2
74.9 93 ~ 75.0 94 3.25 0. 00 1.15
Vg R By il 3.25 0. 00 0. 00 0.55 96. 4 0.0 3.6 100. O|HE7K PR Ef%E WA
75.0 94 ~ 75. 1 98 3.25 0. 00 1.15
Ve s By i 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /L b &k
75. 1 98 ~ 75.2 100 3.25 0. 00 5.50
Ve s B i 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v b &lidk
75.2 100 ~ 75.3 93 3.25 0. 00 1.25
YL 3.25 0. 00 0. 00 1.55 100. 0 0.0 0.0 100. 0| 7 2 7 7 /v bk
75.3 93 ~ 75. 4 65 3.25 0. 00 1.25
Ve Wk = By i 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0| 7 2 7 7 /b bk
75. 4 65 ~ 75.5 85 3.25 0. 00 1.25
Ve W = By i 3.25 0. 00 0. 00 0.70 100. 0 0.0 0.0 100. 0|7 A2 7 7 /b ik
75.5 85 ~ 75.6 80 3.25 0. 00 1.25
Ve W = By i 3.25 0. 00 0. 00 0. 70 100. 0 0.0 0.0 100. 0|7 2 7 7 )L i
75.6 80 ~ 75. 7 56 3.25 0. 00 1.65
Ve Rl B i 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0|7 A7 7 )L bl
75.7 56 ~ 75.8 54 3.25 0. 00 1. 60
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Ve Wk = By i 3.25 0. 00 0. 00 0.85 100. 0 0.0 0. 100. 0|7 2 7 7 )b bk
75.8 54 ~ 75. 54 3.25 0. 00 1.25

Ve W = By i 3.25 0. 00 0. 00 1.25 100. 0 0.0 0. 100. 0|7 A2 7 7 )L ik
75.9 54 ~ 76. 75 3.25 0. 00 1.25

Ve W = By i 3.25 0. 00 0. 00 1.25 100. 0 0.0 0. 100. 0|7 2 7 7 )L it
76.0 75 ~ 76. 81 3.25 0. 00 1.55

Ve Rl B i 3.25 0. 00 0. 00 1. 00 100. 0 0.0 0. 100. 0|7 A7 7 )L b il
76. 1 81 ~ 76. 65 3.25 0. 00 1. 00

Ve W By 3.25 0. 00 0. 00 1. 00 100. 0 0.0 0. 100. 0| 7 A2 7 7 /b &k
76. 2 65 ~ 76. 98 3.25 0. 00 1. 00

Vg R By il 3.25 0. 00 0. 00 1.25 100. 0 0.0 0. 100. 0| 7 2 7 7 /L &k
76.3 98 ~ 76. 74 3.25 0. 00 1.35

Ve s By i 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0. 100. 0| 7 2 7 7 /L b &k
76. 4 74 ~ 76. 81 3.25 0. 00 1.35

Ve s B i 3.25 0. 00 0. 00 1.10 100. 0 0.0 0. 100. 0| 7 2 7 7 )L b &lidk
76.5 81 ~ 76. 13 3.25 0. 00 1.35

YL 3.25 0. 00 0. 00 1.10 100. 0 0.0 0. 100. 0|7 2 7 7 /b bk
76. 7 13 ~ 76. 113 3.25 0. 00 0. 60

Ve Wk = By i 3.25 0. 00 0. 00 1.65 80. 0 0.0 0. 80. 07 =2 7 7 /L sk
76.7 113 ~ 76. 67 3.25 0. 00 1. 30
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AL 0 0034 B
TR |
(X i CA & T 4 E R m | A WEFE R OV | EEBRAEIR | it B i &
S R doiE | g | wd
(B b S, B A m |(EE: Y, FE:TFY) nf

A ST AR BT 33.4| 3.3 0.0l 0.4 243. 8| VR BEAE 1959 |TL -20 [@fTHR L
3.3] 0.0l 0.4 AT

FHEF AT TS AT 25.4 3.3 0.0 0.5 193.0| P CH 1958 |TL - 20 [@frR L
3.3] 0.0l 0.6 B fdiAT

T O ST STl R 9.0 5.0 2.9/ 1.0 160. 7| P CH& 1958 | TL - 20 |@frHfR ML
5,00 2.9/ 1.0 B fdiAT

Ji A P L 24.9 0.2 0.0 0.0 74.7| P CH& 1960 |L - 14  |G@fTHIR ML
0.2l 0.0/ 0.0 B AfiAT

7 i S ARG T HEAHT 23.5] 0.2[ 0.0l 0.0 70.5| P C#& 1960 [ - 14 WATHIR  #EL
0.2l 0.0l 0.0 B AT

YN ST HEAHT 9.0/ 3.9 2.8/ 1.0 143. 1| P CH& 1959 |T-20 [W@17HIER #EL
3.9 2.9 1.0 Hi AT L-14

G SRR 7 T AREA 8.1 4.0 2.8/ 1.0 129. 8| P CH& 1959 |T-20 [@17HIBR #EL
4.0l 2.9 1.0 AT L-14

AR ST R AT 37.5| 3.5 0.0l 1.1 348.8| P C#& 1960 |TL -20 |@{THIR 2L
3.5 0.0 1.1 AT

— ARG ST A T o — AR 7.2| 3.5 o0.0] 0.8 90. 4|R CH& 1959 |TL - 20 |@{r#R 2L
3.5 1.1 0.8 AT

S SR T A FE T AR 14.6| 4.3 o0.0] 0.3 131.4|R CH5 1956 |T - 20 |@{rHIR 2L
4.3 0.0 0.3 AT L-14

A S TR T 3.1l 3.3 0.0l 0.0 38.5|R C1& 1956 |TL - 20 [|#@{rHIR ML
3.3 2.8/ 0.0 AT

(LD PNAE SRR FLRR AR & W K i R 1 11.2[ 3.3 0.0 0.8 91.3|R CH& 1985 [TL -20 [@fTHIE ML
3.3] 0.0/ 0.8 AT

EJtio SRR SRR AR & HT R AR 5.3 3.3] 2.0 1.1 42.0|R CH& 1961 |TL -20 [@fTHR ML
3.3 2.0l 1.1 AT

G AR SRR AR & W R AR 14.4] 3.5/ 0.0] 0.8 122.7|R CH& 1961 |TL -20 [@fTHR ML
3.5] 0.0/ 0.8 AT

P UG SRR E TR FRR 30.0] 3.5 0.0l 0.6 243.3| P CH% 1961 |TL -20 [@fTHR L
3.5] 0.0l 0.6 AT
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HEA N BB AL HT RS A 2.4 3.3 0.0 0.0 0.0|R C#& 1949 |TL -20 [@fTHR L
3.3 0.0l 0.0 AT
HEA AT EWA A TE ol NS 7Y/ 2.7 3.3 0.0 5.4 42.9|R CHf 1949 |TL -20 [@fTR L
3.3 0.0l 3.9 B fdiAT
HEA A EWA A TE ol NS 7Y/ 4.4 3.4 1.0 0.3 40. 0| R CHf 1949 [TL - 20 |[@{THIR ML
3.3 0.0l 0.9 B fdiAT
A AT FEWA AN W P NE /=L 3.1 3.4 0.0 5.2 30. 0| R CH% 1949 |TL - 20 [@fTHR L
3.4 1.71 0.5 B ffiAT
A1 WA AN W N Y/ e =L L 2.9 3.3 0.0 3.1 34.8| R C1& 1949 [TL - 20 |[@{THIR £L
3.3] 1.8/ 0.8 B AT
JIRAG [EWA TR ol IPNE SN 7.5 3.3 0.0 0.5 56. 4| R C 1% 1948 [TL - 20 |W@{THIR £EL
3.3 0.0l 0.5 B AT
T=4E BT AL T BT R TR 6.5/ 3.3 0.0 0.8 52. 0|R CH% 1955 [TL - 20 |@{THIR 2L
R A BT R A 3.3 0.0l 0.8 EAffiAT
Lz e ISR NG /N 10.0f 3.3/ 0.0 0.8 81.5|R CH& 1955 [TL - 20 |@{THIR 2L
3.3 0.0l 0.7 EHfAT
RIERZEE (Zo 1) [EBERAE T KT RIR TR H 565.2| 3.5 0.0 11.5| 5,934. 6|8HE 1988 [TL - 20 |@{rHIR 2L
SCHETAERT A B 3.5 2.5 0.5 AT
RIS (20 2) BT B BT KT H A TR 570.1| 3.5 0.0 0.3| 5,985.6|5HEHHE 1986 |TL -20 [@THIR ML
3.5| 2.5 0.8 AT
M4, T T T T R 5 o A T 9.1 3.5 0.0 1.0 97.8|P CI5 1983 ITL -20 [@ITHIER ML
3.5| 2.0/ 0.8 AT
piiZ A T T T O i) S 10.8] 3.5 0.0 1.0 116. 1| P C15 1984 |TL -20 [W@fTHR ML
3.5| 2.0/ 0.8 AT
gl (FY) TR BT R o i o] T 46.1| 0.0 0.0 0.5 645. 3| FREA AR 1989 [TL - 20 |[@{THIR ML
7.0l 5.0/ 1.5 AT
RS (RY) T BT R o] T 46.1| 7.0| 5.0/ 1.5 645. 3| HEVAHEAE 1989 [TL - 20 |@frHIR ML
0.0 0.0/ 0.5 B AAT
5 AHAE T BT R 35.7 8.7 4.8 1.3 1,071.0|8MAEHE 2001 | ByEfifdE  [WBITHIR ML
8.7 5.0/ 1.3 HAATAT
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9 NS BT R R T e 6.1l 7.0 5.0/ 1.5 183.0|R CH& 2003 [Bi&fifdE  [(@{THIR MEL
7.0l 5.0/ 1.5 AT
o — T A BT R R T e 8.3 7.0/ 5.0/ 1.5 249. 0| R CH% 2003 [BiGfifE  [(@{THIR MEL
7.0l 5.0 1.5 B fdiAT
A W AR RN W NS ST W 1.5/ 3.3/ 0.0 0.5 109. 0| R CHf 1960 [TL - 20 |@{THIR ML
3.3] 2.0l 0.5 B fdiAT
JLE 2 TG BT H AT RSk 17.71 3.3 0.0 0.6 174.0| P CH6 1991 |TL -20 [@fTR L
3.3] 2.0l 0.8 B AfiAT
145 T T B BT R4 B 21.7 3.0 2.0 o.8 249. 0P C1& 1981 [TL -20 [@fTHIE HEL
3.0 2.0l 0.8 B AT
Lz ECHETH ) 1B AT KT B 2.8/ 3.0l 0.0/ 0.8 21.0|R CH& 1960 [TL - 20 |W@{THIR £EL
3.3 0.0l 0.5 B AT
IS T ) 1B BT K B 3.8 3.3 0.0 0.5 27.0|R CH& 1938 [TL - 20 |@{THIR 2L
3.3 0.0l 0.3 EAffiAT
Lz fi B 7 44 P TR K 2.4 3.2 0.0 1.7 20.2|R CH& 1960 [TL - 20 |@{THIR 2L
3.2| 0.0l 0.5 EHfAT
RAEGE e B T FE TR K B 16.0 3.3 0.0 0.5 142. 7| P CH& 1960 [TL - 20 |@{rHIR 2L
fe B T e E T RS N 3.3] 0.0l 0.5 AT
EZimis o B T BT R T B 4.71 3.3 3.0 0.5 35.0|P CH& 1959 ITL - 20 [@THIER ML
3.0l 0.0l 0.5 AT
LT fE B T BT R N A 4.8/ 3.3 0.0 0.8 40.0|P CH5 1959 |TL -20 [W@iTHIR ML
3.3 0.0l 1.0 AT
LB i S T G T R R A 10.6] 3.3 0.0l 0.5 79.5|P CH& 1959 |TL -20 [@fTHR ML
3.3] 0.0l 0.5 AT
527 A 1 B T A T R N 15.2| 3.3 0.0] 0.5 113. 2| 516 1888 [TL - 20 |W@frHIR ML
3.3 0.0 0.5 Z DA
WA i T A T R R A 7.5 3.0 0.0 0.8 56.0|R C1 1939 [TL - 20 |@frHR ML
3.0l 0.0/ 0.8 B AMAT
FRNZH B G fE B T BT R T A 4.71 3.6/ 0.0] 0.5 45.0|R CH5 1939 |TL -20 [@fTHR ML
3.1 1.7 0.4 HAATAT
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AT i B T A B T R AN 8 L 22.0 3.3 0.0 0.3 146. 2| P CH& 1958 |TL - 20 [@fTR L
3.3 0.0l 0.3 AT
HEA, I i B T P T R e ) [N 3.9 3.1 0.0l 0.5 29.0[R CH 1939 [TL - 20 |W@frHR ML
3.3 0.0l 0.6 B fdiAT
HEAX A fE B T AT R TS B N TR 3.6/ 3.2] 2.7 0.9 38.7|R CH% 1939 [TL-20 |[@{THIR ML
3.2 0.0l 0.7 B fdiAT
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HAERERS OR) BT AR E T 42.5| 0.0l 0.8/ 0.0 63. S|SMIA G 1959 —
0.0] 0.8/ 0.0 B AAT

ARG ER (/) AT AR BT 4.71 0.0 0.7 0.0 6.7| P CH 1960 —
0.0l 0.71 0.0 B AT

A REER () AT AR BT 5.8 0.0l 0.8 0.0 9.3|R C#& 1960 —
0.0] 0.8/ 0.0 B fdiAT

PHEPAERLERE (40) ARG T BR T 26.5| 0.0 0.8 0.0 43. 3| HA 4 1971 —
0.0] 0.8 0.0 B AdiAT

PHEFRELERS OF) JS T 8 FR AT 25.6| 0.0 1.0 0.0 51. 1| P CH& 1980 —
0.0] 1.0/ 0.0 B AT

SEREAERE ) ST AT 37.5 0.0 1.0 0.0 75.0| P CH5 1979 —
0.0 1.0l 0.0 B AT

EEGRER () ST HEAHT 37.5|  0.0[ 0.8] 0.0 74.8| P CH5 1970 —
0.0 0.8 0.0 EffiAT

4 GER (/2) ST ST 4.6 0.0 1.1 0.0 10. 1|R CH5 1991 —
0.0l 1.1 0.0 AT

L EER () ST T 2 LT 5.8/ 0.0 1.5/ 0.0 9.9|R C15 1991 —
0.0] 1.5/ 0.0 AT

2 BRER () S5 T = T 4.6 0.0l 0.8 0.0 7.4|R Cf& 1991 —
0.0] 0.8 0.0 AT

mEARERLER OF) ST SE T 4.6 0.0 0.7 0.0 7.4|R CH& 1991 —
0.0] 0.7 0.0 AT

—ARLERE F) B TR FH AT A 8.0l 0.0l 0.7 0.0 21.6|R C1% 1991 —
0.0] 0.7] 0.0 HAAMAT

M HEERERS (/) B TR FE T AR 14.5| 0.0 0.8 0.0 22.5|P C#B 1972 —
0.0] 0.8 0.0 AT

MHEERERS ) SSAETITRT FH T 5 FAR AR 17.0[ 0.0l 1.0 0.0 33.9|P CHg 1991 —
0.0] 1.0 0.0 AT

WONBRGEE () | ERIEBEEAC & BT RT3 T O 1.2 0.0l 1.0l 0.0 22.4|P CHG 1975 —
0.0] 1.0 0.0 B AT
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WONBHLRER (F) | SBERAC & IR TR T O 1.2 0.0 0.8 0.0 21.5|P CHg 1979 —
0.0 0.8/ 0.0 B AAT
RENER () SRR X MRS 5.4 0.0l 0.9 0.0 11.3|R C#& 1980 —
0.0 0.9/ 0.0 B fdiAT
RIFGENER (4) SRR X MRS 11.0] 0.0 1.0] 0.0 22.0|R CH& 1980 —
0.0 1.0/ 0.0 HifdiAT
TESERER (/) SRR AR X TR FE R 14.0] 0.0 1.0] 0.0 28.0|P CH& 1985 —
0.0 1.0/ 0.0 B ffiAT
T ESAEILERS () SRR X TR FE R 15.0] 0.0 1.1] 0.0 31.5|P CH5 1978 —
0.0 1.1 0.0 B AfiAMT
hFRGRERS () SRR X MRS 30.0/ 0.0] 1.0[ 0.0 60.0|P CH5 1961 —
0.0 1.0/ 0.0 B AT
HFABMERE (2) SRR E TR TR 30.3| 0.0 1.0[ 0.0 60. 0| P C & 1986 —
0.0 1.0/ 0.0 EffiAT
FAHERER ) | SRS 11.0] 0.0l 0.4 0.0 9.0|P CH& 1985 —
A SRR AT XTI )i 0.0 0.4 0.0 E AT
FABIEMER () | SREMASLEIT R Y 10.6/ 0.0/ 1.0| 0.0 20.4|R C & 1985 —
AR AR TR T )i 0.0 1.0/ 0.0 B AdiAT
InEEHNERS OR) SR ILAR RGN KR )i 11.0| 0.0l o0.4] 0.0 9.4|P CH& 1985 —
0.0 0.4 0.0 AT
A ERER (£) AR LR RIGERT R RSOl 6.6/ 0.0/ 1.0 0.0 13.3|R CH& 1985 —
0.0 1.0 0.0 AT
OB ahER () ZARILRR FIERT RS T 15.6] 0.0/ 1.0 0.0 31.2|P CH& 1977 —
0.0 1.0/ 0.0 AT
brmfEaLERE ) SARFLAR EIERT KT )i 18.0] 0.0/ 1.0] 0.0 36.0|P CH& 1985 —
0.0 1.0 0.0 AT
HEEIR 1 SAGHLER (72| MR 5 B o BN R L B o 8 5.1l 0.0 1.2 0.0 9.2|R CHE 1986 —
0.0 1.2] 0.0 B AMAT
AREAGHLER (F) MREFER & B o AT R 9.5 0.0 1.3 0.0 24.7|P C#% 1986 —
0.0 1.3/ 0.0 EAHfiAT
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AREAGHLER (72) T 75 B 4 ERLWT K7 10.9 0.0l 1.7 0.0 P CH& 2006 —
0.0 1.7] 0.0 36. 6 [ HifditT

TH 2 SENNER () |EREr S B BAT RS 7.5 0.0 0.8 0.0 10.9|P C#& 1987 —
0.0 0.8/ 0.0 B fdiAT

HH 2 SIEMRER () |FhEal 8 » BET KT & 9.0/ 0.0 1.2 0.0 21.5|P CH& 1987 —
0.0 1.2 0.0 B fdiAT

THH 3 SEMNER (f) |FREEr S B BT RS 6.5/ 0.0 0.6/ 0.0 10.3| P C#& 1987 —
0.0 0.6/ 0.0 B AT

HH 3 SEMEER (fo) |FhEral B » BAT KT & 7.5 0.0l 1.1] 0.0 15.8| P C1& 1987 —
0.0 1.1/ 0.0 B AfiAMT

L FGIER (72) T B 25 B 4 ERLMT KT 5.1l 0.0 1.0/ 0.0 10.2|P CH& 1987 —
0.0 1.0l 0.0 EA AT

L FGGER () T T 5 B 4 ERLIT KT 9.2 0.0l 1.0l 0.0 18.4|P CH% 1988 —
0.0 1.0l 0.0 EHfiAT

L2 FEER () MREFER 5 B 4 AT K7 2.6 0.0 1.0l 0.0 4.9|P CH& 1960 —
0.0l 1.0 0.0 AT

4 FGIER (/2) MEFER B 4 AT K7 5.9/ 0.0l 1.3 0.0 15.2|P CH& 1960 —
0.0 1.3] 0.0 AT

A BANER (£) PREFAR 5 27 o LT R 2.6 0.0/ 1.3 0.0 6.8|P CH& 1951 —
0.0 1.3] 0.0 AT

WA REAGER (F) FEFER 5 B 2 HLAT R 1.8 0.0l 1.0l 0.0 3.6|P CHE 1960 —
0.0 1.0 0.0 AT

2 BRNER (£) PREFAR &5 27 4 BT K5 5.6/ 0.0 1.0l 0.0 11.2|P CHs 1960 —
0.0 1.0 0.0 AT

L RENRER (75) R AT 5 B FRLIT R 8.9 0.0 1.1 0.0 19.5|P CH& 1960 —
0.0 1.1 0.0 AT

A AGILER (F) PR T 5 B 4 FLT R S 10.1f 0.0 1.0 0.0 19.6|P C18 1960 —
0.0 1.0 0.0 AT

L AGILER () FEFER 5 5 2 BT KT T 3.1l 0.0 0.9/ 0.0 5.3|RCH& 1960 —
0.0 0.9] 0.0 HAAMAT
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FREBEAGER () |FhEERE R s BATRKTH T 6.5/ 0.0/ 1.1 0.0 15. 1| PR A 1971 —
0.0 1.1 0.0 B AAT
FREEBMEMIER () |PRERECE B AT RS H T 8.0/ 0.0 0.6/ 0.0 12.3| P C#& 1971 —
0.0 0.6/ 0.0 B fdiAT
A REER () PR 55 2 HLRT K H T 4.2 0.0 0.5/ 0.0 4.2|R CH 1972 —
0.0 0.5 0.0 HifdiAT
BORKEMHRER () PREFAR &5 B 2 BT K H 5 — AR 9.0 0.0 1.0 0.0 18.0| P C#& 1987 —
0.0 1.0/ 0.0 B ffiAT
EABHNERS (£) PREFAR &5 B 2 LT K H 5 — AR 6.7 0.0 1.0 0.0 13.4|P C#& 1981 —
0.0 1.0/ 0.0 B AT
BtshEss ) PR B o LT K H P AR EAK 9.1 0.0 1.0 0.0 18.2|P CH& 1987 —
ey T A BT R O 4 B — AR 0.0 1.0] 0.0 HfiAT
BAEHhERE () PHEFAR 5 B o AT K H P — AR EA 6.7 0.0 1.0/ 0.0 13.3|P CH% 1982 —
PRES TR T R HHE & B — AR 0.0 1.0l 0.0 EffiAT
HAENER () R THA T T K 7 F 18 2 B — A AR 10.8[ 0.0l 1.0[ 0.0 21.6|P CH& 1987 —
0.0 1.0] 0.0 E AT
HAENER (/) R THA T T K 72 B 2 BT — AR 8.2 0.0 1.0/ 0.0 16. 4| P C1& 1982 —
0.0 1.0/ 0.0 AT
FIGMERE (F) oy T AR TR SE 4 B AR 9.7 o0.0] 1.0l 0.0 19.4|P CH& 1981 —
0.0 1.0/ 0.0 AT
FIBRER (£) oy T AR TR 5 HE 4 L AR 10.8] o0.0] 1.0l 0.0 21.6|P C1B 1982 —
0.0 1.0/ 0.0 AT
FABMERE () AR THAF ST K T2 1 2 BTl — AR 12.8] 0.0 1.0 0.0 25.6| P C1& 1989 —
0.0 1.0 0.0 AT
KiEHLER (£) PR TR T R HH I8 4 B — AR 10.0f 0.0/ 0.7/ 0.0 13.0| P CH& 1989 —
0.0 0.7] 0.0 AT
FEILER (F) R T AR T R P 2 BT R E A R 10.5 0.0 1.0 0.0 21.0|P CHg 1989 —
0.0 1.0 0.0 B AAT
FERLER (5) PR THARETIT R I8 & BB = A 8.0l 0.0/ 0.7 0.0 12.8| P CH& 1987 —
0.0 0.7] 0.0 B AAT
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A FGANER (£) FRES TTAREF AT R HHIE 7 BB = AR 5.0/ 0.0 0.8 0.0 8. 1|P CH& 1987 —
0.0 0.8/ 0.0 B AAT

A FGANER (£5) e T AR BT DR FH O 2 BT BR AR 5.0 0.0/ 0.6/ 0.0 8.0|P CH 1987 —
0.0 0.6/ 0.0 B fdiAT

B BAGMLERE (f2) e T AR BT DR O 2 BT R = AR 10.0] 0.0 0.7 0.0 15.7|P CH 1987 —
0.0 0.7 0.0 HifdiAT

B BABMIER () [T E T R HE o BB A 11.7] 0.0 1.0] 0.0 23.5|P CH& 1989 —
0.0 1.0/ 0.0 B ffiAT

A GANER (£) PRES THARER AT RS I8 7 BSER = AR 5.0 0.0/ 0.7 0.0 6.7|P CH& 1987 —
0.0 0.7 0.0 B AfiAMT

A GANER (/) PR THARER T R I8 2 BN = AR 7.0l 0.0 0.7 0.0 15.5| P CH& 1987 —
0.0l 0.7 0.0 H AT

WHRABHNER () PR TR AT R o G & LR = AR 19.7( 0.0l 1.0[ 0.0 39.3| P CH& 1989 —
0.0 1.0l 0.0 EffiAT

WHMEMER (/) | TRE TR T HE - BT = A 16.7 0.0 1.5/ 0.0 AT.0|P CH& 2011 —
0.0 1.5 0.0 E AT

4 FGIER (/2) Fofr sy T AR T K G 2 BRSO 4.4 0.0l 1.4/ 0.0 11.9|R CH5 1989 —
0.0 1.4 0.0 AT

hIEREIER (F) Fofry T AR TR 5 FESE 2 BLBR = AR 9.7l o0.0] 1.0l 0.0 19.4|P CH& 1991 —
0.0 1.0/ 0.0 AT

IS NERE (/) Fofrty T AR TR 5 FEE 4 BLTBR = AR 9.2 0.0 1.5/ 0.0 35.1|P CHG 2009 —
0.0 1.5/ 0.0 AT

Y BRNER OF) PR THARERIT T2 B AR AR 5.5/ 0.0/ 0.8/ 0.0 7.2|R CH& 1970 —
0.0 0.8 0.0 AT

L AERIERS () P AR R R 5 B AR 8.6] 0.0/ 0.5/ 0.0 8. 6|SHVA TR 1970 —
0.0 0.5 0.0 AT

MESUELABHRERS (F) | TR KT BT AR 16.9 0.0 0.7 0.0 18.3|P C#& 1968 —
0.0 0.7] 0.0 B AMAT

MEREAGMER (72)  [FhEmTpEs T KT r B/ AARR 6.0 0.0 0.7 0.0 26.4|P CHg 1968 —
0.0 0.7] 0.0 B AMAT
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B OHEAER () (ST =T A RFEBTROR 4.6 0.0l 1.5 0.0 36.5|R C#& 2005 —
0.0 1.5/ 0.0 AT

L EER OF) MESTARETET =T B KT RO B 8.4 0.0 0.7 0.0 12. 6| TR AR 1970 —
0.0 0.7 0.0 B fdiAT

A BANER (£) PREFTHARFERAT =T B KPR H 3.1] 0.0l 1.3 0.0 7.8|RCH& 1970 —
0.0 1.3] 0.0 HifdiAT

A REIER () PR AR IT =T B KT RO H 4.0l 0.0 1.0 0.0 8.0|R C#& 1970 —
0.0 1.0/ 0.0 B ffiAT

VRS LERS () e TR =T B R RO H 12.6] 0.0/ 0.8 0.0 18. O|BHYA G 1970 —
0.0 0.8/ 0.0 B AT

PEIERG AR (f0) FpF ARSI =T H KR RO H 19.2 0.0l 1.5/ 0.0 57.6| P CH5 2003 —
0.0 1.5 0.0 B AT

L FGIER (/2) T T A T R R D R D H 3.5/ 0.0l 0.9/ 0.0 6.3|P CH% 1982 —
0.0 0.9/ 0.0 EffiAT

I FIRGIERS (f2) ey A T Rk D BLR o> | 9.5 0.0 0.9/ 0.0 16.6|P C1% 1982 —
0.0 0.9/ 0.0 E AT

I FIREIIER (F) e T A T Rk D LR o> B 8.6 0.0 0.9/ 0.0 21.5|P CH& 1982 —
0.0 0.9/ 0.0 AT

MESFEMIERE (F) PEFTHARETIT = T H KT T RO H 80.3| 0.0/ 1.0] 0.0 160. 6 |SHVAHAG 1982 —
0.0 1.0/ 0.0 AT

MEEANER (72) T HARETIT =T B KT8 RO R 81.9 0.0 0.8/ 0.0 122. 9| SAVAHENG 1983 —
0.0 0.8 0.0 AT

KREREMLER (F) e T A TR A 22 e R 21.9] 0.0l o.6] 0.0 26.3|P C1& 1984 —
0.0 0.6] 0.0 AT

KETHEMLERE ) P AR T R A R T AR 42.4] 0.0l 1.0] 0.0 84.8|P C1% 1984 —
0.0 1.0 0.0 HAAMAT

NTEAE BV P T SRR 8.2 0.0 1.3 0.0 20. 9| SRR G 2008 —
0.0 1.3] 0.0 HAAAT

ANTEAE T Y A28 T S T 8.2 0.0l 1.3 0.0 20. 9| SRR G 2008 —
0.0 1.3] 0.0 AT
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R RV #R e T e T 19.4] o0.0] 3.3] 0.0 49. 6| SRR G 2008 —
0.0 0.0/ 0.0 B AAT
RHEGET 0 HR 8 T e R 19.4] o0.0] 0.0l 0.0 49. 5| SRR G 2008 —
0.0 3.3 0.0 B fdiAT
HERTE LR P T e T 22.1 0.0] 1.3] 0.0 56. 3| VAR 2008 —
0.0 1.3] 0.0 HifdiAT
HERHE N0 R P T e AT 21.8] 0.0] 1.3] 0.0 55. 6| SvA AT 2008 —
0.0 1.3] 0.0 B ffiAT
PG L # P T AT A 23.9] 0.0 1.3 0.0 61. O|SMEHEAG 2008 —
0.0 1.3] 0.0 B AfiAMT
FVAE T 0 R e T S T A 23.9] 0.0 1.3 0.0 60. 9|SME G 2008 —
0.0 1.3] 0.0 B AT
VR B R AANNERE () (KRB ERLALET KT E 0 7 AR 81.5| 0.0 1.5 0.0  240.0(8HAEAE 2004 —
0.0l 1.5 0.0 HLAGEAT
B FEAGER () (MFEERTAENT KT B/ A 10.9] 0.0/ 0.9/ 0.0 21.0|P C#& 1982 —
0.0 0.9/ 0.0 E AT
HEBAERE ) FrEERTALET K5 /N B U AR 9.1 0.0 1.0/ 0.0 18.0|P C#% 1982 —
0.0 1.0/ 0.0 AT
i BAELER OF) =T HPNUIEIPNESYN ) 8.4/ 0.0 1.0/ 0.0 16.7|P CH& 1983 —
0.0 1.0/ 0.0 AT
o G ERER (45) = PN EIPNE SN 8.5 0.0/ 1.3 0.0 20.0|P CH& 1983 —
0.0 1.3] 0.0 AT
M AEHNER () =V YNI LI PN SN 6.4 0.0 0.8 0.0 10.2|P CH& 1983 —
0.0 0.8 0.0 AT
PEBNLER (D) G HIN P NE = 4.5/ 0.0] 0.8 0.0 6.5|R C1E 1983 —
0.0 0.8/ 0.0 AT
L AGILERS (72) MR BB AHTHT K 4R £ 2.71 0.0l 0.6 0.0 3.2|R CHE 1983 —
0.0 0.6] 0.0 HAAMAT
A AGILER (72) G HIPNLPNE = E 2.7l 0.0 0.7 0.0 4.2|R CHE 1983 —
0.0 0.7] 0.0 B AMAT

7/9R—




50U
BARA 0034 BliE
TR |
(X i & Fr T 4 E R m | oA R ORI | AR | T B i &
S R doiE | g | wd
(RBE R, B RS m (kB kY, FEETD) nf
L AGILER () G HIPN PN = 3.3 0.0 0.8 0.0 5.4|R C1E 1983 —
AT AL TR AE AT ARIL 0.0l 0.8 0.0 B AAT
L ENER () BRIET AT R FEA 2.1l 0.0 0.6/ 0.0 2. 4|R CH& 1983 —
0.0 0.6/ 0.0 B fdiAT
REENER (/) EBETTAL I R F BN FARK 5.4 0.0l 1.0[ 0.0 10.8| P C#& 1984 —
0.0 1.0/ 0.0 B fdiAT
BEAEMENER () |BEETALT KR FE A F IR 9.8 0.0 1.0/ 0.0 19.6|P CH% 1984 —
0.0 1.0/ 0.0 B AT
BEKAEMLER ) BIETAC T BT K A ek 17.5( 0.0 1.0 0.0 35.0| P CH#& 1991 —
0.0 1.0/ 0.0 B AT
MAPEBRER () |[EEAAE RS A 7.1 0.0l 0.7 0.0 10.0|R C1& 1990 —
0.0 0.7 0.0 B AT
WMABBRER () | RTEA 7.2 0.0l 0.8 0.0 11.6|R C1% 1990 —
0.0 0.8 0.0 EffiAT
JNRFEALER (/) EWAAITE| sl i NE N 7.6 0.0l 1.2] 0.0 18.8|R C1% 1985 —
0.0l 1.2 0.0 AT
JIEIEIGER () EWATTE| W1 I NS 2N 7.9 0.0 0.8 0.0 L1, 1| S BeAG 2015 —
0.0 0.8/ 0.0 AT
TEAEMNER (A) WA TE| a1 I NN 9.0 0.0/ 1.0[ 0.0 18.0|P C1& 1991 —
BB HET R H A 0.0 1.0/ 0.0 B AT
A RLER () TR T R T S iUk 17.7( 0.0 1.5/ 0.0 53.1| P CH& 2002 —
0.0 1.5/ 0.0 AT
XEEMNNER (/0) TR T B | )T Rk 10.0f 0.0 1.0l 0.0 200. 0| P C1& 1990 —
0.0 1.0 0.0 AT
L AGER (/2) T T B || BT K 45 B9 6.8 0.0l 1.0 0.0 13.7|P CH8 1991 —
0.0 1.0 0.0 AT
L RENRER OF) BT U BB K T4 5 3.4 0.0l 0.3 0.0 4.0|P CHE 1992 —
0.0 0.4 0.0 AT
BEAEALERS (F) BT RN BB K T4 5 5.2 0.0l 1.0 0.0 10. 4| P CH8 1992 —
0.0 1.0 0.0 B AMAT

8/9R—




— I
BARA 0034 BliE
w B
B i & Fr T 4 E R o T R ORI | AR | T B i &
S R doiE | g | wd
(RBE R, B RS m (LB Y, FE:FD) nf
L AGILER () o B T HE TR K FL T 2.4 0.0 1.3 0.0 6.2|R C1E 1992 —
0.0 1.3] 0.0 B AAT
EABUER ) i S T L FE R K R 24.0 0.0 1.5/ 0.0 72. 0| HAU S 2002 —
fi 0y T i B WY K B 0.0 1.5 0.0 B fdiAT
EABHNER () i B T S R TR K 18.4] 0.0 0.8/ 0.0 27.9|P CH& 1973 —
fi 0 7 e B WY K7 B 0.0 0.8/ 0.0 HifdiAT
A SEfENER ) feE B T A BPRT KT T 1 17.6] 0.0 0.8] 0.0 35.0| P CH% 1959 —
0.0 0.8/ 0.0 B AT
LEREMLER () feE B T BT R N A 13.0] 0.0 0.8/ 0.0 20.0| P CH& 1969 —
0.0 0.8/ 0.0 B AT
LIERIERS () fo B T E P TR T 16.7 0.0 1.9/ 0.0 50. 1| P C#5 2018 —
0.0 1.9/ 0.0 B AT
NILAEBHEER (/) S8 ihiE T ks M E 20.6| 0.0] 1.0[ 0.0 41.3|P CHE 1989 —
0.0 1.0l 0.0 EffiAT
TFEERIER () f B T f B T KSRl L 31.7] 0.0 1.1] 0.0 63.4|P CH& 1984 —
0.0l 1.1 0.0 AT
LB EERER () (ST KT T E 21.5| 0.0] 1.5] 0.0 64.5|P CH& 2009 —
0.0 1.5/ 0.0 AT

9/9R—




A

E R
A4 1 0034 BiiE
[ i (ST 2 PRI F 72 (T HERIE O 4 R L=V = E R B | A%hE (m) £721% s &
SLisEicy A7 ()
m m

SR T ARARHT JEB I IS AR SLARAZ 7 19.0 16. 2 5. 38| AN |

(HRAE)
ST R AT 3d EN SARZZ 7 10. 0 10. 4 4. 58|TEE AT

(FEAE)
ST S T JUM B SARAS 7 11.6 20.9 13. 30| & AN T

€2 TE SEL)
{78 T F R T Rl AR AVAN = 37.0 23.6 5. 78| iEEK S |k

(Fo i S 48 E)
/N = H A BT O JERE NARAZ 7 10.0 24.0 5.07|EEE A |

(= HH &%)
JLACET K B & TRl ASH NEARAZ 7 17.5 12.0 6. 32| BN

(B EBmLEE)
TLALHT 516 55 Tl A6 SEARAZ 7 15.0 9.0 9. 20|3E F& A

P LR AR (P9 57 = 28 4%)

T T G 5 BT R K e R AR SLARAZ 7 9.8 15.1 5. 80[3H 2N I

(R = 28 4E)
PEWA AN WA NS STz WA JUM BT AR SLARAZ 7 11.3 59. 6 6. 14|TEEEN T

(1T VEILIALERS)
BT T R U TUM B i SLARAZ 7 11.5 13.6 5. 70| BN T

(2 TVE ILIALER)
T B BT s TUM B i SLARZZ 7 11.5 41.2 18. 42[iEHE A T

G2 SEL)
S B T 4 R R R K L JUM B SARAS 11.5 20. 7 9. 08| &N T

(FE3RRALERG)
S B T o BRI KT R A JUM BT fR NEARAE 7 14.5 16.8 6. 34|1HEE A T

(524 SF2RIE )




N AN
O JL =1 lljtn = TI]E
ESE [X] 1t %t R
B B
T K OFEFE — R ELE R E X | B4 0034 i E e R E JUPN 5 A JRy
I oETE GRE)FEH A HEFN344F4 H 1 H FEE GRIE) DY &I EHIEFELS L1 &
FE R T KA AR 1 0 2 3 O B A | Rk
B
R e BT R KRR T JBE8 7 0 & 1
AR OIER (m) 1, 080 it H BB o XBEEO®REHH
MR STy | EE E 1, 080 Pt B e T AL 7T e I — Ak B A 10233 1 P R T T K R 17 K BT 9533 1
XAOIESR (m) | g7 5 O [ AR B i AL T KA T/ FESTO 1 VAR 47T e el 5 13658
AN TV WK OIERE 0 k3052 A 2H (Ul 5306 /5~ 8 125) SERE29ELLH2TH (UM 7 5841 o 5 < 5182 81)
S 1 s (m) N % & T iR it i
o 1,041 8% | £ (m) | %A &% SER (m) % M % iin o
D E 0 0| K /AFE 2 39 A #H  EE (m) M £k GEFTHEE ()
I | e K B 0 0 0 0 0 0
E E BETE 0 0
D D &t 2 39
N i olE B 9.0A—FALLE | 5.5A— kPl E 4.0 A — R Ll E 4.0 A — LA
1) oD FH AR (m) 9.0A— F/LAT (m) | 5.5 A — F/LARTH (m) (m)
ik Al S i 0 1, 080 0 0
At 0 1,080 0 0
HEEA B AREXEOERE  (m) 0 27D F &%
Mo [E A M h A R A At prit i | LR BE 0
i (nf WA/ # (nd) (nt) (nt) oo o E B0
0) 4
ﬁ*f 7 7R
3 17, 384 0 0 17,384 VA 0
B/ NELENE B &5 Pr B/ R AR (m) & Pr AT ABE (%) &5 Pr
7.0 53.6 12 930. 0 54. 4 89 2.7 53.3 70
X ] It £ (m) O o & A B U A ]
GE
B romR o Fovox oL 18 DA
iH 9. 04— 5. 5=hLL I 4. 0A=pwEL b 4. 0p=h
Lk 9. 0f— VAT 5. b A= MV AR Aot
B o om 1 s T wom % o & BB AE O B
HE g (m) | BFEEE
%




. |

4

fmf
5

&M & Hfeda o EE e oo TAEY OB

HIE £ Ofth =2 5 A IE OB

Z OMFFRL T N & FH

i (UG FHRA




I

i

=

paul
=
i

R
AR 0 0034 BriE
e B HE R
S (BB B0, TBE: T YA m m & T D FE A fisi
HOGE | A GE | oBER | B OF | B OB | hrxa & T M R
Ve R e T 5.75 0. 00 0. 00 0.75 41.0 41.0|7 A7 7 )b bk
53.3 70 53. 11 3.50 2. 88 0. 00 0.75
Ve R e 3.50 0. 00 0. 00 0.75 200. 0 200. 0|7 A 7 7 )b b itk
53. 4 11 53. 12 3.50 2. 88 0. 00 0.75
Ve W e T 3.50 0. 00 0. 00 0.75 84.0 84.0|7 A7 7 )L bk
53.6 12 53. 3 3.50 2. 88 0. 00 0.75
Ve W e T 3.50 0. 00 0. 00 0.75 14.5 14. 5|7 A7 7 )b NEEEE [1R)146
53.7 3 53. 18 3.50 2. 88 0. 00 0.75
Ve W e 3.50 0. 00 0. 00 0.75 101.0 101. 0| 7 A 7 7 /b &k
53.7 18 53. 12 3.50 2. 88 0. 00 0.75
Ve W e 5.75 0. 00 0. 00 0.75 200. 0 200. 0|7 A 7 7 )L &tk
53.8 12 54. 14 3.50 2.88 0. 00 0.75
Ve e T 5.75 0. 00 0. 00 0.75 11.0 11.0|7 A7 7 /v b &%k
54.0 14 54. 25 3.50 2. 88 0. 00 0.75
Ve W e T 3.25 2.75 0. 00 0.75 23.5 23.5|7 A7 7L MEREE | TRIG
54.0 25 54. 49 3.25 2. 88 0. 00 0.75
Ve R e T 3.50 0. 00 0. 00 0.75 165. 0 165. 0|7 A7 7 )L &tk
54.0 49 54. 15 3.50 2. 88 0. 00 0.75
Ve R e T 3. 50 0. 00 0. 00 0.75 200. 0 200. 0|7 A 7 7 )b | ik
54. 2 15 54. 14 3.50 2. 88 0. 00 0.75
Ve R e 3.50 0. 00 0. 00 0.75 40.0 40. 0|7 A7 7 )b btk
54. 4 14 54. 50 3.50 2. 88 0. 00 0.75




W

Kk v o ox v §H E

B3k
BEARA 0 0034 e
1 %
[ i 4 & P 4 iR B m| omae | s [ ome| gk | B | Bk
S R T N x|
(LB A0, TR A m|(EE: Y, FETFY) m o

igil:
li
¢
-




AP
HARA 0 0034 i
g B
B i % & P 4 SE R m | A R OB | /R | it 2 Bon
KRR doE | AE | BE
(B b S B D m |(EEE: Y, FE:FY) i
JIR)IAG EHETTAE T BT KR 14.5| 3.5 0.0] 0.8 164.9| P CH5 2016 |ByRffE |W@ATHIR MEL
3.5 2.9 0.8 AT
TG v e W IPN 23.5| 3.3 2.8 0.8 320. 2| P CH& 2016 [BiGfifE  [G@{THIR MEL
3.3] 2.9 0.8 AT




	第一表（表）34号現道
	●
	第一表（裏）34号現道

	●
	第二表(34号現道)

	●
	第三表(34号現道)

	●
	第四表(橋梁)34号現道

	●
	第四表(側道橋)34号現道

	●
	第五表(34号現道)

	●
	第一表（表）34号新道

	●
	第一表（裏）34号新道

	●
	第二表(34新道)

	●
	第三表(34号新道)

	●
	第四表(橋梁)34号新道

	●
	第五表(34号現道)

	●
	第五表(34号現道)




